

Amerigroup Community Care

Access Analysis Central

October 26, 2022

PCPs - Urban

October 26, 2022

Access Analysis

Adult_PCP_Urban(2 prov in 8 Miles)

Member / Provider Groups

Adult Urban Members (CENTRAL_URBAN) PCPs (CENTRAL_URBAN)

			Members With a	nd With	out Access						
	Member	P	rovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	58	PCPs	2 in 8 miles	231	0.3	58	100.0				
Houston, GA	33	PCPs	2 in 8 miles	162		33	100.0	0			
Muscogee, GA		PCPs	2 in 8 miles	160			98.6				
Troup, GA	17	PCPs	2 in 8 miles	79	0.2	17	100.0	0	0.0	1.0	
Grand Totals		PCPs	2 in 8 miles	632			99.4		0.6	1.0	
© 2022 Quest Analytics II C											

PCPs - Rural

October 26, 2022

Access Analysis

Adult_PCP - Rural (2 prov in 15 Miles)

Member / Provider Groups

Adult Rural Members
(CENTRAL_RURAL)

PCPs

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	10	PCPs	2 in 15 miles	35	0.3	10	100.0	0	0.0	1.9	2.5
Bleckley, GA		PCPs	2 in 15 miles	27	0.1	2	100.0	0	0.0	0.5	0.6
Chattahoochee, GA		PCPs	2 in 15 miles	8	0.1	1	100.0	0	0.0	0.6	0.6
Crawford, GA		PCPs	2 in 15 miles	12	0.3		100.0	0	0.0	3.1	3.1
Crisp, GA	3	PCPs	2 in 15 miles	50	0.1	3	100.0	0	0.0	1.1	1.3
Dodge, GA	1	PCPs	2 in 15 miles	35	0.0	1	100.0	0	0.0	2.7	2.7
Harris, GA	5	PCPs	2 in 15 miles	9	0.6	5	100.0	0	0.0	7.7	7.7
Heard, GA	3	PCPs	2 in 15 miles	10	0.3	3	100.0	0	0.0	0.2	0.2
Jones, GA	6	PCPs	2 in 15 miles	6	1.0	6	100.0	0	0.0	3.1	3.2
Lamar, GA	6	PCPs	2 in 15 miles	15	0.4	6	100.0	0	0.0	5.1	5.2
Laurens, GA	18	PCPs	2 in 15 miles	50	0.4	17	94.4	1	5.6	2.8	3.2
Macon, GA	3	PCPs	2 in 15 miles	25	0.1	3	100.0	0	0.0	3.1	3.1
Marion, GA	1	PCPs	2 in 15 miles	8	0.1	1	100.0	0	0.0	4.1	6.3
Meriwether, GA	3	PCPs	2 in 15 miles	24	0.1	3	100.0	0	0.0	0.4	0.7
Monroe, GA	5	PCPs	2 in 15 miles	37	0.1	5	100.0	0	0.0	3.6	4.4
Peach, GA	15	PCPs	2 in 15 miles	38	0.4	15	100.0	0	0.0	2.1	2.5
Pike, GA		PCPs	2 in 15 miles	3		3	100.0	0	0.0	6.0	7.0
Pulaski, GA	2	PCPs	2 in 15 miles	23	0.1	2	100.0	0	0.0	0.8	0.8
Taylor, GA	2	PCPs	2 in 15 miles	16	0.1	2	100.0	0	0.0	3.0	3.0
Telfair, GA		PCPs	2 in 15 miles	12	0.3		100.0	0	0.0	3.1	3.8
Treutlen, GA		PCPs	2 in 15 miles	1	2.0		100.0	0	0.0	0.7	11.1
Twiggs, GA		PCPs	2 in 15 miles	4	2.3		100.0	0	0.0	3.3	3.9
Upson, GA		PCPs	2 in 15 miles	38	0.2			0	0.0	3.2	3.5
Wilkinson, GA		PCPs	2 in 15 miles	8	0.8			0	0.0	2.7	2.7
	-					-		-			
Grand Totals	120	PCPs	2 in 15 miles	494	0.2	119	99.2	1	0.8	2.9	3.4

Pediatricians - Urban

October 26, 2022

Access Analysis
Child Pediatricians- Urban
Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatricians

Member	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance				
#	Group	Standard	#	to Providers	#	%	#	%	1	2				
	Pediatricians	2 in 8 miles	231	1.7		100.0	0		0.9					
		2 in 8 miles			393				1.0					
		2 in 8 miles												
191	Pediatricians	2 in 8 miles	79	2.4	187	97.9	4	2.1	1.8	1.9				
1,675	Pediatricians	2 in 8 miles	632	2.7	1,664	99.3	11	0.7	1.0	1.2				
	396 688 191	396 Pediatricians Pediatricians Pediatricians 1,675 Pediatricians	396 Pediatricians 2 in 8 miles Pediatricians 2 in 8 miles 191 Pediatricians 2 in 8 miles 2 in 8 miles	396 Pediatricians 2 in 8 miles 162 688 Pediatricians 2 in 8 miles 160 191 Pediatricians 2 in 8 miles 79	396 Pediatricians 2 in 8 miles 162 2.4 688 Pediatricians 2 in 8 miles 160 4.3 191 Pediatricians 2 in 8 miles 79 2.4	396 Pediatricians 2 in 8 miles 162 2.4 393 688 Pediatricians 2 in 8 miles 160 4.3 684 191 Pediatricians 2 in 8 miles 79 2.4 187	396 Pediatricians 2 in 8 miles 162 2.4 393 99.2 688 Pediatricians 2 in 8 miles 160 4.3 684 99.4 191 Pediatricians 2 in 8 miles 79 2.4 187 97.9	396 Pediatricians 2 in 8 miles 162 2.4 393 99.2 3 688 Pediatricians 2 in 8 miles 160 4.3 684 99.4 4 191 Pediatricians 2 in 8 miles 79 2.4 187 97.9 4	396 Pediatricians 2 in 8 miles 162 2.4 393 99.2 3 0.8 688 Pediatricians 2 in 8 miles 160 4.3 684 99.4 4 0.6 191 Pediatricians 2 in 8 miles 79 2.4 187 97.9 4 2.1	396 Pediatricians 2 in 8 miles 162 2.4 393 99.2 3 0.8 1.0 688 Pediatricians 2 in 8 miles 160 4.3 684 99.4 4 0.6 0.7 191 Pediatricians 2 in 8 miles 79 2.4 187 97.9 4 2.1 1.8				

Pediatricians - Rural

October 26, 2022

Access Analysis
Child Pediatricians- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatricians

County Baldwin, GA Bleckley, GA Chattahoochee, GA Crawford, GA Crisp, GA	25 29 49 71 57	Group Pediatricians Pediatricians Pediatricians Pediatricians Pediatricians	Provider Standard 2 in 15 miles	# 35 27 8	Ratio Members to Providers	# 141	% 100.0	Without Ac	%	1	2
Baldwin, GA Bleckley, GA Chattahoochee, GA Crawford, GA	141 25 29 49 71 57	Pediatricians Pediatricians Pediatricians Pediatricians	2 in 15 miles 2 in 15 miles 2 in 15 miles	35 27	to Providers 4.0						
Bleckley, GA Chattahoochee, GA Crawford, GA	25 29 49 71 57	Pediatricians Pediatricians Pediatricians	2 in 15 miles 2 in 15 miles	27		141	100.0				
Chattahoochee, GA Crawford, GA	29 49 71 57	Pediatricians Pediatricians	2 in 15 miles		0.0		100.0	0	0.0	1.2	1.8
Crawford, GA	49 71 57	Pediatricians		Q	0.9	25	100.0	0	0.0	3.3	4.5
· · ·	71 57		2 in 15 miles	•	3.6	29	100.0	0	0.0	0.9	1.1
Crisp, GA	57	Pediatricians		12	4.1	49	100.0	0	0.0	3.0	3.1
			2 in 15 miles	50	1.4	71	100.0	0	0.0	0.9	1.4
Dodge, GA	76	Pediatricians	2 in 15 miles	35	1.6	49	86.0	8	14.0	4.7	5.8
Dooly, GA	, 0	Pediatricians	2 in 15 miles	12	6.3	76	100.0	0	0.0	0.4	0.6
Harris, GA	104	Pediatricians	2 in 15 miles	9	11.6	104	100.0	0	0.0	4.6	5.0
Heard, GA	33	Pediatricians	2 in 15 miles	10	3.3	33	100.0	0	0.0	3.7	4.8
Johnson, GA	36	Pediatricians	2 in 15 miles	9	4.0	36	100.0	0	0.0	4.8	5.0
Jones, GA	168	Pediatricians	2 in 15 miles	6	28.0	168	100.0	0	0.0	4.2	4.3
Lamar, GA	102	Pediatricians	2 in 15 miles	15	6.8	102	100.0	0	0.0	2.1	2.1
Laurens, GA	194	Pediatricians	2 in 15 miles	50	3.9	188	96.9	6	3.1	3.4	3.6
Macon, GA	41	Pediatricians	2 in 15 miles	25	1.6	41	100.0	0	0.0	3.2	3.3
Marion, GA	20	Pediatricians	2 in 15 miles	7	2.9	20	100.0	0	0.0	1.5	4.5
Meriwether, GA	65	Pediatricians	2 in 15 miles	24	2.7	65	100.0	0	0.0	1.6	1.7
Monroe, GA	100	Pediatricians	2 in 15 miles	37	2.7	100	100.0	0	0.0	2.8	3.3
Peach, GA	122	Pediatricians	2 in 15 miles	38	3.2	122	100.0	0	0.0	1.9	2.1
Pike, GA	68	Pediatricians	2 in 15 miles	3	22.7	68	100.0	0	0.0	4.0	6.4
Pulaski, GA	42	Pediatricians	2 in 15 miles	23	1.8	42	100.0	0	0.0	1.8	1.9
Talbot, GA	8	Pediatricians	2 in 15 miles	6	1.3	8	100.0	0	0.0	10.2	10.3
Taylor, GA	42	Pediatricians	2 in 15 miles	16	2.6	42	100.0	0	0.0	3.8	4.1
Telfair, GA	88	Pediatricians	2 in 15 miles	12	7.3	87	98.9	1	1.1	1.4	1.8
Treutlen, GA		Pediatricians	2 in 15 miles	1	20.0	20	100.0	0	0.0	2.5	12.7
Twiggs, GA	46	Pediatricians	2 in 15 miles	4	11.5	46	100.0	0	0.0	4.7	6.0
Upson, GA		Pediatricians	2 in 15 miles	38	3.3		100.0	0	0.0	2.4	2.6
Wheeler, GA	11	Pediatricians	2 in 15 miles	5	2.2		100.0	0	0.0	7.9	8.4
Wilcox, GA	25	Pediatricians	2 in 15 miles	19	1.3		100.0	0	0.0	2.5	2.7
Wilkinson, GA		Pediatricians	2 in 15 miles	8	6.8		100.0	0	0.0	1.7	2.1
Grand Totals	1,961	Pediatricians	2 in 15 miles	544	3.6	1,946	99.2	15	0.8	2.8	3.3

Adult Allergy/Immunology -Urban

October 26, 2022

Access Analysis

Adult_Allergy/Immunology - Urban

Member / Provider Groups

Adult Urban Members
(CENTRAL_URBAN)

Adult_Allergy/Immunology
(CENTRAL_URBAN)

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA	58	Adult_Allergy/Immunol	1 in 30 miles	30	1.9	58	100.0	0	0.0	1.8	2.4	
Houston, GA		Adult_Allergy/Immunol	1 in 30 miles	11		33	100.0	0	0.0			
Muscogee, GA		Adult_Allergy/Immunol	1 in 30 miles	9			100.0		0.0			
Troup, GA	17	Adult_Allergy/Immunol	1 in 30 miles	4	4.3	17	100.0	0	0.0	3.8	4.1	
Grand Totals	180	Adult_Allergy/Immunol	1 in 30 miles	54	3.3	180	100.0	0	0.0	2.5	3.6	

Adult Allergy/Immunology- Rural

October 26, 2022

Access Analysis

Adult_Allergy/Immunology - Rural

Member / Provider Groups

Adult Rural Members
(CENTRAL_RURAL)

Adult_Allergy/Immunology
(CENTRAL_RURAL)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	10	Adult_Allergy/Immunol	1 in 45 miles	8	1.3	10	100.0	0	0.0	2.9	3.6
Bleckley, GA	2	Adult_Allergy/Immunol	1 in 45 miles	0		2	100.0	0	0.0	20.5	23.4
Chattahoochee, GA	1	Adult_Allergy/Immunol	1 in 45 miles	0		1	100.0	0	0.0	16.2	41.6
Crawford, GA	3	Adult_Allergy/Immunol	1 in 45 miles	0		3	100.0	0	0.0	17.2	24.5
Crisp, GA	3	Adult_Allergy/Immunol	1 in 45 miles	3	1.0	3	100.0	0	0.0	2.0	2.0
Dodge, GA	1	Adult_Allergy/Immunol	1 in 45 miles	1	1.0	1	100.0	0	0.0	2.7	31.6
Harris, GA	5	Adult_Allergy/Immunol	1 in 45 miles	0		5	100.0	0	0.0	24.8	26.5
Heard, GA	3	Adult_Allergy/Immunol	1 in 45 miles	0		2	66.7	1	33.3	44.4	47.4
Jones, GA	6	Adult_Allergy/Immunol	1 in 45 miles	2	3.0	6	100.0	0	0.0	4.7	8.8
Lamar, GA	6	Adult_Allergy/Immunol	1 in 45 miles	0		6	100.0	0	0.0	11.0	18.7
Laurens, GA	18	Adult_Allergy/Immunol	1 in 45 miles	9	2.0	18	100.0	0	0.0	3.1	3.5
Macon, GA	3	Adult_Allergy/Immunol	1 in 45 miles	1	3.0	3	100.0	0	0.0	5.3	27.8
Marion, GA	1	Adult_Allergy/Immunol	1 in 45 miles	1	1.0	1	100.0	0	0.0	10.4	24.3
Meriwether, GA		Adult_Allergy/Immunol	1 in 45 miles	2	1.5	3	100.0	0	0.0	8.2	11.4
Monroe, GA		Adult_Allergy/Immunol	1 in 45 miles	2	2.5	5	100.0	0	0.0	5.2	5.7
Peach, GA		Adult_Allergy/Immunol	1 in 45 miles	1	15.0	15	100.0	0	0.0	7.1	22.4
Pike, GA		Adult_Allergy/Immunol	1 in 45 miles	1	3.0		100.0	0	0.0	9.7	26.0
Pulaski, GA		Adult_Allergy/Immunol	1 in 45 miles	0		2	100.0	0	0.0	22.3	30.6
Taylor, GA	2	Adult_Allergy/Immunol	1 in 45 miles	0		2	100.0	0	0.0	22.8	26.3
Telfair, GA		Adult_Allergy/Immunol	1 in 45 miles	0		4	100.0	0	0.0	23.1	32.8
Treutlen, GA		Adult_Allergy/Immunol	1 in 45 miles	0			100.0	0	0.0	24.6	26.6
Twiggs, GA		Adult_Allergy/Immunol	1 in 45 miles	2	4.5	9	100.0	0	0.0	5.2	12.0
Upson, GA		Adult_Allergy/Immunol	1 in 45 miles	0		7	100.0	0	0.0	10.9	18.6
Wilkinson, GA		Adult_Allergy/Immunol	1 in 45 miles	2	3.0	6	100.0	0	0.0	3.0	13.9
		/ taut_/org//	10 1100	_	0.0	·		Ĭ	0.0	0.0	
Grand Totals	120	Adult_Allergy/Immunol	1 in 45 miles	35	3.4	119	99.2	1	0.8	9.5	16.2
	.=-										
	L								I		

Adult Cardiology -Urban

October 26, 2022

Access Analysis

Adult_Cardiology - Urban

Member / Provider Groups

Adult Urban Members
(CENTRAL_URBAN)

Adult_Cardiology
(CENTRAL_URBAN)

Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA	58	Adult_Cardiology	1 in 30 miles	144	0.4	58	100.0	0	0.0	2.1	2.1		
Houston, GA	33	Adult_Cardiology	1 in 30 miles	51	0.6	33	100.0	0	0.0	2.3	2.7		
Muscogee, GA		Adult_Cardiology	1 in 30 miles	90			100.0		0.0				
Troup, GA	17	Adult_Cardiology	1 in 30 miles	32	0.5	17	100.0	0	0.0	3.6	3.9		
Grand Totals	180	Adult_Cardiology	1 in 30 miles	317	0.6	180	100.0	0	0.0	2.3	2.8		
© 2022 Quaet Analytics II C													

Adult Cardiology -Rural

October 26, 2022

Access Analysis

Adult_Cardiology - Rural

Member / Provider Groups

Adult Rural Members

(CENTRAL_RURAL)

Adult_Cardiology

(CENTRAL_RURAL)

Members With and Without Access Member Provider Counts Batic Members With Access Without Access Average Distance													
	Member		Provider	Counts	Ratio Members	With Acce	ess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	10	Adult_Cardiology	1 in 45 miles	22	0.5	10 1	100.0	0	0.0	2.9	3.5		
Bleckley, GA	2	Adult_Cardiology	1 in 45 miles	3	0.7	2 1	100.0	0	0.0	0.6	0.7		
Chattahoochee, GA	1	Adult_Cardiology	1 in 45 miles	0		1 1	100.0	0	0.0	16.2	16.3		
Crawford, GA	3	Adult_Cardiology	1 in 45 miles	0		3 1	100.0	0	0.0	17.1	17.2		
Crisp, GA	3	Adult_Cardiology	1 in 45 miles	14	0.2	3 1	100.0	0	0.0	1.8	1.8		
Dodge, GA	1	Adult_Cardiology	1 in 45 miles	8	0.1	1 1	100.0	0	0.0	2.7	2.7		
Harris, GA	5	Adult_Cardiology	1 in 45 miles	0		5 1	100.0	0	0.0	24.8	24.8		
Heard, GA	3	Adult_Cardiology	1 in 45 miles	0		3 1	100.0	0	0.0	31.2	44.4		
Jones, GA	6	Adult_Cardiology	1 in 45 miles	1	6.0	6 1	100.0	0	0.0	4.8	11.1		
Lamar, GA	6	Adult_Cardiology	1 in 45 miles	0		6 1	100.0	0	0.0	11.0	17.3		
Laurens, GA	18	Adult_Cardiology	1 in 45 miles	27	0.7	18 1	100.0	0	0.0	2.8	3.2		
Macon, GA	3	Adult_Cardiology	1 in 45 miles	7	0.4	3 1	100.0	0	0.0	3.1	3.7		
Marion, GA	1	Adult_Cardiology	1 in 45 miles	2	0.5	1 1	100.0	0	0.0	10.4	10.6		
Meriwether, GA	3	Adult_Cardiology	1 in 45 miles	4	0.8	3 1	100.0	0	0.0	3.1	9.3		
Monroe, GA	5	Adult_Cardiology	1 in 45 miles	9	0.6	5 1	100.0	0	0.0	5.2	5.4		
Peach, GA	15	Adult_Cardiology	1 in 45 miles	14	1.1	15 1	100.0	0	0.0	3.2	3.2		
Pike, GA	3	Adult_Cardiology	1 in 45 miles	1	3.0	3 1	100.0	0	0.0	9.7	17.0		
Pulaski, GA	2	Adult_Cardiology	1 in 45 miles	12	0.2	2 1	100.0	0	0.0	1.4	1.4		
Taylor, GA	2	Adult_Cardiology	1 in 45 miles	1	2.0	2 1	100.0	0	0.0	3.0	21.6		
Telfair, GA	4	Adult_Cardiology	1 in 45 miles	3	1.3	4 1	100.0	0	0.0	8.1	8.1		
Treutlen, GA	2	Adult_Cardiology	1 in 45 miles	0		2 1	100.0	0	0.0	24.6	26.6		
Twiggs, GA	9	Adult_Cardiology	1 in 45 miles	2	4.5	9 1	100.0	0	0.0	5.2	12.0		
Upson, GA	7	Adult_Cardiology	1 in 45 miles	26	0.3	7 1	100.0	0	0.0	4.2	4.6		
Wilkinson, GA	6	Adult_Cardiology	1 in 45 miles	2	3.0	6 1	100.0	0	0.0	3.0	13.9		
Grand Totals	120	Adult_Cardiology	1 in 45 miles	158	0.8	120 1	100.0	0	0.0	6.5	9.4		
@ 2022 Quest Analytics LLC													

Adult Endocrinology - Urban

October 26, 2022

Access Analysis
Adult_Endocrinology - Urban
Member / Provider Groups
Adult Urban Members
(CENTRAL_URBAN)
Adult_Endocrinology
(CENTRAL_URBAN)

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA		Adult_Endocrinology	1 in 30 miles	31	1.9		100.0		0.0	2.4		
Houston, GA		Adult_Endocrinology	1 in 30 miles	7		33	100.0	0	0.0	2.6		
Muscogee, GA		Adult_Endocrinology	1 in 30 miles	18			100.0		0.0			
Troup, GA	17	Adult_Endocrinology	1 in 30 miles	3	5.7	17	100.0	0	0.0	3.8	4.1	
Grand Totals	180	Adult_Endocrinology	1 in 30 miles	59	3.1	180	100.0	0	0.0	2.6	3.3	
			ı									

Adult Endocrinology- Rural

October 26, 2022

Access Analysis
Adult_Endocrinology - Rural
Member / Provider Groups
Adult Rural Members
(CENTRAL_RURAL)
Adult_Endocrinology
(CENTRAL_RURAL)

Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance												
	Member	P	rovider	Counts	Ratio Members	With Acce	ess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	10	Adult_Endocrinology	1 in 45 miles	4	2.5	10 1	100.0	0	0.0	3.0	4.0	
Bleckley, GA	2	Adult_Endocrinology	1 in 45 miles	0		2 1	100.0	0	0.0	20.5	23.4	
Chattahoochee, GA	1	Adult_Endocrinology	1 in 45 miles	0		1 1	100.0	0	0.0	16.2	41.6	
Crawford, GA	3	Adult_Endocrinology	1 in 45 miles	0		3 1	100.0	0	0.0	17.2	24.5	
Crisp, GA	3	Adult_Endocrinology	1 in 45 miles	1	3.0	3 1	100.0	0	0.0	2.3	32.7	
Dodge, GA	1	Adult_Endocrinology	1 in 45 miles	1	1.0	1 1	100.0	0	0.0	2.7	31.6	
Harris, GA	5	Adult_Endocrinology	1 in 45 miles	0		5 1	100.0	0	0.0	24.8	26.5	
Heard, GA	3	Adult_Endocrinology	1 in 45 miles	0		2	66.7	1	33.3	44.4	47.4	
Jones, GA	6	Adult_Endocrinology	1 in 45 miles	1	6.0	6 1	100.0	0	0.0	4.8	11.1	
Lamar, GA	6	Adult_Endocrinology	1 in 45 miles	0		6	100.0	0	0.0	11.1	19.2	
Laurens, GA		Adult_Endocrinology	1 in 45 miles	7	2.6	18 1	100.0	0	0.0	3.1	3.5	
Macon, GA	3	Adult_Endocrinology	1 in 45 miles	1	3.0	3 1	100.0	0	0.0	5.3	27.8	
Marion, GA	1	Adult_Endocrinology	1 in 45 miles	1	1.0	1 1	100.0	0	0.0	10.4	24.3	
Meriwether, GA		Adult_Endocrinology	1 in 45 miles	2	1.5		100.0	0	0.0	8.2	11.4	
Monroe, GA		Adult_Endocrinology	1 in 45 miles	1	5.0		100.0	0	0.0	5.5	22.8	
Peach, GA		Adult_Endocrinology	1 in 45 miles	1	15.0		100.0	0	0.0	7.1	22.4	
Pike, GA		Adult_Endocrinology	1 in 45 miles	1	3.0		100.0	0	0.0	9.7	26.2	
Pulaski, GA		Adult_Endocrinology	1 in 45 miles	0			100.0	0	0.0	22.3	30.6	
Taylor, GA		Adult_Endocrinology	1 in 45 miles	0		2 1	100.0	0	0.0	22.8	26.3	
Telfair, GA		Adult_Endocrinology	1 in 45 miles	0			100.0	0	0.0	23.1	32.8	
Treutlen, GA		Adult_Endocrinology	1 in 45 miles	0			100.0	0	0.0	24.6	26.6	
Twiggs, GA		Adult_Endocrinology	1 in 45 miles	2	4.5		100.0	0	0.0	5.2	12.0	
Upson, GA		Adult_Endocrinology	1 in 45 miles	0			100.0	0	0.0	10.9		
Wilkinson, GA		Adult_Endocrinology	1 in 45 miles	2	3.0		100.0	0	0.0	3.0		
	-							_				
Grand Totals	120	Adult_Endocrinology	1 in 45 miles	25	4.8	119	99.2	1	0.8	9.5	17.8	
	.=•											

Adult ENT -Urban

October 26, 2022

Access Analysis

Adult_ENT- Urban

Member / Provider Groups
Adult Urban Members
(CENTRAL_URBAN)
Adult_ENT (CENTRAL_URBAN)

Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance													
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA		Adult_ENT	1 in 30 miles	33		58	100.0	0	0.0	2.3	2.6		
Houston, GA	33	Adult_ENT	1 in 30 miles	11		33	100.0	0					
Muscogee, GA		Adult_ENT	1 in 30 miles	26		72	100.0						
Troup, GA	17	Adult_ENT	1 in 30 miles	6	2.8	17	100.0	0	0.0	3.1	3.3		
Grand Totals	180	Adult_ENT	1 in 30 miles	76	2.4	180	100.0	0	0.0	2.4	3.1		
© 2022 Queet Analytics II C													

Adult ENT- Rural

October 26, 2022

Access Analysis Adult_ENT - Rural

Member / Provider Groups
Adult Rural Members
(CENTRAL_RURAL)
Adult_ENT (CENTRAL_RURAL)

			Members With a	nd With	out Access						
	Member	Pi	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	10	Adult_ENT	1 in 45 miles	4	2.5	10	100.0	0	0.0	3.0	4.0
Bleckley, GA	2	Adult_ENT	1 in 45 miles	0		2	100.0	0	0.0	20.5	23.4
Chattahoochee, GA	1	Adult_ENT	1 in 45 miles	0		1	100.0	0	0.0	16.2	41.6
Crawford, GA	3	Adult_ENT	1 in 45 miles	0			100.0	0	0.0	17.2	24.2
Crisp, GA	3	Adult_ENT	1 in 45 miles	2	1.5	3	100.0	0	0.0	2.0	2.3
Dodge, GA	1	Adult_ENT	1 in 45 miles	1	1.0	1	100.0	0	0.0	2.7	31.6
Harris, GA	5	Adult_ENT	1 in 45 miles	0		5	100.0	0	0.0	24.8	26.5
Heard, GA	3	Adult_ENT	1 in 45 miles	0		2	66.7	1	33.3	44.4	47.4
Jones, GA	6	Adult_ENT	1 in 45 miles	1	6.0	6	100.0	0	0.0	4.8	11.1
Lamar, GA	6	Adult_ENT	1 in 45 miles	5	1.2	6	100.0	0	0.0	7.3	7.7
Laurens, GA	18	Adult_ENT	1 in 45 miles	11	1.6	18	100.0	0	0.0	3.1	3.5
Macon, GA	3	Adult_ENT	1 in 45 miles	1	3.0	3	100.0	0	0.0	5.3	27.8
Marion, GA	1	Adult_ENT	1 in 45 miles	1	1.0	1	100.0	0	0.0	10.4	24.3
Meriwether, GA	3	Adult_ENT	1 in 45 miles	2	1.5	3	100.0	0	0.0	8.2	11.4
Monroe, GA	5	Adult_ENT	1 in 45 miles	1	5.0	5	100.0	0	0.0	5.5	17.1
Peach, GA	15	Adult_ENT	1 in 45 miles	1	15.0	15	100.0	0	0.0	7.1	22.4
Pike, GA	3	Adult_ENT	1 in 45 miles	1	3.0	3	100.0	0	0.0	9.7	16.7
Pulaski, GA	2	Adult_ENT	1 in 45 miles	0		2	100.0	0	0.0	22.3	30.6
Taylor, GA	2	Adult_ENT	1 in 45 miles	0		2	100.0	0	0.0	22.8	24.8
Telfair, GA		Adult_ENT	1 in 45 miles	0			100.0	0	0.0	23.1	32.8
Treutlen, GA		Adult_ENT	1 in 45 miles	0			100.0	0	0.0	24.6	26.6
Twiggs, GA	9	Adult_ENT	1 in 45 miles	2	4.5		100.0	0	0.0	5.2	12.0
Upson, GA		Adult_ENT	1 in 45 miles	1	7.0			0	0.0	4.7	10.9
Wilkinson, GA	6	Adult_ENT	1 in 45 miles	2	3.0	6	100.0	0	0.0	3.0	13.9
·		_									
Grand Totals	120	Adult_ENT	1 in 45 miles	36	3.3	119	99.2	1	0.8	9.0	15.6
		_									
L			1								

Adult Gastroenterology - Urban

October 26, 2022

Access Analysis

Adult_Gastreontology - Urban

Member / Provider Groups

Adult Urban Members
(CENTRAL_URBAN)

Adult_Gastroenterology
(CENTRAL_URBAN)

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Adult_Gastroenterology	1 in 30 miles	54		58	100.0	0	0.0	2.1	2.5
Houston, GA		Adult_Gastroenterology	1 in 30 miles	8	4.1	33	100.0	0	0.0	2.6	2.9
Muscogee, GA		Adult_Gastroenterology	1 in 30 miles	27			100.0		0.0	2.4	3.2
Troup, GA	17	Adult_Gastroenterology	1 in 30 miles	8	2.1	17	100.0	0	0.0	3.8	5.2
Grand Totals	180	Adult_Gastroenterology	1 in 30 miles	97	1.9	180	100.0	0	0.0	2.5	3.1

Adult Gastroenterology - Rural

October 26, 2022

Access Analysis
Adult_Gastreontology- Rural
Member / Provider Groups
Adult Rural Members
(CENTRAL_RURAL)
Adult_Gastroenterology
(CENTRAL_RURAL)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	10	Adult_Gastroenterology	1 in 45 miles	6	1.7	10	100.0	0	0.0	2.5	3.2
Bleckley, GA	2	Adult_Gastroenterology	1 in 45 miles	0		2	100.0	0	0.0	20.5	23.4
Chattahoochee, GA	1	Adult_Gastroenterology	1 in 45 miles	0		1	100.0	0	0.0	16.2	41.6
Crawford, GA	3	Adult_Gastroenterology	1 in 45 miles	0		3	100.0	0	0.0	17.2	20.7
Crisp, GA	3	Adult_Gastroenterology	1 in 45 miles	5	0.6	3	100.0	0	0.0	2.0	2.0
Dodge, GA	1	Adult_Gastroenterology	1 in 45 miles	1	1.0	1	100.0	0	0.0	2.7	31.6
Harris, GA	5	Adult_Gastroenterology	1 in 45 miles	0		5	100.0	0	0.0	24.8	26.5
Heard, GA	3	Adult_Gastroenterology	1 in 45 miles	0		2	66.7	1	33.3	44.4	47.4
Jones, GA	6	Adult_Gastroenterology	1 in 45 miles	1	6.0	6	100.0	0	0.0	4.8	11.1
Lamar, GA	6	Adult_Gastroenterology	1 in 45 miles	0		6	100.0	0	0.0	11.1	19.2
Laurens, GA		Adult_Gastroenterology	1 in 45 miles	25	0.7	18	100.0	0	0.0	3.1	3.5
Macon, GA	3	Adult_Gastroenterology	1 in 45 miles	1	3.0	3	100.0	0	0.0	5.3	27.8
Marion, GA		Adult_Gastroenterology	1 in 45 miles	1	1.0	1	100.0	0	0.0	10.4	24.3
Meriwether, GA		Adult_Gastroenterology	1 in 45 miles	2	1.5	3	100.0	0	0.0	8.2	11.4
Monroe, GA		Adult_Gastroenterology	1 in 45 miles	1	5.0	5	100.0	0	0.0	5.5	22.8
Peach, GA		Adult_Gastroenterology	1 in 45 miles	2	7.5	15	100.0	0	0.0	3.8	11.6
Pike, GA		Adult_Gastroenterology	1 in 45 miles	1	3.0		100.0	0	0.0	9.7	26.2
Pulaski, GA		Adult_Gastroenterology	1 in 45 miles	0		2	100.0	0	0.0	22.3	30.6
Taylor, GA	2	Adult_Gastroenterology	1 in 45 miles	0		2	100.0	0	0.0	22.8	26.3
Telfair, GA		Adult_Gastroenterology	1 in 45 miles	0		4	100.0	0	0.0	23.1	32.8
Treutlen, GA		Adult_Gastroenterology	1 in 45 miles	0			100.0	0	0.0	24.6	26.6
Twiggs, GA		Adult_Gastroenterology	1 in 45 miles	2	4.5	9	100.0	0	0.0	5.2	12.0
Upson, GA		Adult_Gastroenterology	1 in 45 miles	0		7	100.0	0	0.0	10.9	18.6
Wilkinson, GA		Adult_Gastroenterology	1 in 45 miles	2	3.0	6	100.0	0	0.0	3.0	13.9
		,									
Grand Totals	120	Adult_Gastroenterology	1 in 45 miles	50	2.4	119	99.2	1	0.8	9.1	15.6
	.=•			,,,							

Adult Hematology/Oncology - Urban

October 26, 2022

Access Analysis

Adult_Hemotology/Oncology- Urban

Member / Provider Groups

Adult Urban Members
(CENTRAL_URBAN)

Adult_Hematology/Oncology
(CENTRAL_URBAN)

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	58	Adult_Hematology/On	1 in 30 miles	57	1.0	58	100.0	0	0.0	1.8	2.9
Houston, GA		Adult_Hematology/On	1 in 30 miles	17		33	100.0	0	0.0	2.6	
Muscogee, GA		Adult_Hematology/On	1 in 30 miles	33			100.0			3.3	
Troup, GA	17	Adult_Hematology/On	1 in 30 miles	19	0.9	17	100.0	0	0.0	3.4	5.3
Grand Totals	180	Adult_Hematology/On	1 in 30 miles	126	1.4	180	100.0	0	0.0	2.7	3.3
© 2022 Queet Analytics II C											

Adult Hematology/Oncology - Rural

October 26, 2022

Access Analysis

Adult_Hemotology/Oncology - Rural

Member / Provider Groups

Adult Rural Members
(CENTRAL_RURAL)

Adult_Hematology/Oncology
(CENTRAL_RURAL)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	10	Adult_Hematology/On	1 in 45 miles	6	1.7	10	100.0	0	0.0	3.8	3.8
Bleckley, GA	2	Adult_Hematology/On	1 in 45 miles	1	2.0	2	100.0	0	0.0	1.3	13.6
Chattahoochee, GA	1	Adult_Hematology/On	1 in 45 miles	0		0	0.0	1	100.0	61.3	65.8
Crawford, GA	3	Adult_Hematology/On	1 in 45 miles	0		3	100.0	0	0.0	16.0	18.2
Crisp, GA	3	Adult_Hematology/On	1 in 45 miles	6	0.5	3	100.0	0	0.0	1.8	1.8
Dodge, GA	1	Adult_Hematology/On	1 in 45 miles	0		1	100.0	0	0.0	24.9	25.8
Harris, GA	5	Adult_Hematology/On	1 in 45 miles	0		0	0.0	5	100.0	63.1	68.6
Heard, GA	3	Adult_Hematology/On	1 in 45 miles	0		0	0.0	3	100.0	90.7	92.8
Jones, GA	6	Adult_Hematology/On	1 in 45 miles	0		6	100.0	0	0.0	23.0	27.6
Lamar, GA	6	Adult_Hematology/On	1 in 45 miles	0		2	33.3	4	66.7	46.8	50.0
Laurens, GA	18	Adult_Hematology/On	1 in 45 miles	14	1.3	18	100.0	0	0.0	3.0	4.2
Macon, GA	3	Adult_Hematology/On	1 in 45 miles	0		3	100.0	0	0.0	32.9	35.8
Marion, GA		Adult_Hematology/On	1 in 45 miles	0		0	0.0	1	100.0	47.4	51.3
Meriwether, GA	3	Adult_Hematology/On	1 in 45 miles	0		0	0.0	3	100.0	60.6	63.1
Monroe, GA			1 in 45 miles	0		5	100.0	0	0.0	34.2	35.1
Peach, GA	15	Adult_Hematology/On	1 in 45 miles	2	7.5	15	100.0	0	0.0	5.0	11.3
Pike, GA	3	Adult_Hematology/On	1 in 45 miles	0		0	0.0	3	100.0	56.6	59.0
Pulaski, GA		Adult_Hematology/On	1 in 45 miles	10	0.2	2	100.0	0	0.0	1.5	1.5
Taylor, GA		Adult_Hematology/On	1 in 45 miles	0		2	100.0	0	0.0	26.4	33.3
Telfair, GA		Adult_Hematology/On	1 in 45 miles	0		4	100.0	0	0.0	32.8	35.2
Treutlen, GA		Adult_Hematology/On	1 in 45 miles	0		2	100.0	0	0.0	24.6	26.9
Twiggs, GA		Adult_Hematology/On	1 in 45 miles	0		9	100.0	0	0.0	21.5	29.1
Upson, GA		Adult_Hematology/On	1 in 45 miles	0		5	71.4	2	28.6	44.7	46.0
Wilkinson, GA		Adult_Hematology/On	1 in 45 miles	0		6	100.0	0	0.0	18.3	18.3
,		_ 0,									
Grand Totals	120	Adult_Hematology/On	1 in 45 miles	39	3.1	98	81.7	22	18.3	23.6	26.7
		_									
								L	Ь		

Adult Nephrology -Urban

October 26, 2022

Access Analysis

Adult_Nephrology - Urban

Member / Provider Groups

Adult Urban Members
(CENTRAL_URBAN)

Adult_Nephrology
(CENTRAL_URBAN)

			Members With	and With	out Access						
	Member	F	Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Adult_Nephrology	1 in 30 miles	104	0.6	58	100.0	0	0.0	1.7	2.2
Houston, GA		Adult_Nephrology	1 in 30 miles	43	0.8	33	100.0	0	0.0	2.5	
Muscogee, GA		Adult_Nephrology	1 in 30 miles	47		72	100.0		0.0	2.1	
Troup, GA	17	Adult_Nephrology	1 in 30 miles	11	1.5	17	100.0	0	0.0	1.5	3.5
Grand Totals	180	Adult_Nephrology	1 in 30 miles	205	0.9	180	100.0	0	0.0	2.0	2.5
© 2022 Quaet Analytics II C											

Adult Nephrology - Rural

October 26, 2022

Access Analysis

Adult_Nephrology - Rural

Member / Provider Groups

Adult Rural Members
(CENTRAL_RURAL)

Adult_Nephrology
(CENTRAL_RURAL)

	Members With and Without Access Member Provider Counts Retic Members With Access Without Access Average Distance											
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	10	Adult_Nephrology	1 in 45 miles	19			100.0	0	0.0	2.7	3.2	
Bleckley, GA	2	Adult_Nephrology	1 in 45 miles	1	2.0	2	100.0	0	0.0	0.6	12.9	
Chattahoochee, GA	1	Adult_Nephrology	1 in 45 miles	0		1	100.0	0	0.0	14.8	15.1	
Crawford, GA	3	Adult_Nephrology	1 in 45 miles	1	3.0	3	100.0	0	0.0	5.1	17.1	
Crisp, GA	3	Adult_Nephrology	1 in 45 miles	10	0.3	3	100.0	0	0.0	1.7	1.8	
Dodge, GA	1	Adult_Nephrology	1 in 45 miles	4	0.3	1	100.0	0	0.0	2.7	2.7	
Harris, GA	5	Adult_Nephrology	1 in 45 miles	0		5	100.0	0	0.0	24.7	24.7	
Heard, GA	3	Adult_Nephrology	1 in 45 miles	0		2	66.7	1	33.3	44.2	44.2	
Jones, GA	6	Adult_Nephrology	1 in 45 miles	12	0.5	6	100.0	0	0.0	4.7	8.6	
Lamar, GA	6	Adult_Nephrology	1 in 45 miles	0		6	100.0	0	0.0	11.0	17.5	
Laurens, GA	18	Adult_Nephrology	1 in 45 miles	26	0.7	18	100.0	0	0.0	2.8	3.2	
Macon, GA	3	Adult_Nephrology	1 in 45 miles	4	0.8	3	100.0	0	0.0	5.2	5.2	
Marion, GA		Adult_Nephrology	1 in 45 miles	9	0.1	1	100.0	0	0.0	6.2	6.2	
Meriwether, GA	3	Adult_Nephrology	1 in 45 miles	10	0.3	3	100.0	0	0.0	8.1	9.2	
Monroe, GA	5	Adult_Nephrology	1 in 45 miles	11	0.5	5	100.0	0	0.0	5.2	5.3	
Peach, GA	15	Adult_Nephrology	1 in 45 miles	26	0.6	15	100.0	0	0.0	3.7	3.7	
Pike, GA	3	Adult_Nephrology	1 in 45 miles	1	3.0	3	100.0	0	0.0	9.7	18.0	
Pulaski, GA	2	Adult_Nephrology	1 in 45 miles	7	0.3	2	100.0	0	0.0	1.5	1.5	
Taylor, GA	2	Adult_Nephrology	1 in 45 miles	0		2	100.0	0	0.0	22.8	23.4	
Telfair, GA	4	Adult_Nephrology	1 in 45 miles	0		4	100.0	0	0.0	23.1	23.1	
Treutlen, GA		Adult_Nephrology	1 in 45 miles	0		2	100.0	0	0.0	24.6	26.6	
Twiggs, GA		Adult_Nephrology	1 in 45 miles	2	4.5		100.0	0	0.0	5.2	12.0	
Upson, GA		Adult_Nephrology	1 in 45 miles	2		7	100.0	0	0.0	4.6	4.8	
Wilkinson, GA		Adult_Nephrology	1 in 45 miles	2	3.0	6	100.0	0	0.0	3.0	13.9	
Grand Totals	120	Adult_Nephrology	1 in 45 miles	147	0.8	119	99.2	1	0.8	7.6	10.1	
		_ 1 07										

Adult Dermatology - Urban

October 26, 2022

Access Analysis

Adult_Dermatology - Urban

Member / Provider Groups

Adult Urban Members
(CENTRAL_URBAN)

Adult_Dermatology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Adult_Dermatology	1 in 30 miles	5	11.6		100.0		0.0	5.4	5.4
Houston, GA		Adult_Dermatology	1 in 30 miles	8	4.1	33	100.0	0	0.0	3.7	4.8
Muscogee, GA	72	Adult_Dermatology	1 in 30 miles	3	24.0	72	100.0	0		3.9	5.8
Troup, GA	17	Adult_Dermatology	1 in 30 miles	3	5.7	17	100.0	0	0.0	4.7	4.7
Grand Totals	180	Adult_Dermatology	1 in 30 miles	19	9.5	180	100.0	0	0.0	4.4	5.4

Adult Dermatology - Rural

October 26, 2022

Access Analysis

Adult_Dermatology - Rural

Member / Provider Groups

Adult Rural Members

(CENTRAL_RURAL)

Adult_Dermatology

			Members With a	nd With	out Access						
	Member	Pi	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	10	Adult_Dermatology	1 in 45 miles	4	2.5	10	100.0	0	0.0	3.9	3.9
Bleckley, GA	2	Adult_Dermatology	1 in 45 miles	0		2	100.0	0	0.0	29.5	29.5
Chattahoochee, GA	1	Adult_Dermatology	1 in 45 miles	0		1	100.0	0	0.0	23.4	26.3
Crawford, GA	3	Adult_Dermatology	1 in 45 miles	0		3	100.0	0	0.0	23.2	23.8
Crisp, GA	3	Adult_Dermatology	1 in 45 miles	5	0.6	3	100.0	0	0.0	2.1	2.1
Dodge, GA	1	Adult_Dermatology	1 in 45 miles	0		1	100.0	0	0.0	32.5	32.5
Harris, GA	5	Adult_Dermatology	1 in 45 miles	0		5	100.0	0	0.0	13.8	15.1
Heard, GA	3	Adult_Dermatology	1 in 45 miles	0		3	100.0	0	0.0	19.5	19.5
Jones, GA	6	Adult_Dermatology	1 in 45 miles	0		6	100.0	0	0.0	7.7	7.7
Lamar, GA	6	Adult_Dermatology	1 in 45 miles	0		6	100.0	0	0.0	10.2	10.2
Laurens, GA	18	Adult_Dermatology	1 in 45 miles	8	2.3	18	100.0	0	0.0	3.8	4.7
Macon, GA	3	Adult_Dermatology	1 in 45 miles	0		3	100.0	0	0.0	20.4	20.4
Marion, GA	1	Adult_Dermatology	1 in 45 miles	0		1	100.0	0	0.0	26.4	26.4
Meriwether, GA	3	Adult_Dermatology	1 in 45 miles	1	3.0	3	100.0	0	0.0	9.3	18.9
Monroe, GA	5	Adult_Dermatology	1 in 45 miles	5	1.0	5	100.0	0	0.0	5.9	5.9
Peach, GA	15	Adult_Dermatology	1 in 45 miles	0		15	100.0	0	0.0	11.8	14.5
Pike, GA	3	Adult_Dermatology	1 in 45 miles	0		3	100.0	0	0.0	12.4	12.4
Pulaski, GA	2	Adult_Dermatology	1 in 45 miles	0		2	100.0	0	0.0	28.7	28.7
Taylor, GA	2	Adult_Dermatology	1 in 45 miles	0		2	100.0	0	0.0	27.2	27.2
Telfair, GA		Adult_Dermatology	1 in 45 miles	0		4	100.0	0	0.0	34.2	34.2
Treutlen, GA		Adult_Dermatology	1 in 45 miles	0		2	100.0	0	0.0	20.9	27.6
Twiggs, GA	9	Adult_Dermatology	1 in 45 miles	0		9	100.0	0	0.0	5.9	5.9
Upson, GA	7	Adult_Dermatology	1 in 45 miles	4	1.8	7	100.0	0	0.0	4.7	4.7
Wilkinson, GA		Adult_Dermatology	1 in 45 miles	0		6	100.0	0	0.0	18.4	18.4
Grand Totals	120	Adult_Dermatology	1 in 45 miles	27	4.4	120	100.0	0	0.0	11.5	12.4

Adult Rheumatology- Urban

October 26, 2022

Access Analysis
Adult_Rheumatology- Urban
Member / Provider Groups
Adult Urban Members
(CENTRAL_URBAN)
Adult_Rheumatology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Adult_Rheumatology	1 in 30 miles	1	58.0	58	100.0	0		4.7	16.0
Houston, GA	33	Adult_Rheumatology	1 in 30 miles	3	11.0	33	100.0	0			
Muscogee, GA		Adult_Rheumatology	1 in 30 miles	5	14.4	72	100.0	0		3.1	4.9
Troup, GA	17	Adult_Rheumatology	1 in 30 miles	1	17.0	17	100.0	0	0.0	5.3	32.6
Grand Totals	180	Adult_Rheumatology	1 in 30 miles	10	18.0	180	100.0	0	0.0	3.9	11.2

Adult Rheumatology - Rural

October 26, 2022

Access Analysis

Adult_Rheumatology - Rural

Member / Provider Groups

Adult Rural Members
(CENTRAL_RURAL)

Adult_Rheumatology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	10	Adult_Rheumatology	1 in 45 miles	0		10	100.0	0	0.0	25.4	37.3
Bleckley, GA	2	Adult_Rheumatology	1 in 45 miles	0		2	100.0	0	0.0	29.6	31.6
Chattahoochee, GA	1	Adult_Rheumatology	1 in 45 miles	0		1	100.0	0	0.0	20.6	23.4
Crawford, GA		Adult_Rheumatology	1 in 45 miles	0		3	100.0	0	0.0	23.2	24.4
Crisp, GA	3	Adult_Rheumatology	1 in 45 miles	0		3	100.0	0	0.0	42.4	42.5
Dodge, GA		Adult_Rheumatology	1 in 45 miles	0		0	0.0	1	100.0	52.1	52.1
Harris, GA	5	Adult_Rheumatology	1 in 45 miles	0		5	100.0	0	0.0	15.5	21.0
Heard, GA	3	Adult_Rheumatology	1 in 45 miles	0		3	100.0	0	0.0	17.3	21.2
Jones, GA	6	Adult_Rheumatology	1 in 45 miles	0		6	100.0	0	0.0	8.9	20.0
Lamar, GA	6	Adult_Rheumatology	1 in 45 miles	0		6	100.0	0	0.0	28.9	29.0
Laurens, GA		Adult_Rheumatology	1 in 45 miles	0		12	66.7	6	33.3	44.9	46.1
Macon, GA	3	Adult_Rheumatology	1 in 45 miles	0		3	100.0	0	0.0	41.8	44.5
Marion, GA	1	Adult_Rheumatology	1 in 45 miles	0		1	100.0	0	0.0	36.1	38.3
Meriwether, GA	3	Adult_Rheumatology	1 in 45 miles	0		3	100.0	0	0.0	24.7	29.5
Monroe, GA	5	Adult_Rheumatology	1 in 45 miles	0		5	100.0	0	0.0	26.1	35.5
Peach, GA	15	Adult_Rheumatology	1 in 45 miles	0		15	100.0	0	0.0	11.0	13.8
Pike, GA	3	Adult_Rheumatology	1 in 45 miles	0		3	100.0	0	0.0	25.8	27.8
Pulaski, GA	2	Adult_Rheumatology	1 in 45 miles	0		2	100.0	0	0.0	28.8	30.7
Taylor, GA	2	Adult_Rheumatology	1 in 45 miles	0		2	100.0	0	0.0	34.9	38.6
Telfair, GA	4	Adult_Rheumatology	1 in 45 miles	0		4	100.0	0	0.0	37.8	44.5
Treutlen, GA	2	Adult_Rheumatology	1 in 45 miles	0		0	0.0	2	100.0	47.7	48.3
Twiggs, GA		Adult_Rheumatology	1 in 45 miles	0		9	100.0	0	0.0	9.2	15.9
Upson, GA	7	Adult_Rheumatology	1 in 45 miles	0		7	100.0	0	0.0	37.8	39.1
Wilkinson, GA		Adult_Rheumatology	1 in 45 miles	0		6	100.0	0	0.0		34.9
,		_									
Grand Totals	120	Adult_Rheumatology	1 in 45 miles	0		111	92.5	9	7.5	27.0	31.5
		_									
		!	<u>!</u>								

Adult Infectious Disease- Urban

October 26, 2022

Access Analysis
Adult_Infectious Disease_Urban
Member / Provider Groups
Adult Urban Members
(CENTRAL_URBAN)
Adult_Infectious Disease
(CENTRAL_URBAN)

			Members With	and With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Adult_Infectious Disease		55			100.0	0	0.0	1.9	
Houston, GA		Adult_Infectious Disease		7		33	100.0	0	0.0	2.6	3.4
Muscogee, GA		Adult_Infectious Disease		10			100.0		0.0		3.5
Troup, GA	17	Adult_Infectious Disease	1 in 30 miles	6	2.8	17	100.0	0	0.0	3.8	5.3
Grand Totals	180	Adult_Infectious Disease	1 in 30 miles	78	2.3	180	100.0	0	0.0	2.4	3.2

Adult Infectious Disease -Rural

October 26, 2022

Access Analysis

Adult_Infectious Disease_Rural

Member / Provider Groups

Adult Rural Members
(CENTRAL_RURAL)

Adult_Infectious Disease
(CENTRAL_RURAL)

	Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	10	Adult_Infectious Disease	1 in 45 miles	5	2.0	10	100.0	0	0.0	2.9	3.7	
Bleckley, GA	2	Adult_Infectious Disease	1 in 45 miles	0		2	100.0	0	0.0	20.5	23.4	
Chattahoochee, GA	1	Adult_Infectious Disease	1 in 45 miles	0		1	100.0	0	0.0	16.2	41.6	
Crawford, GA	3	Adult_Infectious Disease	1 in 45 miles	0		3	100.0	0	0.0	17.2	20.7	
Crisp, GA	3	Adult_Infectious Disease	1 in 45 miles	2	1.5	3	100.0	0	0.0	1.5	2.4	
Dodge, GA	1	Adult_Infectious Disease	1 in 45 miles	1	1.0	1	100.0	0	0.0	2.7	31.6	
Harris, GA	5	Adult_Infectious Disease	1 in 45 miles	0		5	100.0	0	0.0	24.8	24.8	
Heard, GA	3	Adult_Infectious Disease	1 in 45 miles	0		2	66.7	1	33.3	44.4	44.4	
Jones, GA	6	Adult_Infectious Disease	1 in 45 miles	1	6.0	6	100.0	0	0.0	4.8	11.1	
Lamar, GA	6	Adult_Infectious Disease	1 in 45 miles	0		6	100.0	0	0.0	11.1	19.2	
Laurens, GA	18	Adult_Infectious Disease	1 in 45 miles	12	1.5	18	100.0	0	0.0	2.8	2.9	
Macon, GA	3	Adult_Infectious Disease	1 in 45 miles	1	3.0	3	100.0	0	0.0	5.3	27.8	
Marion, GA	1	Adult_Infectious Disease	1 in 45 miles	1	1.0	1	100.0	0	0.0	10.4	24.3	
Meriwether, GA	3	Adult_Infectious Disease	1 in 45 miles	3	1.0	3	100.0	0	0.0	8.2	9.3	
Monroe, GA	5	Adult_Infectious Disease	1 in 45 miles	1	5.0	5	100.0	0	0.0	5.5	22.8	
Peach, GA	15	Adult_Infectious Disease	1 in 45 miles	2	7.5	15	100.0	0	0.0	3.8	11.6	
Pike, GA	3	Adult_Infectious Disease	1 in 45 miles	1	3.0	3	100.0	0	0.0	9.7	26.2	
Pulaski, GA	2	Adult_Infectious Disease	1 in 45 miles	0		2	100.0	0	0.0	22.3	30.6	
Taylor, GA	2	Adult_Infectious Disease	1 in 45 miles	0		2	100.0	0	0.0	22.8	26.3	
Telfair, GA	4	Adult_Infectious Disease	1 in 45 miles	0		4	100.0	0	0.0	23.1	32.8	
Treutlen, GA	2	Adult_Infectious Disease	1 in 45 miles	0		2	100.0	0	0.0	24.6	24.6	
Twiggs, GA	9	Adult_Infectious Disease	1 in 45 miles	2	4.5	9	100.0	0	0.0	5.2	12.0	
Upson, GA	7	Adult_Infectious Disease	1 in 45 miles	0		7	100.0	0	0.0	10.9	18.6	
Wilkinson, GA	6	Adult_Infectious Disease	1 in 45 miles	2	3.0	6	100.0	0	0.0	3.0	13.9	
Grand Totals	120	Adult_Infectious Disease	1 in 45 miles	34	3.5	119	99.2	1	0.8	9.1	15.3	
			·									

Adult General Surgery - Urban

October 26, 2022

Access Analysis

Adult_General Surgery_Urban

Member / Provider Groups

Adult Urban Members
(CENTRAL_URBAN)

Adult_General Surgery
(CENTRAL_URBAN)

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	58	Adult_General Surgery	1 in 30 miles	122	0.5	58	100.0	0	0.0	1.8	1.9
Houston, GA		Adult_General Surgery	1 in 30 miles	58	0.6	33	100.0	0	0.0	1.8	
Muscogee, GA		Adult_General Surgery	1 in 30 miles	73			100.0				
Troup, GA	17	Adult_General Surgery	1 in 30 miles	18	0.9	17	100.0	0	0.0	3.0	3.2
Grand Totals	180	Adult_General Surgery	1 in 30 miles	271	0.7	180	100.0	0	0.0	2.1	2.6
© 2022 Quest Analytics II C											

Adult General Surgery- Rural

October 26, 2022

Access Analysis

Adult_General Surgery_Rural

Member / Provider Groups

Adult Rural Members
(CENTRAL_RURAL)

Adult_General Surgery
(CENTRAL_RURAL)

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	10	Adult_General Surgery	1 in 45 miles	19	0.5	10	100.0	0	0.0	2.6	3.2
Bleckley, GA		Adult_General Surgery	1 in 45 miles	0		2	100.0	0	0.0	13.6	20.5
Chattahoochee, GA	1	Adult_General Surgery	1 in 45 miles	0		1	100.0	0	0.0	16.2	16.3
Crawford, GA	3	Adult_General Surgery	1 in 45 miles	0		3	100.0	0	0.0	17.2	20.7
Crisp, GA	3	Adult_General Surgery	1 in 45 miles	8	0.4	3	100.0	0	0.0	1.8	1.8
Dodge, GA	1	Adult_General Surgery	1 in 45 miles	3	0.3	1	100.0	0	0.0	2.7	2.7
Harris, GA	5	Adult_General Surgery	1 in 45 miles	0		5	100.0	0	0.0	24.8	26.5
Heard, GA	3	Adult_General Surgery	1 in 45 miles	0		2	66.7	1	33.3	44.4	47.4
Jones, GA	6	Adult_General Surgery	1 in 45 miles	1	6.0	6	100.0	0	0.0	4.8	11.1
Lamar, GA	6	Adult_General Surgery	1 in 45 miles	0		6	100.0	0	0.0	11.0	17.6
Laurens, GA	18	Adult_General Surgery	1 in 45 miles	28	0.6	18	100.0	0	0.0	2.9	3.3
Macon, GA	3	Adult_General Surgery	1 in 45 miles	5	0.6	3	100.0	0	0.0	3.7	3.7
Marion, GA	1	Adult_General Surgery	1 in 45 miles	2	0.5	1	100.0	0	0.0	10.4	10.6
Meriwether, GA	3	Adult_General Surgery	1 in 45 miles	2	1.5	3	100.0	0	0.0	8.2	11.4
Monroe, GA	5	Adult_General Surgery	1 in 45 miles	3	1.7	5	100.0	0	0.0	5.2	5.5
Peach, GA	15	Adult_General Surgery	1 in 45 miles	10	1.5	15	100.0	0	0.0	3.8	8.4
Pike, GA	3	Adult_General Surgery	1 in 45 miles	1	3.0	3	100.0	0	0.0	9.7	18.1
Pulaski, GA	2	Adult_General Surgery	1 in 45 miles	1	2.0	2	100.0	0	0.0	1.4	22.2
Taylor, GA	2	Adult_General Surgery	1 in 45 miles	0		2	100.0	0	0.0	21.6	22.7
Telfair, GA	4	Adult_General Surgery	1 in 45 miles	0		4	100.0	0	0.0	20.9	23.1
Treutlen, GA	2	Adult_General Surgery	1 in 45 miles	0		2	100.0	0	0.0	16.4	24.6
Twiggs, GA	9	Adult_General Surgery	1 in 45 miles	2	4.5	9	100.0	0	0.0	5.2	12.0
Upson, GA	7	Adult_General Surgery	1 in 45 miles	2	3.5	7	100.0	0	0.0	4.7	4.7
Wilkinson, GA	6	Adult_General Surgery	1 in 45 miles	2	3.0	6	100.0	0	0.0	3.0	13.8
Grand Totals	120	Adult_General Surgery	1 in 45 miles	89	1.3	119	99.2	1	0.8	7.9	11.5
© 2022 Quest Analytics LLC											

Adult Neurology - Urban

October 26, 2022

Access Analysis
Adult_Neurology - Urban
Member / Provider Groups
Adult Urban Members
(CENTRAL_URBAN)
Adult_Neurology
(CENTRAL_URBAN)

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Adult_Neurology	1 in 30 miles	197	0.3		100.0		0.0	2.1	2.3
Houston, GA		Adult_Neurology	1 in 30 miles	7		33	100.0	0	0.0	2.2	
Muscogee, GA		Adult_Neurology	1 in 30 miles	163			100.0		0.0		
Troup, GA	17	Adult_Neurology	1 in 30 miles	56	0.3	17	100.0	0	0.0	3.7	4.7
Grand Totals	180	Adult_Neurology	1 in 30 miles	423	0.4	180	100.0	0	0.0	2.4	3.1
2022 Quest Analytics LLC		!	<u> </u>				Ь				

Adult Neurology -Rural

October 26, 2022

Access Analysis

Adult_Neurology - Rural

Member / Provider Groups

Adult Rural Members

(CENTRAL_RURAL)

Adult_Neurology

(CENTRAL_RURAL)

			Members With a	nd With	out Access						
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	10	Adult_Neurology	1 in 45 miles	7	1.4	10	100.0	0	0.0	2.9	3.6
Bleckley, GA	2	Adult_Neurology	1 in 45 miles	0		2	100.0	0	0.0	13.6	20.5
Chattahoochee, GA	1	Adult_Neurology	1 in 45 miles	0		1	100.0	0	0.0	16.2	41.6
Crawford, GA		Adult_Neurology	1 in 45 miles	0		3	100.0	0	0.0	17.2	20.7
Crisp, GA	3	Adult_Neurology	1 in 45 miles	3	1.0	3	100.0	0	0.0	1.8	2.0
Dodge, GA	1	Adult_Neurology	1 in 45 miles	1	1.0	1	100.0	0	0.0	2.7	25.8
Harris, GA	5	Adult_Neurology	1 in 45 miles	0		5	100.0	0	0.0	24.8	26.5
Heard, GA	3	Adult_Neurology	1 in 45 miles	0		2	66.7	1	33.3	44.4	47.4
Jones, GA	6	Adult_Neurology	1 in 45 miles	1	6.0	6	100.0	0	0.0	4.8	11.1
Lamar, GA	6	Adult_Neurology	1 in 45 miles	0		6	100.0	0	0.0	11.0	17.6
Laurens, GA	18	Adult_Neurology	1 in 45 miles	12	1.5	18	100.0	0	0.0	3.1	3.5
Macon, GA	3	Adult_Neurology	1 in 45 miles	1	3.0	3	100.0	0	0.0	5.3	27.8
Marion, GA	1	Adult_Neurology	1 in 45 miles	1	1.0	1	100.0	0	0.0	10.4	24.3
Meriwether, GA	3	Adult_Neurology	1 in 45 miles	2	1.5	3	100.0	0	0.0	8.2	11.4
Monroe, GA	5	Adult_Neurology	1 in 45 miles	2	2.5	5	100.0	0	0.0	5.2	5.7
Peach, GA	15	Adult_Neurology	1 in 45 miles	2	7.5	15	100.0	0	0.0	3.8	11.6
Pike, GA	3	Adult_Neurology	1 in 45 miles	1	3.0	3	100.0	0	0.0	9.7	17.9
Pulaski, GA	2	Adult_Neurology	1 in 45 miles	1	2.0	2	100.0	0	0.0	1.5	22.3
Taylor, GA	2	Adult_Neurology	1 in 45 miles	0		2	100.0	0	0.0	22.8	24.9
Telfair, GA	4	Adult_Neurology	1 in 45 miles	0		4	100.0	0	0.0	23.1	32.8
Treutlen, GA	2	Adult_Neurology	1 in 45 miles	0		2	100.0	0	0.0	24.6	26.6
Twiggs, GA	9	Adult_Neurology	1 in 45 miles	2	4.5	9	100.0	0	0.0	5.2	12.0
Upson, GA	7	Adult_Neurology	1 in 45 miles	33	0.2	7	100.0	0	0.0	4.6	4.8
Wilkinson, GA	6	Adult_Neurology	1 in 45 miles	2	3.0	6	100.0	0	0.0	3.0	13.9
Grand Totals	120	Adult_Neurology	1 in 45 miles	71	1.7	119	99.2	1	0.8	8.2	13.5

Adult Ophthalmology- Urban

October 26, 2022

Access Analysis

Adult_Ophthalmology- Urban

Member / Provider Groups

Adult Urban Members
(CENTRAL_URBAN)

Adult_Ophthalmology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Adult_Ophthalmology	1 in 30 miles	10	5.8		100.0			2.9	
Houston, GA		Adult_Ophthalmology	1 in 30 miles	1	33.0	33	100.0	0	0.0	4.4	
Muscogee, GA		Adult_Ophthalmology	1 in 30 miles	6	12.0		100.0				
Troup, GA	17	Adult_Ophthalmology	1 in 30 miles	2	8.5	17	100.0	0	0.0	4.0	4.0
One and Tabala	400	Adult Ouletteeleede	4 in 20 miles	40	0.5	400	400.0	0	0.0	2.4	0.0
Grand Totals	180	Adult_Ophthalmology	1 in 30 miles	19	9.5	180	100.0	0	0.0	3.4	6.2
© 2022 Quest Analytics, LLC.				Į							

Adult Ophthalmology - Rural

October 26, 2022

Access Analysis

Adult_Ophthalmology - Rural

Member / Provider Groups

Adult Rural Members
(CENTRAL_RURAL)

Adult_Ophthalmology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	10	Adult_Ophthalmology	1 in 45 miles	3	3.3	10	100.0	0	0.0	3.8	3.8
Bleckley, GA	2	Adult_Ophthalmology	1 in 45 miles	0		2	100.0	0	0.0	27.5	30.3
Chattahoochee, GA	1	Adult_Ophthalmology	1 in 45 miles	0		1	100.0	0	0.0	22.6	23.1
Crawford, GA	3	Adult_Ophthalmology	1 in 45 miles	0		3	100.0	0	0.0	25.5	25.5
Crisp, GA	3	Adult_Ophthalmology	1 in 45 miles	0		3	100.0	0	0.0	28.6	29.1
Dodge, GA	1	Adult_Ophthalmology	1 in 45 miles	0		1	100.0	0	0.0	32.5	45.1
Harris, GA	5	Adult_Ophthalmology	1 in 45 miles	0		5	100.0	0	0.0	15.4	15.9
Heard, GA	3	Adult_Ophthalmology	1 in 45 miles	0		3		0	0.0	17.5	17.5
Jones, GA	6	Adult_Ophthalmology	1 in 45 miles	0		6	100.0	0	0.0	5.4	7.7
Lamar, GA	6	Adult_Ophthalmology	1 in 45 miles	1	6.0	6	100.0	0	0.0	6.2	12.2
Laurens, GA	18	Adult_Ophthalmology	1 in 45 miles	1	18.0	18	100.0	0	0.0	4.7	33.9
Macon, GA	3	Adult_Ophthalmology	1 in 45 miles	1	3.0	3	100.0	0	0.0	5.6	20.2
Marion, GA	1	Adult_Ophthalmology	1 in 45 miles	0		1	100.0	0	0.0	24.6	26.2
Meriwether, GA	3	Adult_Ophthalmology	1 in 45 miles	0		3	100.0	0	0.0	18.8	23.6
Monroe, GA	5	Adult_Ophthalmology	1 in 45 miles	0		5	100.0	0	0.0	15.9	19.3
Peach, GA	15	Adult_Ophthalmology	1 in 45 miles	0		15	100.0	0	0.0	13.4	21.4
Pike, GA	3	Adult_Ophthalmology	1 in 45 miles	0		3	100.0	0	0.0	12.4	13.0
Pulaski, GA	2	Adult_Ophthalmology	1 in 45 miles	0		2	100.0	0	0.0	27.8	33.0
Taylor, GA	2	Adult_Ophthalmology	1 in 45 miles	0		2	100.0	0	0.0	25.3	29.1
Telfair, GA	4	Adult_Ophthalmology	1 in 45 miles	0		4	100.0	0	0.0	34.2	34.8
Treutlen, GA	2	Adult_Ophthalmology	1 in 45 miles	0		2	100.0	0	0.0	22.9	23.7
Twiggs, GA	9	Adult_Ophthalmology	1 in 45 miles	0		9	100.0	0	0.0	5.2	6.4
Upson, GA	7	Adult_Ophthalmology	1 in 45 miles	1	7.0	7	100.0	0	0.0	4.9	20.4
Wilkinson, GA		Adult_Ophthalmology	1 in 45 miles	0		6	100.0	0	0.0	18.4	19.0
Grand Totals	120	Adult_Ophthalmology	1 in 45 miles	7	17.1	120	100.0	0	0.0	12.4	20.3

Adult Orthopedics - Urban

October 26, 2022

Access Analysis

Adult_Orhopedics- Urban

Member / Provider Groups

Adult Urban Members
(CENTRAL_URBAN)

Adult_Orthopedics

			Members With	and With	out Access						
	Member	Р	rovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Adult_Orthopedics	1 in 30 miles	142			100.0			1.6	
Houston, GA		Adult_Orthopedics	1 in 30 miles	58		33	100.0	0	0.0	1.9	2.2
Muscogee, GA		Adult_Orthopedics	1 in 30 miles	105			100.0				
Troup, GA	17	Adult_Orthopedics	1 in 30 miles	43	0.4	17	100.0	0	0.0	2.5	2.9
Grand Totals	180	Adult_Orthopedics	1 in 30 miles	348	0.5	180	100.0	0	0.0	2.0	2.5
© 2022 Quest Analytics, LLC.											

Adult Orthopedics- Rural

October 26, 2022

Access Analysis
Adult_Orhopedics- Rural
Member / Provider Groups
Adult Rural Members
(CENTRAL_RURAL)
Adult_Orthopedics

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	10	Adult_Orthopedics	1 in 45 miles	20	0.5	10	100.0	0	0.0	2.5	2.7
Bleckley, GA	2	Adult_Orthopedics	1 in 45 miles	3	0.7	2	100.0	0	0.0	0.5	0.9
Chattahoochee, GA	1	Adult_Orthopedics	1 in 45 miles	0		1	100.0	0	0.0	16.2	16.3
Crawford, GA	3	Adult_Orthopedics	1 in 45 miles	0		3	100.0	0	0.0	17.2	17.4
Crisp, GA	3	Adult_Orthopedics	1 in 45 miles	19	0.2	3	100.0	0	0.0	1.4	1.4
Dodge, GA	1	Adult_Orthopedics	1 in 45 miles	3	0.3	1	100.0	0	0.0	2.7	2.7
Harris, GA	5	Adult_Orthopedics	1 in 45 miles	0		5	100.0	0	0.0	10.3	10.6
Heard, GA	3	Adult_Orthopedics	1 in 45 miles	0		3	100.0	0	0.0	17.2	17.2
Jones, GA	6	Adult_Orthopedics	1 in 45 miles	1	6.0	6	100.0	0	0.0	2.9	5.7
Lamar, GA	6	Adult_Orthopedics	1 in 45 miles	2	3.0	6	100.0	0	0.0	6.4	6.5
Laurens, GA	18	Adult_Orthopedics	1 in 45 miles	54	0.3	18	100.0	0	0.0	3.1	3.5
Macon, GA	3	Adult_Orthopedics	1 in 45 miles	4	0.8	3	100.0	0	0.0	5.3	5.3
Marion, GA	1	Adult_Orthopedics	1 in 45 miles	2	0.5	1	100.0	0	0.0	10.4	10.6
Meriwether, GA	3	Adult_Orthopedics	1 in 45 miles	3	1.0	3	100.0	0	0.0	8.2	9.3
Monroe, GA		Adult_Orthopedics	1 in 45 miles	1	5.0	5	100.0	0	0.0	5.5	14.3
Peach, GA	15	Adult_Orthopedics	1 in 45 miles	9	1.7	15	100.0	0	0.0	3.1	8.3
Pike, GA		Adult_Orthopedics	1 in 45 miles	1	3.0		100.0	0	0.0	7.7	12.2
Pulaski, GA		Adult_Orthopedics	1 in 45 miles	6		2	100.0	0	0.0	1.5	1.7
Taylor, GA		Adult_Orthopedics	1 in 45 miles	0		2	100.0	0	0.0	20.8	21.7
Telfair, GA		Adult_Orthopedics	1 in 45 miles	0		4		0	0.0	20.9	20.9
Treutlen, GA		Adult_Orthopedics	1 in 45 miles	0			100.0	0	0.0	16.4	16.4
Twiggs, GA		Adult_Orthopedics	1 in 45 miles	2	4.5	9	100.0	0	0.0	4.0	4.4
Upson, GA		Adult_Orthopedics	1 in 45 miles	10		7	100.0	0	0.0	4.1	4.1
Wilkinson, GA		Adult_Orthopedics	1 in 45 miles	3	2.0			0	0.0	2.2	10.8
Grand Totals	120	Adult_Orthopedics	1 in 45 miles	143	0.8	120	100.0	0	0.0	5.8	7.7
		·									

Adult Optometry - Urban

October 26, 2022

Access Analysis

Adult_Optometry - Urban

Member / Provider Groups

Adult Urban Members
(CENTRAL_URBAN)

Adult_Optometry

			Members With a	nd With	out Access						
	Member	Pi	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	58	Adult_Optometry	1 in 30 miles	9	6.4	58	100.0	0		2.2	3.1
Houston, GA		Adult_Optometry	1 in 30 miles	14	2.4	33	100.0	0	0.0		3.9
Muscogee, GA		Adult_Optometry	1 in 30 miles	18		72	100.0	0		2.6	3.6
Troup, GA	17	Adult_Optometry	1 in 30 miles	3	5.7	17	100.0	0	0.0	3.8	4.2
Grand Totals	180	Adult_Optometry	1 in 30 miles	44	4.1	180	100.0	0	0.0	2.6	3.5

Adult Optometry - Rural

October 26, 2022

Access Analysis

Adult_Optometry - Rural

Member / Provider Groups

Adult Rural Members

(CENTRAL_RURAL)

Adult_Optometry

			Members With a	nd With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	10	Adult_Optometry	1 in 45 miles	2	5.0	10	100.0	0	0.0	4.1	4.1
Bleckley, GA	2	Adult_Optometry	1 in 45 miles	0		2	100.0	0	0.0	23.1	23.1
Chattahoochee, GA	1	Adult_Optometry	1 in 45 miles	0		1	100.0	0	0.0	17.5	23.1
Crawford, GA	3	Adult_Optometry	1 in 45 miles	0		3	100.0	0	0.0	17.7	17.7
Crisp, GA	3	Adult_Optometry	1 in 45 miles	0		3	100.0	0	0.0	8.9	15.8
Dodge, GA	1	Adult_Optometry	1 in 45 miles	1	1.0	1	100.0	0	0.0	2.8	20.2
Harris, GA	5	Adult_Optometry	1 in 45 miles	0		5	100.0	0	0.0	10.3	12.8
Heard, GA	3	Adult_Optometry	1 in 45 miles	0		3	100.0	0	0.0	17.5	17.9
Jones, GA	6	Adult_Optometry	1 in 45 miles	0		6	100.0	0	0.0	7.8	8.1
Lamar, GA	6	Adult_Optometry	1 in 45 miles	0		6	100.0	0	0.0	12.0	15.5
Laurens, GA	18	Adult_Optometry	1 in 45 miles	5	3.6	18	100.0	0	0.0	3.5	5.0
Macon, GA	3	Adult_Optometry	1 in 45 miles	3	1.0	3	100.0	0	0.0	5.6	5.6
Marion, GA	1	Adult_Optometry	1 in 45 miles	0		1	100.0	0	0.0	24.6	24.6
Meriwether, GA	3	Adult_Optometry	1 in 45 miles	1	3.0	3	100.0	0	0.0	10.7	23.4
Monroe, GA	5	Adult_Optometry	1 in 45 miles	1	5.0	5	100.0	0	0.0	6.0	22.6
Peach, GA	15	Adult_Optometry	1 in 45 miles	2	7.5	15	100.0	0	0.0	8.8	8.8
Pike, GA		Adult_Optometry	1 in 45 miles	0		3	100.0	0	0.0	14.9	15.8
Pulaski, GA	2	Adult_Optometry	1 in 45 miles	0		2	100.0	0	0.0	21.9	22.2
Taylor, GA	2	Adult_Optometry	1 in 45 miles	0		2	100.0	0	0.0	27.2	27.2
Telfair, GA	4	Adult_Optometry	1 in 45 miles	1	4.0	4	100.0	0	0.0	4.3	23.2
Treutlen, GA	2	Adult_Optometry	1 in 45 miles	0		2	100.0	0	0.0	23.7	26.7
Twiggs, GA	9	Adult_Optometry	1 in 45 miles	0		9	100.0	0	0.0	6.3	7.2
Upson, GA	7	Adult_Optometry	1 in 45 miles	0		7	100.0	0	0.0	17.8	25.8
Wilkinson, GA		Adult_Optometry	1 in 45 miles	0		6	100.0	0	0.0	19.2	
·		_ , ,									
Grand Totals	120	Adult_Optometry	1 in 45 miles	16	7.5	120	100.0	0	0.0	10.1	13.3

Adult Urology -Urban

October 26, 2022

Access Analysis
Adult_Urology- Urban
Member / Provider Groups
Adult Urban Members
(CENTRAL_URBAN)
Adult_Urology

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	58	Adult_Urology	1 in 30 miles	14	4.1	58	100.0	0	0.0	3.2	3.2
Houston, GA		Adult_Urology	1 in 30 miles	5		33	100.0	0	0.0	3.5	4.6
Muscogee, GA		Adult_Urology	1 in 30 miles	13			100.0		0.0		
Troup, GA	17	Adult_Urology	1 in 30 miles	5	3.4	17	100.0	0	0.0	5.0	5.1
Grand Totals	180	Adult_Urology	1 in 30 miles	37	4.9	180	100.0	0	0.0	3.3	3.7
© 2022 Quest Analytics II C											

Adult Urology- Rural

October 26, 2022

Access Analysis
Adult_Urology- Rural
Member / Provider Groups
Adult Rural Members
(CENTRAL_RURAL)
Adult_Urology

			Members With a	nd With	out Access						
	Member	F	Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	10	Adult_Urology	1 in 45 miles	2	5.0	10	100.0	0	0.0	3.7	3.7
Bleckley, GA	2	Adult_Urology	1 in 45 miles	0		2	100.0	0	0.0	29.6	29.7
Chattahoochee, GA	1	Adult_Urology	1 in 45 miles	0		1	100.0	0	0.0	22.2	23.5
Crawford, GA	3	Adult_Urology	1 in 45 miles	0			100.0	0	0.0	23.6	25.3
Crisp, GA	3	Adult_Urology	1 in 45 miles	1	3.0	3	100.0	0	0.0	2.0	30.2
Dodge, GA	1	Adult_Urology	1 in 45 miles	0		1	100.0	0	0.0	31.9	31.9
Harris, GA	5	Adult_Urology	1 in 45 miles	0		5	100.0	0	0.0	13.4	13.4
Heard, GA	3	Adult_Urology	1 in 45 miles	0		3	100.0	0	0.0	17.3	17.3
Jones, GA	6	Adult_Urology	1 in 45 miles	0		6	100.0	0	0.0	6.3	6.3
Lamar, GA	6	Adult_Urology	1 in 45 miles	0		6	100.0	0	0.0	12.3	12.3
Laurens, GA	18	Adult_Urology	1 in 45 miles	5	3.6	18	100.0	0	0.0	4.6	5.2
Macon, GA	3	Adult_Urology	1 in 45 miles	1	3.0	3	100.0	0	0.0	3.7	22.5
Marion, GA	1	Adult_Urology	1 in 45 miles	0		1	100.0	0	0.0	21.1	25.0
Meriwether, GA	3	Adult_Urology	1 in 45 miles	0		3	100.0	0	0.0	19.7	24.6
Monroe, GA	5	Adult_Urology	1 in 45 miles	0		5	100.0	0	0.0	19.3	19.3
Peach, GA	15	Adult_Urology	1 in 45 miles	0		15	100.0	0	0.0	11.3	13.9
Pike, GA	3	Adult_Urology	1 in 45 miles	0		3	100.0	0	0.0	12.4	15.0
Pulaski, GA	2	Adult_Urology	1 in 45 miles	0		2	100.0	0	0.0	28.8	29.0
Taylor, GA	2	Adult_Urology	1 in 45 miles	0		2	100.0	0	0.0	22.7	27.3
Telfair, GA	4	Adult_Urology	1 in 45 miles	0		4	100.0	0	0.0	34.1	34.2
Treutlen, GA	2	Adult_Urology	1 in 45 miles	0		2	100.0	0	0.0	23.0	23.0
Twiggs, GA	9	Adult_Urology	1 in 45 miles	0		9	100.0	0	0.0	4.8	4.8
Upson, GA	7	Adult_Urology	1 in 45 miles	1	7.0	7	100.0	0	0.0	4.8	25.4
Wilkinson, GA	6	Adult_Urology	1 in 45 miles	0		6	100.0	0	0.0	18.6	18.6
Grand Totals	120	Adult_Urology	1 in 45 miles	10	12.0	120	100.0	0	0.0	11.7	14.9

Adult Vascular Surgery - Urban

October 26, 2022

Access Analysis

Adult_Vascular Surgery- Urban

Member / Provider Groups

Adult Urban Members
(CENTRAL_URBAN)

Adult_Vascular Surgery

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	58	Adult_Vascular Surgery	1 in 30 miles	36	1.6	58	100.0	0	0.0	3.0	3.1
Houston, GA		Adult_Vascular Surgery	1 in 30 miles	21	1.6	33	100.0	0	0.0	3.3	
Muscogee, GA		Adult_Vascular Surgery	1 in 30 miles	24			100.0		0.0	3.1	
Troup, GA	17	Adult_Vascular Surgery	1 in 30 miles	6	2.8	17	100.0	0	0.0	5.1	5.1
Grand Totals	180	Adult_Vascular Surgery	1 in 30 miles	87	2.1	180	100.0	0	0.0	3.3	3.3
© 2022 Ouget Anglytics II C											

Adult Vascular Surgery- Rural

October 26, 2022

Access Analysis

Adult_Vascular Surgery- Rural

Member / Provider Groups

Adult Rural Members

(CENTRAL_RURAL)

Adult_Vascular Surgery

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	10	Adult_Vascular Surgery	1 in 45 miles	1	10.0	10	100.0	0	0.0	4.0	27.0
Bleckley, GA	2	Adult_Vascular Surgery	1 in 45 miles	0		2	100.0	0	0.0	29.6	29.6
Chattahoochee, GA	1	Adult_Vascular Surgery	1 in 45 miles	0		1	100.0	0	0.0	23.1	23.1
Crawford, GA	3	Adult_Vascular Surgery	1 in 45 miles	0		3	100.0	0	0.0	20.7	20.7
Crisp, GA	3	Adult_Vascular Surgery	1 in 45 miles	2	1.5	3	100.0	0	0.0	1.8	2.1
Dodge, GA	1	Adult_Vascular Surgery	1 in 45 miles	0		1	100.0	0	0.0	43.5	43.6
Harris, GA	5	Adult_Vascular Surgery	1 in 45 miles	0		5	100.0	0	0.0	13.7	13.7
Heard, GA	3	Adult_Vascular Surgery	1 in 45 miles	0		3	100.0	0	0.0	17.3	17.3
Jones, GA	6	Adult_Vascular Surgery	1 in 45 miles	0		6	100.0	0	0.0	6.2	6.2
Lamar, GA	6	Adult_Vascular Surgery	1 in 45 miles	0		6	100.0	0	0.0	11.9	12.3
Laurens, GA	18	Adult_Vascular Surgery	1 in 45 miles	0		18	100.0	0	0.0	34.3	43.3
Macon, GA	3	Adult_Vascular Surgery	1 in 45 miles	0		3	100.0	0	0.0	36.1	36.3
Marion, GA	1	Adult_Vascular Surgery	1 in 45 miles	0		1	100.0	0	0.0	38.3	38.3
Meriwether, GA	3	Adult_Vascular Surgery	1 in 45 miles	0		3	100.0	0	0.0	24.6	24.6
Monroe, GA	5	Adult_Vascular Surgery	1 in 45 miles	0		5	100.0	0	0.0	17.4	23.4
Peach, GA	15	Adult_Vascular Surgery	1 in 45 miles	4	3.8	15	100.0	0	0.0	8.3	8.3
Pike, GA	3	Adult_Vascular Surgery	1 in 45 miles	0		3	100.0	0	0.0	14.5	14.9
Pulaski, GA	2	Adult_Vascular Surgery	1 in 45 miles	0		2	100.0	0	0.0	28.8	28.8
Taylor, GA	2	Adult_Vascular Surgery	1 in 45 miles	0		2	100.0	0	0.0	31.3	31.3
Telfair, GA	4	Adult_Vascular Surgery	1 in 45 miles	0		4	100.0	0	0.0	34.7	34.7
Treutlen, GA	2	Adult_Vascular Surgery	1 in 45 miles	0		2	100.0	0	0.0	23.6	23.7
Twiggs, GA	9	Adult_Vascular Surgery	1 in 45 miles	0		9	100.0	0	0.0	4.6	4.6
Upson, GA		Adult_Vascular Surgery	1 in 45 miles	0		7	100.0	0	0.0	25.0	25.4
Wilkinson, GA	6	Adult_Vascular Surgery	1 in 45 miles	0		6	100.0	0	0.0	18.3	22.0
Grand Totals	120	Adult_Vascular Surgery	1 in 45 miles	7	17.1	120	100.0	0	0.0	18.2	22.0

Audiology -Urban

October 26, 2022

Access Analysis
Audiology- Urban

Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Audiology

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	458	Audiology	1 in 30 miles	8	57.3	458	100.0	0	0.0	3.0	4.0
Houston, GA		Audiology	1 in 30 miles	3		429	100.0	0			5.5
Muscogee, GA		Audiology	1 in 30 miles	14		760	100.0	0			
Troup, GA	208	Audiology	1 in 30 miles	2	104.0	208	100.0	0	0.0	3.2	6.0
Grand Totals	1,855	Audiology	1 in 30 miles	27	68.7	1,855	100.0	0	0.0	3.0	3.8
© 2022 Quest Analytics III C											

Audiology - Rural

October 26, 2022

Access Analysis
Audiology- Rural

Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Audiology

			Members With a	nd With	out Access						
	Member	Pı	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	Audiology	1 in 45 miles	1	151.0	151	100.0	0	0.0	2.7	23.4
Bleckley, GA	27	Audiology	1 in 45 miles	0		27	100.0	0	0.0	28.0	29.0
Chattahoochee, GA	30	Audiology	1 in 45 miles	0		30	100.0	0	0.0	22.5	22.5
Crawford, GA	52	Audiology	1 in 45 miles	0		52	100.0	0	0.0	21.2	21.3
Crisp, GA	74	Audiology	1 in 45 miles	0		74	100.0	0	0.0	42.3	43.5
Dodge, GA		Audiology	1 in 45 miles	0		7	12.1	51	87.9	47.8	52.4
Dooly, GA	76	Audiology	1 in 45 miles	0		76	100.0	0	0.0	35.1	35.1
Harris, GA	109	Audiology	1 in 45 miles	0		109	100.0	0	0.0	14.8	15.8
Heard, GA	36	Audiology	1 in 45 miles	0		36	100.0	0	0.0	18.7	20.2
Johnson, GA	36	Audiology	1 in 45 miles	0		0	0.0	36	100.0	50.7	52.7
Jones, GA	174	Audiology	1 in 45 miles	0		174	100.0	0	0.0	12.8	14.5
Lamar, GA	108	Audiology	1 in 45 miles	2	54.0	108	100.0	0	0.0	3.3	3.5
Laurens, GA	212	Audiology	1 in 45 miles	0		154	72.6	58	27.4	44.0	47.7
Macon, GA	44	Audiology	1 in 45 miles	0		44	100.0	0	0.0	34.9	34.9
Marion, GA	21	Audiology	1 in 45 miles	0		21	100.0	0	0.0	34.5	34.5
Meriwether, GA	68	Audiology	1 in 45 miles	0		68	100.0	0	0.0	19.5	22.2
Monroe, GA	105	Audiology	1 in 45 miles	0		105	100.0	0	0.0	15.1	15.7
Peach, GA	137	Audiology	1 in 45 miles	0		137	100.0	0	0.0	10.7	10.7
Pike, GA	71	Audiology	1 in 45 miles	0		71	100.0	0	0.0	12.6	14.6
Pulaski, GA	44	Audiology	1 in 45 miles	0		44	100.0	0	0.0	28.9	31.2
Talbot, GA	8	Audiology	1 in 45 miles	0		8	100.0	0	0.0	24.5	24.5
Taylor, GA	44	Audiology	1 in 45 miles	0		44	100.0	0	0.0	30.5	30.5
Telfair, GA	92	Audiology	1 in 45 miles	0		0	0.0	92	100.0	64.1	67.6
Treutlen, GA	22	Audiology	1 in 45 miles	0		0	0.0	22	100.0	49.4	49.4
Twiggs, GA	55	Audiology	1 in 45 miles	0		55	100.0	0	0.0	10.3	11.8
Upson, GA	131	Audiology	1 in 45 miles	0		131	100.0	0	0.0	18.2	18.2
Wheeler, GA	11	Audiology	1 in 45 miles	0		0	0.0	11	100.0	60.0	60.2
Wilcox, GA	25	Audiology	1 in 45 miles	0		25	100.0	0	0.0	38.3	50.9
Wilkinson, GA	60	Audiology	1 in 45 miles	0		60	100.0	0	0.0	19.7	25.6
Grand Totals	2,081	Audiology	1 in 45 miles	3	693.7	1,811	87.0	270	13.0	24.3	27.4

Behavioral Health- Urban

October 26, 2022

Access Analysis
Behavioral Health- Urban

Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Behavioral Health

		Members With	and With	out Access						
Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
#	Group	Standard	#	to Providers	#	%	#	%	1	2
		1 in 30 miles	241	1.9	458	100.0	0	0.0	0.8	
		1 in 30 miles		3.2	429	100.0	0	0.0	1.3	
208	Behavioral Health	1 in 30 miles	56	3.7	208	100.0	0	0.0	2.1	3.0
1,855	Behavioral Health	1 in 30 miles	769	2.4	1,855	100.0	0	0.0	1.0	1.3
	# 458 429 760 208	# Group 458 Behavioral Health 429 Behavioral Health 760 Behavioral Health 208 Behavioral Health	#GroupStandard458Behavioral Health1 in 30 miles429Behavioral Health1 in 30 miles760Behavioral Health1 in 30 miles208Behavioral Health1 in 30 miles1 in 30 miles1 in 30 miles	Member Provider Counts # Group Standard # 458 Behavioral Health 1 in 30 miles 241 429 Behavioral Health 1 in 30 miles 136 760 Behavioral Health 1 in 30 miles 336 208 Behavioral Health 1 in 30 miles 56	# Group Standard # Katto Members 458 Behavioral Health 1 in 30 miles 241 1.9 429 Behavioral Health 1 in 30 miles 136 3.2 760 Behavioral Health 1 in 30 miles 336 2.3 208 Behavioral Health 1 in 30 miles 56 3.7	Member Provider Counts Ratio Members to Providers With Acceptable # Group Standard # to Providers # 458 Behavioral Health 1 in 30 miles 241 1.9 458 429 Behavioral Health 1 in 30 miles 136 3.2 429 760 Behavioral Health 1 in 30 miles 336 2.3 760 208 Behavioral Health 1 in 30 miles 56 3.7 208	Member Provider Counts Ratio Members to Providers With Access # Group Standard # Providers # % 458 Behavioral Health 1 in 30 miles 241 1.9 458 100.0 429 Behavioral Health 1 in 30 miles 136 3.2 429 100.0 760 Behavioral Health 1 in 30 miles 336 2.3 760 100.0 208 Behavioral Health 1 in 30 miles 56 3.7 208 100.0	Member Provider Counts Ratio Members to Providers With Access Without Access # Group Standard # % # 458 Behavioral Health 1 in 30 miles 241 1.9 458 100.0 0 429 Behavioral Health 1 in 30 miles 136 3.2 429 100.0 0 760 Behavioral Health 1 in 30 miles 336 2.3 760 100.0 0 208 Behavioral Health 1 in 30 miles 56 3.7 208 100.0 0	Member Provider Counts Ratio Members to Providers With Access Without Access # Group Standard # With Operation of the providers # % # % 458 Behavioral Health 1 in 30 miles 241 1.9 458 100.0 0 0.0 429 Behavioral Health 1 in 30 miles 136 3.2 429 100.0 0 0.0 8ehavioral Health 1 in 30 miles 336 2.3 760 100.0 0 0.0 8ehavioral Health 1 in 30 miles 56 3.7 208 100.0 0 0.0	Member Provider Counts Ratio Members to Providers With Access Without Access Average # Group Standard # Vith Access Without Access Average 458 Behavioral Health 1 in 30 miles 241 1.9 458 100.0 0 0.0 0.8 429 Behavioral Health 1 in 30 miles 136 3.2 429 100.0 0 0.0 1.3 760 Behavioral Health 1 in 30 miles 336 2.3 760 100.0 0 0.0 0.6 208 Behavioral Health 1 in 30 miles 56 3.7 208 100.0 0 0.0 2.1

Behavioral Health- Rural

October 26, 2022

Access Analysis
Behavioral Health- Rural
Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Behavioral Health

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	Behavioral Health	1 in 45 miles	70	2.2	151	100.0	0	0.0	1.1	1.3
Bleckley, GA	27	Behavioral Health	1 in 45 miles	1	27.0	27	100.0	0	0.0	5.0	14.2
Chattahoochee, GA	30	Behavioral Health	1 in 45 miles	0		30	100.0	0	0.0	15.4	15.4
Crawford, GA	52	Behavioral Health	1 in 45 miles	0		52	100.0	0	0.0	11.3	13.3
Crisp, GA	74	Behavioral Health	1 in 45 miles	9	8.2	74	100.0	0	0.0	1.6	1.6
Dodge, GA	58	Behavioral Health	1 in 45 miles	6	9.7	58	100.0	0	0.0	5.5	6.2
Dooly, GA	76	Behavioral Health	1 in 45 miles	3	25.3	76	100.0	0	0.0	0.6	7.5
Harris, GA	109	Behavioral Health	1 in 45 miles	14	7.8	109	100.0	0	0.0	4.3	4.8
Heard, GA	36	Behavioral Health	1 in 45 miles	4	9.0	36	100.0	0	0.0	4.9	4.9
Johnson, GA	36	Behavioral Health	1 in 45 miles	3	12.0	36	100.0	0	0.0	7.5	8.1
Jones, GA	174	Behavioral Health	1 in 45 miles	13	13.4	174	100.0	0	0.0	3.3	3.6
Lamar, GA	108	Behavioral Health	1 in 45 miles	26	4.2	108	100.0	0	0.0	2.3	2.9
Laurens, GA	212	Behavioral Health	1 in 45 miles	33	6.4	212	100.0	0	0.0	2.5	3.2
Macon, GA	44	Behavioral Health	1 in 45 miles	10	4.4	44	100.0	0	0.0	4.0	4.9
Marion, GA	21	Behavioral Health	1 in 45 miles	2	10.5	21	100.0	0	0.0	6.7	6.7
Meriwether, GA	68	Behavioral Health	1 in 45 miles	16	4.3	68	100.0	0	0.0	1.8	2.0
Monroe, GA	105	Behavioral Health	1 in 45 miles	12	8.8	105	100.0	0	0.0	3.0	3.8
Peach, GA	137	Behavioral Health	1 in 45 miles	7		137	100.0	0	0.0	2.6	
Pike, GA	71	Behavioral Health	1 in 45 miles	23	3.1	71	100.0	0	0.0	4.1	4.8
Pulaski, GA	44	Behavioral Health	1 in 45 miles	3	14.7	44	100.0	0	0.0	2.0	2.9
Talbot, GA	8	Behavioral Health	1 in 45 miles	7	1.1	8	100.0	0	0.0	9.9	
Taylor, GA	44	Behavioral Health	1 in 45 miles	2	22.0	44	100.0	0	0.0	3.8	10.2
Telfair, GA	92	Behavioral Health	1 in 45 miles	2	46.0	92	100.0	0	0.0	2.2	6.6
Treutlen, GA	22	Behavioral Health	1 in 45 miles	1	22.0	22	100.0	0	0.0	2.6	18.5
Twiggs, GA	55	Behavioral Health	1 in 45 miles	5		55	100.0	0	0.0	4.4	5.0
Upson, GA	131	Behavioral Health	1 in 45 miles	18	7.3	131	100.0	0	0.0	2.6	
Wheeler, GA	11	Behavioral Health	1 in 45 miles	0		11	100.0	0	0.0	12.9	
Wilcox, GA	25	Behavioral Health	1 in 45 miles	0		25		0	0.0	15.7	16.6
Wilkinson, GA	60	Behavioral Health	1 in 45 miles	4	15.0		100.0	0	0.0	2.1	
Grand Totals	2,081	Behavioral Health	1 in 45 miles	294	7.1	2,081	100.0	0	0.0	3.5	4.9

Behavioral Health Facilities - Urban

October 26, 2022

Access Analysis
Behavioral Health Facilities- Urban
Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Behavioral Health Facilities

			Members With	and With	out Access_						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Behavioral Health Fac	1 in 30 miles	30	15.3	458	100.0	0	0.0	1.3	
Houston, GA		Behavioral Health Fac	1 in 30 miles	18		429	100.0	0	0.0	3.4	
Muscogee, GA			1 in 30 miles	74			100.0		0.0	1.2	
Troup, GA	208	Behavioral Health Fac	1 in 30 miles	4	52.0	208	100.0	0	0.0	5.4	6.0
Grand Totals	1,855	Behavioral Health Fac	1 in 30 miles	126	14.7	1,855	100.0	0	0.0	2.2	2.9

Behavioral Health Facilities - Rural

October 26, 2022

Access Analysis
Behavioral Health Facilities- Rural
Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Behavioral Health Facilities

			Members With	and With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	Behavioral Health Fac	1 in 45 miles	9	16.8	151	100.0	0	0.0	3.0	3.6
Bleckley, GA	27	Behavioral Health Fac	1 in 45 miles	0		27	100.0	0	0.0	18.3	23.2
Chattahoochee, GA	30	Behavioral Health Fac	1 in 45 miles	0		30	100.0	0	0.0	20.2	20.4
Crawford, GA	52	Behavioral Health Fac	1 in 45 miles	0		52	100.0	0	0.0	12.3	15.0
Crisp, GA	74	Behavioral Health Fac	1 in 45 miles	0		74	100.0	0	0.0	22.2	30.7
Dodge, GA	58	Behavioral Health Fac	1 in 45 miles	0		58	100.0	0	0.0	22.3	27.9
Dooly, GA	76	Behavioral Health Fac	1 in 45 miles	0		76	100.0	0	0.0	25.3	27.3
Harris, GA	109	Behavioral Health Fac	1 in 45 miles	4	27.3	109	100.0	0	0.0	7.5	9.5
Heard, GA	36	Behavioral Health Fac	1 in 45 miles	1	36.0	36	100.0	0	0.0	5.2	17.6
Johnson, GA	36	Behavioral Health Fac	1 in 45 miles	0		36	100.0	0	0.0	22.2	27.7
Jones, GA	174	Behavioral Health Fac	1 in 45 miles	2	87.0	174	100.0	0	0.0	4.0	5.3
Lamar, GA	108	Behavioral Health Fac	1 in 45 miles	4	27.0	108	100.0	0	0.0	3.4	3.5
Laurens, GA	212	Behavioral Health Fac	1 in 45 miles	1	212.0	212	100.0	0	0.0	8.9	28.8
Macon, GA	44	Behavioral Health Fac	1 in 45 miles	0		44	100.0	0	0.0	18.5	23.0
Marion, GA	21	Behavioral Health Fac	1 in 45 miles	0		21	100.0	0	0.0	25.2	30.6
Meriwether, GA	68	Behavioral Health Fac	1 in 45 miles	2	34.0	68	100.0	0	0.0	10.3	13.8
Monroe, GA	105	Behavioral Health Fac	1 in 45 miles	1	105.0	105	100.0	0	0.0	4.8	12.7
Peach, GA	137	Behavioral Health Fac	1 in 45 miles	1	137.0	137	100.0	0	0.0	8.8	10.5
Pike, GA	71	Behavioral Health Fac	1 in 45 miles	1	71.0	71	100.0	0	0.0	6.7	12.9
Pulaski, GA	44	Behavioral Health Fac	1 in 45 miles	0		44	100.0	0	0.0	25.5	27.4
Talbot, GA	8	Behavioral Health Fac	1 in 45 miles	1	8.0	8	100.0	0	0.0	12.3	17.9
Taylor, GA	44	Behavioral Health Fac	1 in 45 miles	1	44.0	44	100.0	0	0.0	9.9	24.1
Telfair, GA	92	Behavioral Health Fac	1 in 45 miles	1	92.0	92	100.0	0	0.0	2.7	31.2
Treutlen, GA	22	Behavioral Health Fac	1 in 45 miles	0		22	100.0	0	0.0	20.9	29.0
Twiggs, GA	55	Behavioral Health Fac	1 in 45 miles	1	55.0		100.0	0	0.0	6.0	8.5
Upson, GA	131	Behavioral Health Fac	1 in 45 miles	0			100.0	0	0.0	9.6	
Wheeler, GA	11	Behavioral Health Fac	1 in 45 miles	0		11	100.0	0	0.0	17.1	22.0
Wilcox, GA	25	Behavioral Health Fac	1 in 45 miles	0		25	100.0	0	0.0	22.3	27.2
Wilkinson, GA		Behavioral Health Fac	1 in 45 miles	0			100.0	0	0.0	16.0	16.9
Grand Totals	2,081	Behavioral Health Fac	1 in 45 miles	30	69.4	2,081	100.0	0	0.0	10.4	17.0
											l

Dental -Urban

October 26, 2022

Access Analysis

Dental- Urban

Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Dental

				Members With a	nd With	out Access						
	Member		Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#		Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Dental		1 in 30 miles	77	5.9	458	100.0	0	0.0	3.2	3.4
Houston, GA		Dental		1 in 30 miles	14		429	100.0	0	0.0	2.1	
Muscogee, GA		Dental		1 in 30 miles	59			100.0	0		1.9	
Troup, GA	208	Dental		1 in 30 miles	7	29.7	208	100.0	0	0.0	3.2	3.8
Grand Totals	1,855	Dental		1 in 30 miles	157	11.8	1,855	100.0	0	0.0	2.4	3.5
© 2022 Quest Analytics III C												

Dental - Rural

October 26, 2022

Access Analysis
Dental- Rural

Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Dental

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	ess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	Dental	1 in 45 miles	1	151.0	151	100.0	0	0.0	2.6	20.0
Bleckley, GA	27	Dental	1 in 45 miles	1	27.0	27	100.0	0	0.0	4.9	20.7
Chattahoochee, GA	30	Dental	1 in 45 miles	0		30	100.0	0	0.0	14.3	16.8
Crawford, GA	52	Dental	1 in 45 miles	0		52	100.0	0	0.0	14.3	14.3
Crisp, GA	74	Dental	1 in 45 miles	3	24.7	74	100.0	0	0.0	1.7	1.7
Dodge, GA	58	Dental	1 in 45 miles	2	29.0		100.0	0	0.0	7.3	7.5
Dooly, GA	76	Dental	1 in 45 miles	0		76	100.0	0	0.0	8.9	8.9
Harris, GA	109	Dental	1 in 45 miles	0			100.0	0	0.0	15.2	16.8
Heard, GA	36	Dental	1 in 45 miles	1	36.0	36	100.0	0	0.0	5.2	17.5
Johnson, GA	36	Dental	1 in 45 miles	0		36	100.0	0	0.0	16.9	18.0
Jones, GA	174	Dental	1 in 45 miles	0		174	100.0	0	0.0	10.8	11.2
Lamar, GA	108	Dental	1 in 45 miles	0		108	100.0	0	0.0	11.6	12.3
Laurens, GA	212	Dental	1 in 45 miles	12	17.7	212	100.0	0	0.0	4.1	4.1
Macon, GA	44	Dental	1 in 45 miles	0		44	100.0	0	0.0	21.1	21.3
Marion, GA	21	Dental	1 in 45 miles	1	21.0	21	100.0	0	0.0	5.0	20.0
Meriwether, GA	68	Dental	1 in 45 miles	1	68.0	68	100.0	0	0.0	4.7	17.6
Monroe, GA	105	Dental	1 in 45 miles	12	8.8	105	100.0	0	0.0	4.4	5.0
Peach, GA	137	Dental	1 in 45 miles	6	22.8	137	100.0	0	0.0	3.9	4.4
Pike, GA	71	Dental	1 in 45 miles	2	35.5	71	100.0	0	0.0	5.4	6.4
Pulaski, GA	44	Dental	1 in 45 miles	0		44	100.0	0	0.0	13.7	20.9
Talbot, GA	8	Dental	1 in 45 miles	0		8	100.0	0	0.0	12.7	18.2
Taylor, GA	44	Dental	1 in 45 miles	1	44.0	44	100.0	0	0.0	12.0	19.3
Telfair, GA	92	Dental	1 in 45 miles	1	92.0	92	100.0	0	0.0	2.4	22.7
Treutlen, GA	22	Dental	1 in 45 miles	1	22.0	22	100.0	0	0.0	2.8	23.5
Twiggs, GA	55	Dental	1 in 45 miles	0		55	100.0	0	0.0	8.8	9.9
Upson, GA	131	Dental	1 in 45 miles	2	65.5	131	100.0	0	0.0	2.9	3.9
Wheeler, GA	11	Dental	1 in 45 miles	0		11	100.0	0	0.0	15.2	20.9
Wilcox, GA	25	Dental	1 in 45 miles	0		25	100.0	0	0.0	19.5	20.1
Wilkinson, GA	60	Dental	1 in 45 miles	1	60.0	60	100.0	0	0.0	5.8	19.8
Grand Totals	2,081	Dental	1 in 45 miles	48	43.4	2,081	100.0	0	0.0	7.4	12.0
© 2022 Quest Analytics, LLC.											

Dental Subspeciality - Urban

October 26, 2022

Access Analysis

Dental Subspeciality- Urban

Member / Provider Groups

Urban Members (CENTRAL_URBAN)

Dental Subspecialty

Houston, GA 429 Dental Subspecialty 1 in 30 miles 4 107.3 429 100.0 100.0 0 0.0 4.7 5.9 Muscogee, GA 760 Dental Subspecialty 1 in 30 miles 6 126.7 760 100.0 0 0.0 3.4 3.5 Troup, GA 208 Dental Subspecialty 1 in 30 miles 3 69.3 208 100.0 100.0 0 0.0 4.1 4.2				Members With	and With	out Access						
County # Group Standard # to Providers # % # % 1 2 Bibb, GA 458 Dental Subspecialty 1 in 30 miles 5 91.6 458 100.0 0 0.0 3.7 4.8 Houston, GA 429 Dental Subspecialty 1 in 30 miles 4 107.3 429 100.0 0 0.0 4.7 5.9 Muscogee, GA 760 Dental Subspecialty 1 in 30 miles 6 126.7 760 100.0 0 0.0 3.4 3.5 Troup, GA 208 Dental Subspecialty 1 in 30 miles 3 69.3 208 100.0 0 0.0 4.1 4.2		Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
Houston, GA 429 Dental Subspecialty 1 in 30 miles 4 107.3 429 100.0 100.0 0 0.0 4.7 5.9 Muscogee, GA 760 Dental Subspecialty 1 in 30 miles 6 126.7 760 100.0 0 0.0 3.4 3.5 Troup, GA 208 Dental Subspecialty 1 in 30 miles 3 69.3 208 100.0 100.0 0 0.0 4.1 4.2	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Muscogee, GA 760 Dental Subspecialty 1 in 30 miles 6 126.7 760 100.0 0 0.0 3.4 3.5 Troup, GA 208 Dental Subspecialty 1 in 30 miles 3 69.3 208 100.0 0 0.0 4.1 4.2	Bibb, GA				5							
Troup, GA 208 Dental Subspecialty 1 in 30 miles 3 69.3 208 100.0 0 0.0 4.1 4.2	Houston, GA						429	100.0	0			
	Muscogee, GA				6							
Grand Totals 1,855 Dental Subspecialty 1 in 30 miles 18 103.1 1,855 100.0 0 0.0 3.8 4.5	Troup, GA	208	Dental Subspecialty	1 in 30 miles	3	69.3	208	100.0	0	0.0	4.1	4.2
	Grand Totals	1,855	Dental Subspecialty	1 in 30 miles	18	103.1	1,855	100.0	0	0.0	3.8	4.5

Dental Subspeciality - Rural

October 26, 2022

Access Analysis

Dental Subspeciality- Rural

Member / Provider Groups

Rural Members (CENTRAL_RURAL)

Dental Subspecialty

Members With and Without Access Member Provider Counts Retig Members With Access Without Access Average Distance													
	Member	P	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA		Dental Subspecialty	1 in 45 miles	0		151		0	0.0	25.2	25.4		
Bleckley, GA	27	Dental Subspecialty	1 in 45 miles	0		27	100.0	0	0.0	26.5			
Chattahoochee, GA	30	Dental Subspecialty	1 in 45 miles	0		30	100.0	0	0.0	22.4	22.7		
Crawford, GA		Dental Subspecialty	1 in 45 miles	0		52	100.0	0	0.0	19.2	19.2		
Crisp, GA	74	Dental Subspecialty	1 in 45 miles	0		72	97.3	2	2.7	43.8	44.0		
Dodge, GA		Dental Subspecialty	1 in 45 miles	0		58		0	0.0	33.8	35.4		
Dooly, GA	76	Dental Subspecialty	1 in 45 miles	0		76	100.0	0	0.0	35.0	35.0		
Harris, GA	109	Dental Subspecialty	1 in 45 miles	0		109	100.0	0	0.0	14.3	14.4		
Heard, GA	36	Dental Subspecialty	1 in 45 miles	0		36	100.0	0	0.0	19.6	19.6		
Johnson, GA	36	Dental Subspecialty	1 in 45 miles	0		36	100.0	0	0.0	20.1	20.1		
Jones, GA	174	Dental Subspecialty	1 in 45 miles	0		174	100.0	0	0.0	14.3	17.4		
Lamar, GA	108	Dental Subspecialty	1 in 45 miles	0		108	100.0	0	0.0	13.0	14.9		
Laurens, GA	212	Dental Subspecialty	1 in 45 miles	2	106.0	212	100.0	0	0.0	5.5	5.5		
Macon, GA	44	Dental Subspecialty	1 in 45 miles	0		44	100.0	0	0.0	34.6	34.6		
Marion, GA	21	Dental Subspecialty	1 in 45 miles	0		21	100.0	0	0.0	34.7	35.2		
Meriwether, GA	68	Dental Subspecialty	1 in 45 miles	0		68	100.0	0	0.0	21.0	21.1		
Monroe, GA	105	Dental Subspecialty	1 in 45 miles	3	35.0	105	100.0	0	0.0	4.5	5.2		
Peach, GA	137	Dental Subspecialty	1 in 45 miles	0		137	100.0	0	0.0	10.2	10.2		
Pike, GA	71	Dental Subspecialty	1 in 45 miles	0		71	100.0	0	0.0	15.5	24.2		
Pulaski, GA	44	Dental Subspecialty	1 in 45 miles	0		44	100.0	0	0.0	29.5	31.7		
Talbot, GA	8	Dental Subspecialty	1 in 45 miles	0		8	100.0	0	0.0	23.5	23.5		
Taylor, GA	44	Dental Subspecialty	1 in 45 miles	0		44	100.0	0	0.0	30.0	30.1		
Telfair, GA	92	Dental Subspecialty	1 in 45 miles	0		92	100.0	0	0.0	33.6	34.2		
Treutlen, GA		Dental Subspecialty	1 in 45 miles	0		22	100.0	0	0.0	22.3	27.6		
Twiggs, GA	55	Dental Subspecialty	1 in 45 miles	0		55	100.0	0	0.0	12.0	13.0		
Upson, GA	131	Dental Subspecialty	1 in 45 miles	0		131	100.0	0	0.0	24.8	28.6		
Wheeler, GA	11	Dental Subspecialty	1 in 45 miles	0		11	100.0	0	0.0	22.4	32.2		
Wilcox, GA	25	Dental Subspecialty	1 in 45 miles	0		4	16.0	21	84.0	48.4	49.5		
Wilkinson, GA		Dental Subspecialty	1 in 45 miles	0		60	100.0	0	0.0	27.1	27.3		
Grand Totals	2,081	Dental Subspecialty	1 in 45 miles	5	416.2	2,058	98.9	23	1.1	20.2	21.5		
					1		<u> </u>						

Dialysis - Urban

October 26, 2022

Access Analysis
Dialysis- Urban
Member / Provider Groups

Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Dialysis

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA	458	Dialysis	1 in 30 miles	7	65.4	458	100.0	0	0.0	3.7	3.9		
Houston, GA	429	Dialysis	1 in 30 miles	5		429	100.0	0	0.0		6.4		
Muscogee, GA		Dialysis	1 in 30 miles	9		760	100.0	0					
Troup, GA	208	Dialysis	1 in 30 miles	4	52.0	208	100.0	0	0.0	2.9	4.1		
0 17.1	4.055	B	4: 00 "	0.5	74.0	4.055	400.0						
Grand Totals	1,855	Dialysis	1 in 30 miles	25	74.2	1,855	100.0	0	0.0	3.2	4.1		
© 2022 Quest Analytics, LLC.													

Dialysis- Rural

October 26, 2022

Access Analysis
Dialysis- Rural

Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Dialysis

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	Dialysis	1 in 45 miles	2	75.5	151	100.0	0	0.0	3.7	4.4
Bleckley, GA	27	Dialysis	1 in 45 miles	0		27	100.0	0	0.0	15.6	21.0
Chattahoochee, GA	30	Dialysis	1 in 45 miles	0		30	100.0	0	0.0	16.4	20.1
Crawford, GA	52	Dialysis	1 in 45 miles	0		52	100.0	0	0.0	15.2	19.4
Crisp, GA	74	Dialysis	1 in 45 miles	1	74.0	74	100.0	0	0.0	2.3	28.7
Dodge, GA	58	Dialysis	1 in 45 miles	1	58.0	58	100.0	0	0.0	7.4	25.5
Dooly, GA	76	Dialysis	1 in 45 miles	0		76	100.0	0	0.0	9.2	26.0
Harris, GA	109	Dialysis	1 in 45 miles	0		109	100.0	0	0.0	12.7	16.2
Heard, GA	36	Dialysis	1 in 45 miles	0		36	100.0	0	0.0	18.4	19.4
Johnson, GA	36	Dialysis	1 in 45 miles	0		36	100.0	0	0.0	20.6	20.6
Jones, GA	174	Dialysis	1 in 45 miles	1	174.0	174	100.0	0	0.0	5.0	12.6
Lamar, GA	108	Dialysis	1 in 45 miles	0		108	100.0	0	0.0	13.4	17.1
Laurens, GA	212	Dialysis	1 in 45 miles	11	19.3	212	100.0	0	0.0	3.9	4.0
Macon, GA	44	Dialysis	1 in 45 miles	0		44	100.0	0	0.0	21.2	22.4
Marion, GA	21	Dialysis	1 in 45 miles	0		21	100.0	0	0.0	26.5	28.1
Meriwether, GA	68	Dialysis	1 in 45 miles	1	68.0	68	100.0	0	0.0	10.1	17.0
Monroe, GA	105	Dialysis	1 in 45 miles	1	105.0	105	100.0	0	0.0	4.8	18.3
Peach, GA	137	Dialysis	1 in 45 miles	1	137.0	137	100.0	0	0.0	4.4	12.6
Pike, GA	71	Dialysis	1 in 45 miles	0		71	100.0	0	0.0	11.1	14.9
Pulaski, GA	44	Dialysis	1 in 45 miles	1	44.0	44	100.0	0	0.0	3.4	20.9
Talbot, GA	8	Dialysis	1 in 45 miles	0		8	100.0	0	0.0	19.0	21.4
Taylor, GA	44	Dialysis	1 in 45 miles	0		44	100.0	0	0.0	21.7	27.3
Telfair, GA	92	Dialysis	1 in 45 miles	0		92	100.0	0	0.0	23.6	33.3
Treutlen, GA	22	Dialysis	1 in 45 miles	0		22	100.0	0	0.0	21.3	22.7
Twiggs, GA	55	Dialysis	1 in 45 miles	0		55	100.0	0	0.0	8.9	9.5
Upson, GA	131	Dialysis	1 in 45 miles	1	131.0	131	100.0	0	0.0	3.5	20.6
Wheeler, GA		Dialysis	1 in 45 miles	0		11	100.0	0	0.0	21.6	22.4
Wilcox, GA	25	Dialysis	1 in 45 miles	0		25	100.0	0	0.0	19.6	26.8
Wilkinson, GA	60	Dialysis	1 in 45 miles	0		60	100.0	0	0.0	18.1	18.7
Grand Totals	2,081	Dialysis	1 in 45 miles	21	99.1	2,081	100.0	0	0.0	9.7	16.8
				L							

DME -Urban

October 26, 2022

Access Analysis DME- Urban

Member / Provider Groups
Urban Members (CENTRAL_URBAN)

Number Provider Counts Ratio Members With Access Average District		Members With and Without Access Member Provider Counts With Access Without Access Average Distance													
County # Group Standard # to Providers # % # % 1 2 Bibb, GA 458 DME 1 in 30 miles 16 28.6 458 100.0 0 0.0 2.1 Houston, GA 429 DME 1 in 30 miles 9 47.7 429 100.0 0 0.0 4.6 Muscogee, GA 760 DME 1 in 30 miles 8 95.0 760 100.0 0 0.0 2.3 Troup, GA 208 DME 1 in 30 miles 7 29.7 208 100.0 0 0.0 3.3		Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance			
Houston, GA 429 DME 1 in 30 miles 9 47.7 429 100.0 0 0.0 4.6 Muscogee, GA 760 DME 1 in 30 miles 8 95.0 760 100.0 0 0.0 2.3 Troup, GA 208 DME 1 in 30 miles 7 29.7 208 100.0 0 0.0 3.3	County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Muscogee, GA 760 DME 1 in 30 miles 8 95.0 760 100.0 0 0.0 2.3 Troup, GA 208 DME 1 in 30 miles 7 29.7 208 100.0 0 0.0 3.3					16		458	100.0	0						
Troup, GA 208 DME 1 in 30 miles 7 29.7 208 100.0 0 0.0 3.3							429	100.0	0						
					8		760	100.0							
Grand Totals 1,855 DME 1 in 30 miles 40 46.4 1,855 100.0 0 0.0 2.9	Troup, GA	208	DME	1 in 30 miles	7	29.7	208	100.0	0	0.0	3.3	3.6			
	Grand Totals	1,855	DME	1 in 30 miles	40	46.4	1,855	100.0	0	0.0	2.9	3.4			

DME -Rural

October 26, 2022

Access Analysis DME- Rural

Member / Provider Groups
Rural Members (CENTRAL_RURAL)

County	Member #		ovider	Counts		ARPOL A		10000			
_				Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
		Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	DME	1 in 45 miles	1	151.0	151	100.0	0	0.0	3.1	9.4
Bleckley, GA	27	DME	1 in 45 miles	0		27	100.0	0	0.0	21.8	26.2
Chattahoochee, GA	30	DME	1 in 45 miles	0		30	100.0	0	0.0	11.8	11.8
Crawford, GA		DME	1 in 45 miles	0			100.0	0	0.0	15.1	15.2
Crisp, GA	74	DME	1 in 45 miles	20	3.7	74	100.0	0	0.0	1.7	1.7
Dodge, GA	58	DME	1 in 45 miles	1	58.0	58	100.0	0	0.0	5.3	22.7
Dooly, GA	76	DME	1 in 45 miles	0			100.0	0	0.0	8.0	8.0
Harris, GA	109	DME	1 in 45 miles	0		109	100.0	0	0.0	16.4	17.0
Heard, GA	36	DME	1 in 45 miles	0		36	100.0	0	0.0	17.1	17.1
Johnson, GA	36	DME	1 in 45 miles	0		36	100.0	0	0.0	17.1	18.4
Jones, GA	174	DME	1 in 45 miles	0		174	100.0	0	0.0	8.9	10.3
Lamar, GA	108	DME	1 in 45 miles	0		108	100.0	0	0.0	11.5	11.9
Laurens, GA	212	DME	1 in 45 miles	4	53.0	212	100.0	0	0.0	4.4	5.0
Macon, GA	44	DME	1 in 45 miles	12	3.7	44	100.0	0	0.0	7.2	7.9
Marion, GA	21	DME	1 in 45 miles	0		21	100.0	0	0.0	10.5	11.3
Meriwether, GA	68	DME	1 in 45 miles	0		68	100.0	0	0.0	17.4	18.2
Monroe, GA		DME	1 in 45 miles	6	17.5	105	100.0	0	0.0	4.3	4.6
Peach, GA	137	DME	1 in 45 miles	0		137	100.0	0	0.0	10.8	10.8
Pike, GA	71	DME	1 in 45 miles	0		71	100.0	0	0.0	10.0	10.9
Pulaski, GA		DME	1 in 45 miles	0			100.0	0	0.0	21.4	28.5
Talbot, GA		DME	1 in 45 miles	0		8	100.0	0	0.0	19.7	20.8
Taylor, GA		DME	1 in 45 miles	1	44.0	44	100.0	0	0.0	5.3	16.5
Telfair, GA		DME	1 in 45 miles	0			100.0	0	0.0	21.8	23.9
Treutlen, GA		DME	1 in 45 miles	0			100.0	0	0.0	9.2	10.9
Twiggs, GA		DME	1 in 45 miles	0		55	100.0	0	0.0	8.6	8.9
Upson, GA		DME	1 in 45 miles	14	9.4	131	100.0	0	0.0	2.5	2.9
Wheeler, GA		DME	1 in 45 miles	0			100.0	0	0.0	14.2	14.4
Wilcox, GA		DME	1 in 45 miles	0		25	100.0	0	0.0	12.9	16.4
Wilkinson, GA		DME	1 in 45 miles	0			100.0	0	0.0	18.0	22.2
		J	1000						0.0		
Grand Totals	2,081	DME	1 in 45 miles	59	35.3	2,081	100.0	0	0.0	9.7	11.8

FQHCs AND RHCs - Urban

October 26, 2022

Access Analysis
FQHCs and RHCs- Urban
Member / Provider Groups
Urban Members (CENTRAL_URBAN)
FQHCs and RHCs

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Р	rovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA		FQHCs and RHCs	1 in 30 miles	5			100.0		0.0	4.1	4.6		
Houston, GA		FQHCs and RHCs	1 in 30 miles	5	85.8		100.0	0	0.0	4.9			
Muscogee, GA		FQHCs and RHCs	1 in 30 miles	2	380.0		100.0		0.0				
Troup, GA	208	FQHCs and RHCs	1 in 30 miles	0		208	100.0	0	0.0	19.0	27.5		
Grand Totals	1,855	FQHCs and RHCs	1 in 30 miles	12	154.6	1,855	100.0	0	0.0	6.9	8.4		

FQHCs AND RHCs - Rural

October 26, 2022

Access Analysis
FQHCs and RHCs- Rural
Member / Provider Groups
Rural Members (CENTRAL_RURAL)
FQHCs and RHCs

Members With and Without Access Member Provider Counts Retig Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA		FQHCs and RHCs	1 in 45 miles	3	50.3	151	100.0	0	0.0	2.7	3.3	
Bleckley, GA	27	FQHCs and RHCs	1 in 45 miles	2	13.5	27	100.0	0	0.0	4.7	5.4	
Chattahoochee, GA	30	FQHCs and RHCs	1 in 45 miles	1	30.0	30	100.0	0	0.0	1.7	15.1	
Crawford, GA	52	FQHCs and RHCs	1 in 45 miles	1	52.0	52	100.0	0	0.0	4.4	15.7	
Crisp, GA	74	FQHCs and RHCs	1 in 45 miles	6	12.3	74	100.0	0	0.0	1.4	1.7	
Dodge, GA	58	FQHCs and RHCs	1 in 45 miles	1	58.0	58	100.0	0	0.0	7.0	19.6	
Dooly, GA	76	FQHCs and RHCs	1 in 45 miles	3	25.3	76	100.0	0	0.0	0.6	7.5	
Harris, GA	109	FQHCs and RHCs	1 in 45 miles	0		109	100.0	0	0.0	20.3	24.2	
Heard, GA	36	FQHCs and RHCs	1 in 45 miles	0		36	100.0	0	0.0	20.6	22.0	
Johnson, GA	36	FQHCs and RHCs	1 in 45 miles	1	36.0	36	100.0	0	0.0	7.7	17.1	
Jones, GA	174	FQHCs and RHCs	1 in 45 miles	0		174	100.0	0	0.0	11.8	12.8	
Lamar, GA	108	FQHCs and RHCs	1 in 45 miles	3	36.0	108	100.0	0	0.0	3.3	3.3	
Laurens, GA	212	FQHCs and RHCs	1 in 45 miles	4	53.0	212	100.0	0	0.0	5.3	5.5	
Macon, GA	44	FQHCs and RHCs	1 in 45 miles	3	14.7	44	100.0	0	0.0	3.9	5.4	
Marion, GA	21	FQHCs and RHCs	1 in 45 miles	1	21.0	21	100.0	0	0.0	5.6	15.4	
Meriwether, GA	68	FQHCs and RHCs	1 in 45 miles	2	34.0	68	100.0	0	0.0	2.6	12.7	
Monroe, GA	105	FQHCs and RHCs	1 in 45 miles	1	105.0	105	100.0	0	0.0	5.1	13.9	
Peach, GA	137	FQHCs and RHCs	1 in 45 miles	1	137.0	137	100.0	0	0.0	3.4	10.5	
Pike, GA	71	FQHCs and RHCs	1 in 45 miles	1	71.0	71	100.0	0	0.0	5.9	11.4	
Pulaski, GA	44	FQHCs and RHCs	1 in 45 miles	3	14.7	44	100.0	0	0.0	2.9	2.9	
Talbot, GA	8	FQHCs and RHCs	1 in 45 miles	0		8	100.0	0	0.0	18.6	21.2	
Taylor, GA		FQHCs and RHCs	1 in 45 miles	1	44.0	44	100.0	0	0.0	4.8	19.4	
Telfair, GA	92	FQHCs and RHCs	1 in 45 miles	2	46.0	92	100.0	0	0.0	2.8	2.8	
Treutlen, GA	22	FQHCs and RHCs	1 in 45 miles	1	22.0	22	100.0	0	0.0	2.3	14.4	
Twiggs, GA	55	FQHCs and RHCs	1 in 45 miles	5			100.0	0	0.0	6.3	6.7	
Upson, GA	131	FQHCs and RHCs	1 in 45 miles	2	65.5		100.0	0	0.0	2.9	4.0	
Wheeler, GA	11	FQHCs and RHCs	1 in 45 miles	1	11.0		100.0	0	0.0	8.6	11.7	
Wilcox, GA		FQHCs and RHCs	1 in 45 miles	2			100.0	0	0.0	6.8		
Wilkinson, GA		FQHCs and RHCs	1 in 45 miles	1	60.0		100.0	0	0.0	9.5	16.9	
Grand Totals	2,081	FQHCs and RHCs	1 in 45 miles	52	40.0	2,081	100.0	0	0.0	6.0	9.9	
	L		1									

Home Health Infusion Services -Urban

October 26, 2022

Access Analysis

Home Health and Infusion Services-Urban

Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Home Health and Infusion Services

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance			
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2			
Bibb, GA		Home Health and Infu	1 in 30 miles	15	30.5		100.0	0	0.0	2.2	2.9			
Houston, GA		Home Health and Infu	1 in 30 miles	0		429	100.0	0	0.0	18.7				
Muscogee, GA		Home Health and Infu	1 in 30 miles	16			100.0		0.0	1.2				
Troup, GA	208	Home Health and Infu	1 in 30 miles	2	104.0	208	100.0	0	0.0	6.7	6.7			
Grand Totals	1,855	Home Health and Infu	1 in 30 miles	33	56.2	1,855	100.0	0	0.0	6.1	6.9			

Home Health Infusion Services- Rural

October 26, 2022

Access Analysis

Home Health and Infusion Services-

Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Home Health and Infusion Services

	Members With and Without Access Member Provider Counts Retig Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	151	Home Health and Infu	1 in 45 miles	4	37.8	151	100.0	0	0.0	1.9	3.9		
Bleckley, GA	27	Home Health and Infu	1 in 45 miles	0		27	100.0	0	0.0	16.8	28.7		
Chattahoochee, GA	30	Home Health and Infu	1 in 45 miles	0		30	100.0	0	0.0	11.6	17.3		
Crawford, GA	52	Home Health and Infu	1 in 45 miles	0		52	100.0	0	0.0	18.1	22.3		
Crisp, GA	74	Home Health and Infu	1 in 45 miles	6	12.3	74	100.0	0	0.0	2.3	2.4		
Dodge, GA	58	Home Health and Infu	1 in 45 miles	0		58	100.0	0	0.0	19.8	24.8		
Dooly, GA	76	Home Health and Infu	1 in 45 miles	0		76	100.0	0	0.0	7.9	7.9		
Harris, GA	109	Home Health and Infu	1 in 45 miles	1	109.0	109	100.0	0	0.0	8.8	12.8		
Heard, GA	36	Home Health and Infu	1 in 45 miles	0		36	100.0	0	0.0	18.7	18.7		
Johnson, GA	36	Home Health and Infu	1 in 45 miles	0		36	100.0	0	0.0	16.9	18.7		
Jones, GA	174	Home Health and Infu	1 in 45 miles	1	174.0	174	100.0	0	0.0	4.2	7.9		
Lamar, GA	108	Home Health and Infu	1 in 45 miles	0		108	100.0	0	0.0	14.5	15.3		
Laurens, GA	212	Home Health and Infu	1 in 45 miles	3	70.7	212	100.0	0	0.0	4.4	4.4		
Macon, GA	44	Home Health and Infu	1 in 45 miles	9	4.9	44	100.0	0	0.0	7.9	8.4		
Marion, GA	21	Home Health and Infu	1 in 45 miles	0		21	100.0	0	0.0	10.9	11.5		
Meriwether, GA	68	Home Health and Infu	1 in 45 miles	0		68	100.0	0	0.0	13.8	19.7		
Monroe, GA	105	Home Health and Infu	1 in 45 miles	1	105.0	105	100.0	0	0.0	10.9	13.0		
Peach, GA	137	Home Health and Infu	1 in 45 miles	0		137	100.0	0	0.0	21.5	25.3		
Pike, GA	71	Home Health and Infu	1 in 45 miles	0		71	100.0	0	0.0	10.4	12.4		
Pulaski, GA	44	Home Health and Infu	1 in 45 miles	1	44.0	44	100.0	0	0.0	1.9	34.2		
Talbot, GA	8	Home Health and Infu	1 in 45 miles	2	4.0	8	100.0	0	0.0	11.7	17.0		
Taylor, GA	44	Home Health and Infu	1 in 45 miles	0		44	100.0	0	0.0	19.7	20.3		
Telfair, GA	92	Home Health and Infu	1 in 45 miles	0		92	100.0	0	0.0	24.4	25.0		
Treutlen, GA	22	Home Health and Infu	1 in 45 miles	0		22	100.0	0	0.0	15.6	16.8		
Twiggs, GA	55	Home Health and Infu	1 in 45 miles	0		55	100.0	0	0.0	9.8	9.9		
Upson, GA	131	Home Health and Infu	1 in 45 miles	1	131.0	131	100.0	0	0.0	3.6	20.7		
Wheeler, GA	11	Home Health and Infu	1 in 45 miles	0		11	100.0	0	0.0	16.8	17.5		
Wilcox, GA	25	Home Health and Infu	1 in 45 miles	0		25	100.0	0	0.0	12.8	13.2		
Wilkinson, GA	60	Home Health and Infu	1 in 45 miles	0		60	100.0	0	0.0	14.2	17.7		
Grand Totals	2,081	Home Health and Infu	1 in 45 miles	29	71.8	2,081	100.0	0	0.0	10.5	14.3		
0.0000.00 1.4 1.5 11.0	L												

Hospitals - Urban

October 26, 2022

Access Analysis Hospitals- Urban

Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Hospitals

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance													
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA	458	Hospitals	1 in 30 miles	6	76.3	458	100.0	0	0.0	2.8	4.3		
Houston, GA		Hospitals	1 in 30 miles	4	107.3	429	100.0	0	0.0	4.2			
Muscogee, GA		Hospitals	1 in 30 miles	3			100.0		0.0				
Troup, GA	208	Hospitals	1 in 30 miles	1	208.0	208	100.0	0	0.0	5.4	27.1		
Grand Totals	1,855	Hospitals	1 in 30 miles	14	132.5	1,855	100.0	0	0.0	3.2	7.3		
© 2022 Quest Analytics II C													

Hospitals - Rural

October 26, 2022

Access Analysis
Hospitals- Rural

Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Hospitals

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0	21.1	26.7
Bleckley, GA	27	Hospitals	1 in 45 miles	1	27.0	27	100.0	0	0.0	5.0	15.5
Chattahoochee, GA	30	Hospitals	1 in 45 miles	0		30	100.0	0	0.0	22.7	23.0
Crawford, GA	52	Hospitals	1 in 45 miles	0		52	100.0	0	0.0	18.2	18.4
Crisp, GA	74	Hospitals	1 in 45 miles	1	74.0	74	100.0	0	0.0	2.4	30.5
Dodge, GA	58	Hospitals	1 in 45 miles	1	58.0	58	100.0	0	0.0	7.0	21.4
Dooly, GA	76	Hospitals	1 in 45 miles	0		76	100.0	0	0.0	8.1	27.0
Harris, GA	109	Hospitals	1 in 45 miles	0		109	100.0	0	0.0	14.6	18.5
Heard, GA	36	Hospitals	1 in 45 miles	0		36	100.0	0	0.0	17.5	23.2
Johnson, GA	36	Hospitals	1 in 45 miles	0		36	100.0	0	0.0	18.6	23.7
Jones, GA	174	Hospitals	1 in 45 miles	0		174	100.0	0	0.0	12.3	13.0
Lamar, GA		Hospitals	1 in 45 miles	1	108.0	108	100.0	0	0.0	3.4	13.2
Laurens, GA	212	Hospitals	1 in 45 miles	1	212.0	212	100.0	0	0.0	5.4	30.0
Macon, GA		Hospitals	1 in 45 miles	1	44.0	44	100.0	0	0.0	5.2	23.9
Marion, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0	27.6	30.3
Meriwether, GA		Hospitals	1 in 45 miles	3	22.7		100.0	0	0.0	10.8	11.5
Monroe, GA		Hospitals	1 in 45 miles	1	105.0	105	100.0	0	0.0	4.5	14.3
Peach, GA		Hospitals	1 in 45 miles	2				0	0.0	8.6	8.6
Pike, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0	11.2	15.2
Pulaski, GA		Hospitals	1 in 45 miles	1	44.0		100.0	0	0.0	2.7	13.8
Talbot, GA		Hospitals	1 in 45 miles	0		8	100.0	0	0.0	20.3	21.5
Taylor, GA		Hospitals	1 in 45 miles	0		44	100.0	0	0.0	24.5	27.6
Telfair, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0	22.4	26.8
Treutlen, GA		Hospitals	1 in 45 miles	0		22	100.0	0	0.0	22.7	27.4
Twiggs, GA		Hospitals	1 in 45 miles	0				0	0.0	8.9	9.8
Upson, GA		Hospitals	1 in 45 miles	1	131.0		100.0	0	0.0	3.7	17.3
Wheeler, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0	20.8	25.8
Wilcox, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0	19.0	22.4
Wilkinson, GA		Hospitals	1 in 45 miles	0			100.0	0	0.0	24.0	24.4
Grand Totals	2,081	Hospitals	1 in 45 miles	14	148.6	2,081	100.0	0	0.0	11.4	20.1

Outpatient Laboratory Services - Urban

October 26, 2022

Access Analysis
Outpatient Laboratory Services- Urban
Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Outpatient Laboratory Services

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA	458	Outpatient Laboratory	1 in 30 miles	8	57.3	458	100.0	0	0.0	4.2	4.3	
Houston, GA		Outpatient Laboratory	1 in 30 miles	21		429	100.0	0				
Muscogee, GA		Outpatient Laboratory	1 in 30 miles	20			100.0					
Troup, GA	208	Outpatient Laboratory	1 in 30 miles	13	16.0	208	100.0	0	0.0	3.8	5.2	
Grand Totals	1,855	Outpatient Laboratory	1 in 30 miles	62	29.9	1,855	100.0	0	0.0	3.6	3.8	
		_										
© 2022 Quest Analytics, LLC.												

Outpatient Laboratory Services - Rural

October 26, 2022

Access Analysis
Outpatient Laboratory Services- Rural
Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Outpatient Laboratory Services

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	Outpatient Laboratory	1 in 45 miles	8	18.9	151	100.0	0	0.0	2.8	3.1
Bleckley, GA	27	Outpatient Laboratory	1 in 45 miles	0		27	100.0	0	0.0	20.8	20.8
Chattahoochee, GA	30	Outpatient Laboratory	1 in 45 miles	0		30	100.0	0	0.0	11.8	13.5
Crawford, GA	52	Outpatient Laboratory	1 in 45 miles	0		52	100.0	0	0.0	21.9	21.9
Crisp, GA	74	Outpatient Laboratory	1 in 45 miles	0		74	100.0	0	0.0	20.7	30.0
Dodge, GA	58	Outpatient Laboratory	1 in 45 miles	2	29.0	58	100.0	0	0.0	6.8	6.9
Dooly, GA	76	Outpatient Laboratory	1 in 45 miles	1	76.0	76	100.0	0	0.0	11.8	25.4
Harris, GA	109	Outpatient Laboratory	1 in 45 miles	0		109	100.0	0	0.0	13.3	15.8
Heard, GA	36	Outpatient Laboratory	1 in 45 miles	0		36	100.0	0	0.0	16.9	17.1
Johnson, GA	36	Outpatient Laboratory	1 in 45 miles	0		36	100.0	0	0.0	15.4	18.9
Jones, GA	174	Outpatient Laboratory	1 in 45 miles	0		174	100.0	0	0.0	13.3	13.8
Lamar, GA	108	Outpatient Laboratory	1 in 45 miles	0		108	100.0	0	0.0	14.6	14.7
Laurens, GA	212	Outpatient Laboratory	1 in 45 miles	6	35.3	212	100.0	0	0.0	4.1	5.1
Macon, GA	44	Outpatient Laboratory	1 in 45 miles	1	44.0	44	100.0	0	0.0	10.0	11.9
Marion, GA	21	Outpatient Laboratory	1 in 45 miles	0		21	100.0	0	0.0	10.8	14.1
Meriwether, GA	68	Outpatient Laboratory	1 in 45 miles	0		68	100.0	0	0.0	18.6	19.6
Monroe, GA	105	Outpatient Laboratory	1 in 45 miles	0		105	100.0	0	0.0	15.8	18.0
Peach, GA	137	Outpatient Laboratory	1 in 45 miles	0		137	100.0	0	0.0	13.5	13.5
Pike, GA	71	Outpatient Laboratory	1 in 45 miles	0		71	100.0	0	0.0	12.2	12.4
Pulaski, GA	44	Outpatient Laboratory	1 in 45 miles	0		44	100.0	0	0.0	17.1	20.8
Talbot, GA	8	Outpatient Laboratory	1 in 45 miles	0		8	100.0	0	0.0	20.3	20.6
Taylor, GA	44	Outpatient Laboratory	1 in 45 miles	0		44	100.0	0	0.0	20.1	23.7
Telfair, GA	92	Outpatient Laboratory	1 in 45 miles	0		92	100.0	0	0.0	22.4	22.5
Treutlen, GA	22	Outpatient Laboratory	1 in 45 miles	0		22	100.0	0	0.0	18.3	22.3
Twiggs, GA	55	Outpatient Laboratory	1 in 45 miles	0		55	100.0	0	0.0	10.2	10.2
Upson, GA	131	Outpatient Laboratory	1 in 45 miles	6	21.8	131	100.0	0	0.0	3.8	3.8
Wheeler, GA	11	Outpatient Laboratory	1 in 45 miles	0		11	100.0	0	0.0	20.1	20.7
Wilcox, GA	25	Outpatient Laboratory	1 in 45 miles	0		25	100.0	0	0.0	21.6	22.5
Wilkinson, GA	60	Outpatient Laboratory	1 in 45 miles	0		60	100.0	0	0.0	18.2	18.9
Grand Totals	2,081	Outpatient Laboratory	1 in 45 miles	24	86.7	2,081	100.0	0	0.0	12.6	14.2

Obstetrics/Gynecology -Urban

October 26, 2022

Access Analysis
Obstetrics/Gynecology- Urban

Member / Provider Groups Female Urban Members (CENTRAL_URBAN) Obstetrics/Gynecology

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	97	Obstetrics/Gynecology	2 in 30 miles	111	0.9		100.0	0	0.0	2.3	2.6
Houston, GA		Obstetrics/Gynecology	2 in 30 miles	46		95	100.0	0	0.0	1.8	
Muscogee, GA		Obstetrics/Gynecology	2 in 30 miles	136			100.0	0	0.0	1.7	
Troup, GA	28	Obstetrics/Gynecology	2 in 30 miles	26	1.1	28	100.0	0	0.0	3.2	3.5
Grand Totals	336	Obstetrics/Gynecology	2 in 30 miles	319	1.1	336	100.0	0	0.0	2.0	2.2
© 2022 Quaet Analytics II C											

Obstetrics/Gynecology - Rural

October 26, 2022

Access Analysis
Obstetrics/Gynecology- Rural
Member / Provider Groups
Female Rural Members
(CENTRAL_RURAL)
Obstetrics/Gynecology

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	29	Obstetrics/Gynecology	2 in 45 miles	17	1.7	29	100.0	0	0.0	2.1	2.6
Bleckley, GA	4	Obstetrics/Gynecology	2 in 45 miles	1	4.0	4	100.0	0	0.0	3.8	13.9
Chattahoochee, GA	3	Obstetrics/Gynecology	2 in 45 miles	1	3.0	3	100.0	0	0.0	13.1	16.4
Crawford, GA	8	Obstetrics/Gynecology	2 in 45 miles	0		8	100.0	0	0.0	15.4	18.7
Crisp, GA	8	Obstetrics/Gynecology	2 in 45 miles	17	0.5	8	100.0	0	0.0	3.5	3.6
Dodge, GA	2	Obstetrics/Gynecology	2 in 45 miles	6	0.3	2	100.0	0	0.0	4.7	4.7
Dooly, GA	6	Obstetrics/Gynecology	2 in 45 miles	1	6.0	6	100.0	0	0.0	6.7	8.6
Harris, GA	22	Obstetrics/Gynecology	2 in 45 miles	0		22	100.0	0	0.0	12.3	12.3
Heard, GA	9	Obstetrics/Gynecology	2 in 45 miles	0		9	100.0	0	0.0	18.1	18.1
Johnson, GA	5	Obstetrics/Gynecology	2 in 45 miles	2	2.5	5	100.0	0	0.0	4.2	4.4
Jones, GA	28	Obstetrics/Gynecology	2 in 45 miles	1	28.0	28	100.0	0	0.0	4.4	8.8
Lamar, GA	16	Obstetrics/Gynecology	2 in 45 miles	12	1.3	16	100.0	0	0.0	5.0	5.2
Laurens, GA	49	Obstetrics/Gynecology	2 in 45 miles	23	2.1	49	100.0	0	0.0	4.1	4.5
Macon, GA	9	Obstetrics/Gynecology	2 in 45 miles	2	4.5	9	100.0	0	0.0	5.0	5.3
Marion, GA	2	Obstetrics/Gynecology	2 in 45 miles	3	0.7	2	100.0	0	0.0	9.7	9.7
Meriwether, GA	11	Obstetrics/Gynecology	2 in 45 miles	12	0.9	11	100.0	0	0.0	2.3	3.5
Monroe, GA	15	Obstetrics/Gynecology	2 in 45 miles	11	1.4	15	100.0	0	0.0	2.7	2.9
Peach, GA	37	Obstetrics/Gynecology	2 in 45 miles	2	18.5	37	100.0	0	0.0	3.4	8.0
Pike, GA	14	Obstetrics/Gynecology	2 in 45 miles	1	14.0	14	100.0	0	0.0	8.0	11.1
Pulaski, GA	3	Obstetrics/Gynecology	2 in 45 miles	6	0.5	3	100.0	0	0.0	0.9	2.0
Taylor, GA	9	Obstetrics/Gynecology	2 in 45 miles	5	1.8	9	100.0	0	0.0	4.6	4.6
Telfair, GA	7	Obstetrics/Gynecology	2 in 45 miles	0		7	100.0	0	0.0	22.7	22.7
Treutlen, GA	3	Obstetrics/Gynecology	2 in 45 miles	0		3	100.0	0	0.0	19.7	20.4
Twiggs, GA	19	Obstetrics/Gynecology	2 in 45 miles	5	3.8	19	100.0	0	0.0	3.7	4.3
Upson, GA	14	Obstetrics/Gynecology	2 in 45 miles	31	0.5	14	100.0	0	0.0	2.3	2.5
Wheeler, GA	3	Obstetrics/Gynecology	2 in 45 miles	0		3	100.0	0	0.0	17.4	17.8
Wilcox, GA	5	Obstetrics/Gynecology	2 in 45 miles	3	1.7	5	100.0	0	0.0	5.8	5.9
Wilkinson, GA	10	Obstetrics/Gynecology	2 in 45 miles	2	5.0	10	100.0	0	0.0	2.8	11.2
Grand Totals	350	Obstetrics/Gynecology	2 in 45 miles	164	2.1	350	100.0	0	0.0	5.8	7.4
© 2022 Quaet Analytics II C											

Pediatric Allergy/Immunology -Urban

October 26, 2022

Access Analysis
Pediatric Allergy/Immunology- Urban
Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Allergy/Immunology

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance										
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Pediatric_Allergy/Imm	1 in 30 miles	30			100.0		0.0	1.8	2.2
Houston, GA		Pediatric_Allergy/Imm	1 in 30 miles	11			100.0	0	0.0	4.2	
Muscogee, GA		Pediatric_Allergy/Imm	1 in 30 miles	9			100.0		0.0	1.7	
Troup, GA	191	Pediatric_Allergy/Imm	1 in 30 miles	4	47.8	191	100.0	0	0.0	3.9	4.4
Grand Totals	1,675	Pediatric_Allergy/Imm	1 in 30 miles	54	31.0	1,675	100.0	0	0.0	2.5	4.0
© 2022 Quest Analytics II C											

Pediatric Allergy/Immunology - Rural

October 26, 2022

Access Analysis
Pediatric Allergy/Immunology- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Allergy/Immunology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	141	Pediatric_Allergy/Imm	1 in 45 miles	17	8.3	141	100.0	0	0.0	1.4	2.5
Bleckley, GA	25	Pediatric_Allergy/Imm	1 in 45 miles	0		25	100.0	0	0.0	17.8	21.3
Chattahoochee, GA	29	Pediatric_Allergy/Imm	1 in 45 miles	0		29	100.0	0	0.0	15.4	17.2
Crawford, GA	49	Pediatric_Allergy/Imm	1 in 45 miles	0		49	100.0	0	0.0	14.5	18.7
Crisp, GA	71	Pediatric_Allergy/Imm	1 in 45 miles	3	23.7	71	100.0	0	0.0	2.5	2.6
Dodge, GA		Pediatric_Allergy/Imm	1 in 45 miles	1	57.0	57	100.0	0	0.0	6.6	27.1
Dooly, GA	76	Pediatric_Allergy/Imm	1 in 45 miles	1	76.0	76	100.0	0	0.0	7.4	7.9
Harris, GA		Pediatric_Allergy/Imm	1 in 45 miles	0		104	100.0	0	0.0	14.5	15.5
Heard, GA	33	Pediatric_Allergy/Imm	1 in 45 miles	0		33	100.0	0	0.0	17.2	17.8
Johnson, GA	36	Pediatric_Allergy/Imm	1 in 45 miles	2	18.0	36	100.0	0	0.0	8.0	8.4
Jones, GA	168	Pediatric_Allergy/Imm	1 in 45 miles	2	84.0	168	100.0	0	0.0	4.7	5.2
Lamar, GA	102	Pediatric_Allergy/Imm	1 in 45 miles	0		102	100.0	0	0.0	9.3	12.9
Laurens, GA	194	Pediatric_Allergy/Imm	1 in 45 miles	9	21.6	194	100.0	0	0.0	3.9	4.2
Macon, GA	41	Pediatric_Allergy/Imm	1 in 45 miles	1	41.0	41	100.0	0	0.0	5.1	20.4
Marion, GA	20	Pediatric_Allergy/Imm	1 in 45 miles	1	20.0	20	100.0	0	0.0	6.6	17.0
Meriwether, GA	65	Pediatric_Allergy/Imm	1 in 45 miles	10	6.5	65	100.0	0	0.0	2.0	2.6
Monroe, GA	100	Pediatric_Allergy/Imm	1 in 45 miles	7	14.3	100	100.0	0	0.0	3.4	4.0
Peach, GA	122	Pediatric_Allergy/Imm	1 in 45 miles	1	122.0	122	100.0	0	0.0	4.2	11.3
Pike, GA	68	Pediatric_Allergy/Imm	1 in 45 miles	1	68.0	68	100.0	0	0.0	6.9	11.4
Pulaski, GA	42	Pediatric_Allergy/Imm	1 in 45 miles	0		42	100.0	0	0.0	20.5	22.2
Talbot, GA	8	Pediatric_Allergy/Imm	1 in 45 miles	0		8	100.0	0	0.0	14.3	18.9
Taylor, GA	42	Pediatric_Allergy/Imm	1 in 45 miles	0		42	100.0	0	0.0	19.4	23.9
Telfair, GA	88	Pediatric_Allergy/Imm	1 in 45 miles	0		88	100.0	0	0.0	22.2	24.9
Treutlen, GA	20	Pediatric_Allergy/Imm	1 in 45 miles	0		20	100.0	0	0.0	19.7	20.3
Twiggs, GA	46	Pediatric_Allergy/Imm	1 in 45 miles	2	23.0	46	100.0	0	0.0	6.6	9.7
Upson, GA	124	Pediatric_Allergy/Imm	1 in 45 miles	6	20.7	124	100.0	0	0.0	3.5	3.7
Wheeler, GA	11	Pediatric_Allergy/Imm	1 in 45 miles	0		11	100.0	0	0.0	19.0	19.3
Wilcox, GA	25	Pediatric_Allergy/Imm	1 in 45 miles	0		25	100.0	0	0.0	17.4	18.2
Wilkinson, GA	54	Pediatric_Allergy/Imm	1 in 45 miles	2	27.0	54	100.0	0	0.0	2.0	12.7
Grand Totals	1,961	Pediatric_Allergy/Imm	1 in 45 miles	66	29.7	1,961	100.0	0	0.0	7.8	10.7

Pediatric Cardiology- Urban

October 26, 2022

Access Analysis
Pediatric Cardiology- Urban
Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Cardiology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ad	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Pediatric_Cardiology	1 in 30 miles	145	2.8		100.0			1.9	2.0
Houston, GA		Pediatric_Cardiology	1 in 30 miles	51	7.8	396	100.0	0			4.2
Muscogee, GA		Pediatric_Cardiology	1 in 30 miles	98		688	100.0	0		1.3	1.9
Troup, GA	191	Pediatric_Cardiology	1 in 30 miles	33	5.8	191	100.0	0	0.0	3.6	3.8
Grand Totals		Pediatric_Cardiology	1 in 30 miles	327			100.0				2.7

Pediatric Cardiology - Rural

October 26, 2022

Access Analysis
Pediatric Cardiology- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Cardiology

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	141	Pediatric_Cardiology	1 in 45 miles	31	4.5	141	100.0	0	0.0	1.4	2.4
Bleckley, GA	25	Pediatric_Cardiology	1 in 45 miles	3	8.3	25	100.0	0	0.0	5.0	5.4
Chattahoochee, GA	29	Pediatric_Cardiology	1 in 45 miles	0		29	100.0	0	0.0	15.4	16.1
Crawford, GA	49	Pediatric_Cardiology	1 in 45 miles	0		49	100.0	0	0.0	15.0	15.0
Crisp, GA	71	Pediatric_Cardiology	1 in 45 miles	13	5.5	71	100.0	0	0.0	2.3	2.4
Dodge, GA		Pediatric_Cardiology	1 in 45 miles	8	7.1	57	100.0	0	0.0	6.1	6.4
Dooly, GA	76	Pediatric_Cardiology	1 in 45 miles	1	76.0	76	100.0	0	0.0	7.4	7.9
Harris, GA	104	Pediatric_Cardiology	1 in 45 miles	0		104	100.0	0	0.0	13.5	14.0
Heard, GA	33	Pediatric_Cardiology	1 in 45 miles	0		33	100.0	0	0.0	16.3	16.4
Johnson, GA	36	Pediatric_Cardiology	1 in 45 miles	2	18.0	36	100.0	0	0.0	7.8	8.1
Jones, GA	168	Pediatric_Cardiology	1 in 45 miles	1	168.0	168	100.0	0	0.0	4.7	11.0
Lamar, GA	102	Pediatric_Cardiology	1 in 45 miles	0		102	100.0	0	0.0	9.3	12.8
Laurens, GA	194	Pediatric_Cardiology	1 in 45 miles	30	6.5	194	100.0	0	0.0	3.4	3.6
Macon, GA	41	Pediatric_Cardiology	1 in 45 miles	7	5.9	41	100.0	0	0.0	4.1	4.1
Marion, GA	20	Pediatric_Cardiology	1 in 45 miles	2	10.0	20	100.0	0	0.0	6.5	6.7
Meriwether, GA	65	Pediatric_Cardiology	1 in 45 miles	12	5.4	65	100.0	0	0.0	1.9	2.4
Monroe, GA	100	Pediatric_Cardiology	1 in 45 miles	14	7.1	100	100.0	0	0.0	2.9	3.4
Peach, GA	122	Pediatric_Cardiology	1 in 45 miles	14	8.7	122	100.0	0	0.0	2.9	3.0
Pike, GA	68	Pediatric_Cardiology	1 in 45 miles	1	68.0	68	100.0	0	0.0	6.6	10.8
Pulaski, GA	42	Pediatric_Cardiology	1 in 45 miles	12	3.5	42	100.0	0	0.0	2.8	2.8
Talbot, GA	8	Pediatric_Cardiology	1 in 45 miles	0		8	100.0	0	0.0	13.7	14.3
Taylor, GA	42	Pediatric_Cardiology	1 in 45 miles	1	42.0	42	100.0	0	0.0	4.6	19.1
Telfair, GA	88	Pediatric_Cardiology	1 in 45 miles	3	29.3	88	100.0	0	0.0	2.0	6.2
Treutlen, GA	20	Pediatric_Cardiology	1 in 45 miles	0		20	100.0	0	0.0	19.5	19.5
Twiggs, GA	46	Pediatric_Cardiology	1 in 45 miles	2	23.0	46	100.0	0	0.0	6.4	9.1
Upson, GA	124	Pediatric_Cardiology	1 in 45 miles	32	3.9	124	100.0	0	0.0	2.7	3.1
Wheeler, GA	11	Pediatric_Cardiology	1 in 45 miles	0		11	100.0	0	0.0	14.7	14.8
Wilcox, GA	25	Pediatric_Cardiology	1 in 45 miles	0		25	100.0	0	0.0	17.1	17.8
Wilkinson, GA	54	Pediatric_Cardiology	1 in 45 miles	2	27.0	54	100.0	0	0.0	2.0	12.7
Grand Totals	1,961	Pediatric_Cardiology	1 in 45 miles	191	10.3	1,961	100.0	0	0.0	5.6	7.6
				<u> </u>							

Pediatric Dermatology -Urban

October 26, 2022

Access Analysis
Pediatric Dermatology- Urban
Member / Provider Groups
Pediatric Urban Members

(CENTRAL_URBAN)
Pediatric_Dermatology

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	400	Pediatric_Dermatology	1 in 30 miles	5	80.0	400	100.0	0	0.0	4.1	4.2
Houston, GA		Pediatric_Dermatology	1 in 30 miles	8	49.5		100.0	0	0.0	5.4	
Muscogee, GA		Pediatric_Dermatology	1 in 30 miles	3	229.3		100.0		0.0	3.3	
Troup, GA	191	Pediatric_Dermatology	1 in 30 miles	3	63.7	191	100.0	0	0.0	5.3	5.3
Grand Totals	1,675	Pediatric_Dermatology	1 in 30 miles	19	88.2	1,675	100.0	0	0.0	4.2	5.3
© 2022 Quaet Analytics II C											

Pediatric Dermatology- Rural

October 26, 2022

Access Analysis
Pediatric Dermatology- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Dermatology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	141	Pediatric_Dermatology	1 in 45 miles	4	35.3	141	100.0	0	0.0	3.9	3.9
Bleckley, GA	25	Pediatric_Dermatology	1 in 45 miles	0		25	100.0	0	0.0	26.0	26.0
Chattahoochee, GA	29	Pediatric_Dermatology	1 in 45 miles	0		29	100.0	0	0.0	22.5	25.5
Crawford, GA	49	Pediatric_Dermatology	1 in 45 miles	0		49	100.0	0	0.0	19.7	19.9
Crisp, GA	71	Pediatric_Dermatology	1 in 45 miles	5	14.2	71	100.0	0	0.0	2.6	2.6
Dodge, GA	57	Pediatric_Dermatology	1 in 45 miles	0		57	100.0	0	0.0	33.0	33.0
Dooly, GA	76	Pediatric_Dermatology	1 in 45 miles	0		76	100.0	0	0.0	8.0	8.0
Harris, GA	104	Pediatric_Dermatology	1 in 45 miles	0		104	100.0	0	0.0	15.2	16.7
Heard, GA	33	Pediatric_Dermatology	1 in 45 miles	0		33	100.0	0	0.0	21.6	21.6
Johnson, GA	36	Pediatric_Dermatology	1 in 45 miles	0		36	100.0	0	0.0	21.4	22.7
Jones, GA	168	Pediatric_Dermatology	1 in 45 miles	0		168	100.0	0	0.0	14.3	14.3
Lamar, GA	102	Pediatric_Dermatology	1 in 45 miles	0		102	100.0	0	0.0	13.0	13.0
Laurens, GA	194	Pediatric_Dermatology	1 in 45 miles	8	24.3	194	100.0	0	0.0	4.1	5.2
Macon, GA	41	Pediatric_Dermatology	1 in 45 miles	0		41	100.0	0	0.0	23.8	24.1
Marion, GA	20	Pediatric_Dermatology	1 in 45 miles	0		20	100.0	0	0.0	29.3	29.9
Meriwether, GA	65	Pediatric_Dermatology	1 in 45 miles	1	65.0	65	100.0	0	0.0	11.2	19.0
Monroe, GA	100	Pediatric_Dermatology	1 in 45 miles	5	20.0	100	100.0	0	0.0	4.8	4.8
Peach, GA	122	Pediatric_Dermatology	1 in 45 miles	0		122	100.0	0	0.0	12.4	15.1
Pike, GA	68	Pediatric_Dermatology	1 in 45 miles	0		68	100.0	0	0.0	12.4	12.4
Pulaski, GA	42	Pediatric_Dermatology	1 in 45 miles	0		42	100.0	0	0.0	28.8	28.8
Talbot, GA		Pediatric_Dermatology	1 in 45 miles	0		8	100.0	0	0.0	20.6	21.8
Taylor, GA	42	Pediatric_Dermatology	1 in 45 miles	0		42	100.0	0	0.0	25.8	26.3
Telfair, GA	88	Pediatric_Dermatology	1 in 45 miles	0		88	100.0	0	0.0	33.0	33.3
Treutlen, GA		Pediatric_Dermatology	1 in 45 miles	0		20	100.0	0	0.0	20.1	28.3
Twiggs, GA	46	Pediatric_Dermatology	1 in 45 miles	0		46	100.0	0	0.0	11.2	11.2
Upson, GA	124	Pediatric_Dermatology	1 in 45 miles	4	31.0	124	100.0	0	0.0	3.5	3.5
Wheeler, GA		Pediatric_Dermatology	1 in 45 miles	0		11	100.0	0	0.0	20.9	31.3
Wilcox, GA	25	Pediatric_Dermatology	1 in 45 miles	0		25	100.0	0	0.0	24.7	24.7
Wilkinson, GA	54	Pediatric_Dermatology	1 in 45 miles	0		54	100.0	0	0.0	18.6	18.6
Grand Totals	1,961	Pediatric_Dermatology	1 in 45 miles	27	72.6	1,961	100.0	0	0.0	13.6	14.5
			•	•			•				

Pediatric Endocrinology -Urban

October 26, 2022

Access Analysis
Pediatric Endocrinology- Urban
Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatrio_Endocrinology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA		Pediatric_Endocrinology	1 in 30 miles	33	12.1		100.0	0	0.0	2.2	2.4	
Houston, GA		Pediatric_Endocrinology	1 in 30 miles	7		396	100.0	0	0.0	4.3		
Muscogee, GA		Pediatric_Endocrinology	1 in 30 miles	19			100.0		0.0	1.6		
Troup, GA	191	Pediatric_Endocrinology	1 in 30 miles	3	63.7	191	100.0	0	0.0	4.1	4.4	
Grand Totals	1,675	Pediatric_Endocrinology	1 in 30 miles	62	27.0	1,675	100.0	0	0.0	2.7	3.2	

Pediatric Endocrinology - Rural

October 26, 2022

Access Analysis
Pediatric Endocrinology- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Endocrinology

			Members With	and With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	141	Pediatric_Endocrinology	1 in 45 miles	13	10.8	141	100.0	0	0.0	1.4	2.5
Bleckley, GA	25	Pediatric_Endocrinology	1 in 45 miles	0		25	100.0	0	0.0	17.8	21.3
Chattahoochee, GA	29	Pediatric_Endocrinology	1 in 45 miles	0		29	100.0	0	0.0	15.4	17.2
Crawford, GA	49	Pediatric_Endocrinology	1 in 45 miles	0		49	100.0	0	0.0	15.1	19.2
Crisp, GA	71	Pediatric_Endocrinology	1 in 45 miles	1	71.0	71	100.0	0	0.0	2.7	16.6
Dodge, GA	57	Pediatric_Endocrinology	1 in 45 miles	1	57.0	57	100.0	0	0.0	6.6	27.1
Dooly, GA	76	Pediatric_Endocrinology	1 in 45 miles	1	76.0	76	100.0	0	0.0	7.4	8.1
Harris, GA	104	Pediatric_Endocrinology	1 in 45 miles	0		104	100.0	0	0.0	14.9	15.0
Heard, GA	33	Pediatric_Endocrinology	1 in 45 miles	0		33	100.0	0	0.0	19.2	19.8
Johnson, GA	36	Pediatric_Endocrinology	1 in 45 miles	2	18.0	36	100.0	0	0.0	8.0	8.4
Jones, GA	168	Pediatric_Endocrinology	1 in 45 miles	1	168.0	168	100.0	0	0.0	5.0	11.5
Lamar, GA	102	Pediatric_Endocrinology	1 in 45 miles	0		102	100.0	0	0.0	9.4	13.2
Laurens, GA	194	Pediatric_Endocrinology	1 in 45 miles	7	27.7	194	100.0	0	0.0	3.9	4.2
Macon, GA	41	Pediatric_Endocrinology	1 in 45 miles	1	41.0	41	100.0	0	0.0	5.1	20.4
Marion, GA	20	Pediatric_Endocrinology	1 in 45 miles	1	20.0	20	100.0	0	0.0	6.6	17.0
Meriwether, GA	65	Pediatric_Endocrinology	1 in 45 miles	10	6.5	65	100.0	0	0.0	2.0	2.6
Monroe, GA	100	Pediatric_Endocrinology	1 in 45 miles	6	16.7	100	100.0	0	0.0	3.4	4.1
Peach, GA	122	Pediatric_Endocrinology	1 in 45 miles	1	122.0	122	100.0	0	0.0	4.5	11.7
Pike, GA	68	Pediatric_Endocrinology	1 in 45 miles	1	68.0	68	100.0	0	0.0	6.9	11.4
Pulaski, GA		Pediatric_Endocrinology	1 in 45 miles	0		42	100.0	0	0.0	20.5	22.2
Talbot, GA	8	Pediatric_Endocrinology	1 in 45 miles	0		8	100.0	0	0.0	14.3	18.8
Taylor, GA	42	Pediatric_Endocrinology	1 in 45 miles	0		42	100.0	0	0.0	19.4	23.9
Telfair, GA		Pediatric_Endocrinology	1 in 45 miles	0			100.0	0	0.0	22.2	24.9
Treutlen, GA	20	Pediatric_Endocrinology	1 in 45 miles	0		20	100.0	0	0.0	19.7	20.3
Twiggs, GA		Pediatric_Endocrinology	1 in 45 miles	2	23.0			0	0.0	6.7	9.7
Upson, GA	124	Pediatric_Endocrinology	1 in 45 miles	6	20.7		100.0	0	0.0	3.5	3.7
Wheeler, GA		Pediatric_Endocrinology	1 in 45 miles	0			100.0	0	0.0	19.0	19.3
Wilcox, GA		Pediatric_Endocrinology	1 in 45 miles	0				0	0.0	17.4	19.9
Wilkinson, GA		Pediatric_Endocrinology	1 in 45 miles	2	27.0		100.0	0	0.0	2.0	12.7
Grand Totals	1,961	Pediatric_Endocrinology	1 in 45 miles	56	35.0	1,961	100.0	0	0.0	7.9	11.8

Pediatric ENT - Urban

October 26, 2022

Access Analysis
Pediatric ENT- Urban
Member / Provider Groups

Pediatric Urban Members (CENTRAL_URBAN) Pediatric_ENT

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Pediatric_ENT	1 in 30 miles	33	12.1		100.0		0.0	2.1	2.3
Houston, GA		Pediatric_ENT	1 in 30 miles	11		396	100.0	0	0.0	3.5	
Muscogee, GA		Pediatric_ENT	1 in 30 miles	26			100.0				2.0
Troup, GA	191	Pediatric_ENT	1 in 30 miles	6	31.8	191	100.0	0	0.0	2.9	3.4
Grand Totals	1,675	Pediatric_ENT	1 in 30 miles	76	22.0	1,675	100.0	0	0.0	2.3	2.9

Pediatric ENT - Rural

October 26, 2022

Access Analysis
Pediatric ENT- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_ENT

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	141	Pediatric_ENT	1 in 45 miles	13	10.8	141	100.0	0	0.0	1.4	2.5	
Bleckley, GA	25	Pediatric_ENT	1 in 45 miles	0		25	100.0	0	0.0	17.8	21.3	
Chattahoochee, GA	29	Pediatric_ENT	1 in 45 miles	0		29	100.0	0	0.0	15.4	17.1	
Crawford, GA	49	Pediatric_ENT	1 in 45 miles	0		49	100.0	0	0.0	15.1	19.2	
Crisp, GA	71	Pediatric_ENT	1 in 45 miles	2	35.5	71	100.0	0	0.0	2.5	2.8	
Dodge, GA	57	Pediatric_ENT	1 in 45 miles	1	57.0	57	100.0	0	0.0	6.6	27.1	
Dooly, GA	76	Pediatric_ENT	1 in 45 miles	1	76.0	76	100.0	0	0.0	7.4	7.9	
Harris, GA	104	Pediatric_ENT	1 in 45 miles	0		104	100.0	0	0.0	14.4	15.1	
Heard, GA	33	Pediatric_ENT	1 in 45 miles	0		33	100.0	0	0.0	17.2	18.1	
Johnson, GA	36	Pediatric_ENT	1 in 45 miles	2	18.0	36	100.0	0	0.0	7.9	8.2	
Jones, GA	168	Pediatric_ENT	1 in 45 miles	1	168.0	168	100.0	0	0.0	5.0	11.5	
Lamar, GA	102	Pediatric_ENT	1 in 45 miles	6	17.0	102	100.0	0	0.0	3.1	3.1	
Laurens, GA	194	Pediatric_ENT	1 in 45 miles	11	17.6	194	100.0	0	0.0	3.9	4.2	
Macon, GA	41	Pediatric_ENT	1 in 45 miles	1	41.0	41	100.0	0	0.0	5.1	20.4	
Marion, GA	20	Pediatric_ENT	1 in 45 miles	1	20.0	20	100.0	0	0.0	6.6	17.0	
Meriwether, GA	65	Pediatric_ENT	1 in 45 miles	10	6.5	65	100.0	0	0.0	2.0	2.6	
Monroe, GA	100	Pediatric_ENT	1 in 45 miles	6	16.7	100	100.0	0	0.0	3.4	4.2	
Peach, GA	122	Pediatric_ENT	1 in 45 miles	1	122.0	122	100.0	0	0.0	4.3	10.2	
Pike, GA	68	Pediatric_ENT	1 in 45 miles	1	68.0	68	100.0	0	0.0	6.9	10.8	
Pulaski, GA	42	Pediatric_ENT	1 in 45 miles	0		42	100.0	0	0.0	20.5	22.2	
Talbot, GA	8	Pediatric_ENT	1 in 45 miles	0		8	100.0	0	0.0	14.3	18.7	
Taylor, GA	42	Pediatric_ENT	1 in 45 miles	0		42	100.0	0	0.0	19.4	23.9	
Telfair, GA	88	Pediatric_ENT	1 in 45 miles	0		88	100.0	0	0.0	22.2	24.9	
Treutlen, GA	20	Pediatric_ENT	1 in 45 miles	0		20	100.0	0	0.0	19.7	20.3	
Twiggs, GA	46	Pediatric_ENT	1 in 45 miles	2	23.0	46	100.0	0	0.0	6.7	9.8	
Upson, GA	124	Pediatric_ENT	1 in 45 miles	7	17.7	124	100.0	0	0.0	3.1	3.6	
Wheeler, GA	11	Pediatric_ENT	1 in 45 miles	0		11	100.0	0	0.0	19.0	19.3	
Wilcox, GA	25	Pediatric_ENT	1 in 45 miles	0		25	100.0	0	0.0	17.4	18.2	
Wilkinson, GA	54	Pediatric_ENT	1 in 45 miles	2	27.0	54	100.0	0	0.0	2.0	12.7	
Grand Totals	1,961	Pediatric_ENT	1 in 45 miles	68	28.8	1,961	100.0	0	0.0	7.5	10.6	
© 2022 Quest Analytics LLC	-		-		•							

Pediatric Gastroenterology -Urban

October 26, 2022

Access Analysis
Pediatric Gastroenterology- Urban
Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Gastroenterology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA		Pediatric_Gastroenter	1 in 30 miles	55		400	100.0	0	0.0	2.0			
Houston, GA		Pediatric_Gastroenter	1 in 30 miles	8		396	100.0	0					
Muscogee, GA		Pediatric_Gastroenter	1 in 30 miles	28			100.0						
Troup, GA	191	Pediatric_Gastroenter	1 in 30 miles	8	23.9	191	100.0	0	0.0	3.9	5.2		
Grand Totals	1,675	Pediatric_Gastroenter	1 in 30 miles	99	16.9	1,675	100.0	0	0.0	2.5	3.0		
© 2022 Quaet Analytics II C													

Pedaitric Gastroenterology - Rural

October 26, 2022

Access Analysis
Pediatric Gastroenterology- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Gastroenterology

Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	141	Pediatric_Gastroenter	1 in 45 miles	15	9.4	141	100.0	0	0.0	1.4	2.1	
Bleckley, GA	25	Pediatric_Gastroenter	1 in 45 miles	0		25	100.0	0	0.0	17.8	21.3	
Chattahoochee, GA	29	Pediatric_Gastroenter	1 in 45 miles	0		29	100.0	0	0.0	15.4	17.0	
Crawford, GA	49	Pediatric_Gastroenter	1 in 45 miles	0		49	100.0	0	0.0	15.1	17.9	
Crisp, GA	71	Pediatric_Gastroenter	1 in 45 miles	5	14.2	71	100.0	0	0.0	2.5	2.6	
Dodge, GA	57	Pediatric_Gastroenter	1 in 45 miles	1	57.0	57	100.0	0	0.0	6.6		
Dooly, GA	76	Pediatric_Gastroenter	1 in 45 miles	1	76.0	76	100.0	0	0.0	7.4	7.9	
Harris, GA	104	Pediatric_Gastroenter	1 in 45 miles	0		104	100.0	0	0.0	14.6	14.8	
Heard, GA	33	Pediatric_Gastroenter	1 in 45 miles	0		33	100.0	0	0.0	17.3	17.4	
Johnson, GA	36	Pediatric_Gastroenter	1 in 45 miles	2	18.0	36	100.0	0	0.0	8.0	8.4	
Jones, GA	168	Pediatric_Gastroenter	1 in 45 miles	1	168.0	168	100.0	0	0.0	5.0	11.5	
Lamar, GA	102	Pediatric_Gastroenter	1 in 45 miles	0		102	100.0	0	0.0	9.4	13.2	
Laurens, GA	194	Pediatric_Gastroenter	1 in 45 miles	25	7.8	194	100.0	0	0.0	3.9	4.1	
Macon, GA	41	Pediatric_Gastroenter	1 in 45 miles	1	41.0	41	100.0	0	0.0	5.1	20.4	
Marion, GA	20	Pediatric_Gastroenter	1 in 45 miles	1	20.0	20	100.0	0	0.0	6.6	17.0	
Meriwether, GA	65	Pediatric_Gastroenter	1 in 45 miles	10	6.5	65	100.0	0	0.0	2.0	2.6	
Monroe, GA	100	Pediatric_Gastroenter	1 in 45 miles	6	16.7	100	100.0	0	0.0	3.4	4.1	
Peach, GA	122	Pediatric_Gastroenter	1 in 45 miles	2	61.0	122	100.0	0	0.0	3.5	9.2	
Pike, GA	68	Pediatric_Gastroenter	1 in 45 miles	1	68.0	68	100.0	0	0.0	6.9	11.4	
Pulaski, GA	42	Pediatric_Gastroenter	1 in 45 miles	0		42	100.0	0	0.0	20.5		
Talbot, GA	8	Pediatric_Gastroenter	1 in 45 miles	0		8	100.0	0	0.0	14.3	18.7	
Taylor, GA		Pediatric_Gastroenter	1 in 45 miles	0		42		0	0.0	19.4	23.8	
Telfair, GA		Pediatric_Gastroenter	1 in 45 miles	0		88	100.0	0	0.0	22.2	24.9	
Treutlen, GA		Pediatric_Gastroenter	1 in 45 miles	0		20	100.0	0	0.0	19.7	20.3	
Twiggs, GA		Pediatric_Gastroenter	1 in 45 miles	2	23.0		100.0	0	0.0	6.7	9.7	
Upson, GA		Pediatric_Gastroenter	1 in 45 miles	6	20.7		100.0	0	0.0	3.5	3.7	
Wheeler, GA		Pediatric_Gastroenter	1 in 45 miles	0			100.0	0	0.0	19.0	19.3	
Wilcox, GA		Pediatric_Gastroenter	1 in 45 miles	0			100.0	0	0.0	17.4	18.2	
Wilkinson, GA		Pediatric_Gastroenter	1 in 45 miles	2	27.0		100.0	0	0.0	2.0		
Grand Totals	1,961	Pediatric_Gastroenter	1 in 45 miles	81	24.2	1,961	100.0	0	0.0	7.8	11.0	
							L					

Pediatric General Surgery - Urban

October 26, 2022

Access Analysis
Pediatric General Surgery- Urban
Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_General Surgery

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA	400	Pediatric_General Sur	1 in 30 miles	125	3.2		100.0		0.0	1.7	1.8		
Houston, GA		Pediatric_General Sur	1 in 30 miles	59	6.7	396	100.0	0	0.0	2.0			
Muscogee, GA			1 in 30 miles	73			100.0		0.0				
Troup, GA	191	Pediatric_General Sur	1 in 30 miles	18	10.6	191	100.0	0	0.0	2.8	3.0		
Grand Totals	1,675	Pediatric_General Sur	1 in 30 miles	275	6.1	1,675	100.0	0	0.0	1.8	2.4		
© 2022 Quest Analytics III C													

Pediatric General Surgery -Rural

October 26, 2022

Access Analysis
Pediatric General Surgery- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_General Surgery

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	141	Pediatric_General Sur	1 in 45 miles	28	5.0	141	100.0	0	0.0	1.3	1.6
Bleckley, GA	25	Pediatric_General Sur	1 in 45 miles	0		25	100.0	0	0.0	14.5	18.4
Chattahoochee, GA	29	Pediatric_General Sur	1 in 45 miles	0		29	100.0	0	0.0	15.4	16.1
Crawford, GA	49	Pediatric_General Sur	1 in 45 miles	0		49	100.0	0	0.0	14.6	17.3
Crisp, GA	71	Pediatric_General Sur	1 in 45 miles	8	8.9	71	100.0	0	0.0	2.2	2.5
Dodge, GA	57	Pediatric_General Sur	1 in 45 miles	3	19.0	57	100.0	0	0.0	6.5	6.8
Dooly, GA	76	Pediatric_General Sur	1 in 45 miles	1	76.0	76	100.0	0	0.0	7.3	7.9
Harris, GA	104	Pediatric_General Sur	1 in 45 miles	0		104	100.0	0	0.0	14.1	14.6
Heard, GA	33	Pediatric_General Sur	1 in 45 miles	0		33	100.0	0	0.0	17.1	17.3
Johnson, GA	36	Pediatric_General Sur	1 in 45 miles	2	18.0	36	100.0	0	0.0	7.9	8.1
Jones, GA	168	Pediatric_General Sur	1 in 45 miles	1	168.0	168	100.0	0	0.0	4.9	11.0
Lamar, GA	102	Pediatric_General Sur	1 in 45 miles	0		102	100.0	0	0.0	9.2	12.6
Laurens, GA	194	Pediatric_General Sur	1 in 45 miles	30	6.5	194	100.0	0	0.0	3.5	3.8
Macon, GA	41	Pediatric_General Sur	1 in 45 miles	5	8.2	41	100.0	0	0.0	4.1	4.2
Marion, GA	20	Pediatric_General Sur	1 in 45 miles	2	10.0	20	100.0	0	0.0	6.5	6.7
Meriwether, GA	65	Pediatric_General Sur	1 in 45 miles	10	6.5	65	100.0	0	0.0	2.0	2.6
Monroe, GA	100	Pediatric_General Sur	1 in 45 miles	8	12.5	100	100.0	0	0.0	2.9	3.8
Peach, GA	122	Pediatric_General Sur	1 in 45 miles	10	12.2	122	100.0	0	0.0	3.5	8.4
Pike, GA	68	Pediatric_General Sur	1 in 45 miles	1	68.0	68	100.0	0	0.0	6.3	9.9
Pulaski, GA	42	Pediatric_General Sur	1 in 45 miles	1	42.0	42	100.0	0	0.0	2.9	20.0
Talbot, GA	8	Pediatric_General Sur	1 in 45 miles	0		8	100.0	0	0.0	14.0	14.3
Taylor, GA	42	Pediatric_General Sur	1 in 45 miles	0		42	100.0	0	0.0	19.2	20.9
Telfair, GA	88	Pediatric_General Sur	1 in 45 miles	0		88	100.0	0	0.0	19.9	22.3
Treutlen, GA	20	Pediatric_General Sur	1 in 45 miles	0		20	100.0	0	0.0	15.0	19.1
Twiggs, GA	46	Pediatric_General Sur	1 in 45 miles	2	23.0	46	100.0	0	0.0	6.5	9.2
Upson, GA	124	Pediatric_General Sur	1 in 45 miles	8	15.5	124	100.0	0	0.0	3.2	3.3
Wheeler, GA	11	Pediatric_General Sur	1 in 45 miles	1	11.0	11	100.0	0	0.0	8.5	18.3
Wilcox, GA	25	Pediatric_General Sur	1 in 45 miles	0		25	100.0	0	0.0	17.1	18.1
Wilkinson, GA	54	Pediatric_General Sur	1 in 45 miles	2	27.0	54	100.0	0	0.0	2.0	12.7
Grand Totals	1,961	Pediatric_General Sur	1 in 45 miles	123	15.9	1,961	100.0	0	0.0	6.9	9.3

Pediatric Hematology/Oncology- Urban

October 26, 2022

Access Analysis
Pediatric Hematology/Oncology- Urban
Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Hematology/Oncology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA		Pediatric_Hematology	1 in 30 miles	60	6.7		100.0	0		1.9			
Houston, GA		Pediatric_Hematology	1 in 30 miles	17	23.3	396	100.0	0	0.0	2.7	2.9		
Muscogee, GA		Pediatric_Hematology	1 in 30 miles	36		688	100.0	0			2.1		
Troup, GA	191	Pediatric_Hematology	1 in 30 miles	19	10.1	191	100.0	0	0.0	3.1	5.4		
Grand Totals	1,675	Pediatric_Hematology	1 in 30 miles	132	12.7	1,675	100.0	0	0.0	2.3	2.7		

Pediatric Hematology/Oncology- Rural

October 26, 2022

Access Analysis
Pediatric Hematology/Oncology- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Hematology/Oncology

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	141	Pediatric_Hematology	1 in 45 miles	6	23.5	141	100.0	0	0.0	3.0	3.0
Bleckley, GA	25	Pediatric_Hematology	1 in 45 miles	1	25.0	25	100.0	0	0.0	5.3	16.4
Chattahoochee, GA	29	Pediatric_Hematology	1 in 45 miles	0		29	100.0	0	0.0	22.6	22.6
Crawford, GA	49	Pediatric_Hematology	1 in 45 miles	0		49	100.0	0	0.0	13.6	16.0
Crisp, GA	71	Pediatric_Hematology	1 in 45 miles	6	11.8	71	100.0	0	0.0	2.5	2.5
Dodge, GA	57	Pediatric_Hematology	1 in 45 miles	0		57	100.0	0	0.0	20.9	22.1
Dooly, GA	76	Pediatric_Hematology	1 in 45 miles	0		76	100.0	0	0.0	8.0	8.0
Harris, GA	104	Pediatric_Hematology	1 in 45 miles	0		104	100.0	0	0.0	12.7	12.7
Heard, GA	33	Pediatric_Hematology	1 in 45 miles	0		33	100.0	0	0.0	17.3	17.3
Johnson, GA	36	Pediatric_Hematology	1 in 45 miles	0		36	100.0	0	0.0	17.7	19.8
Jones, GA	168	Pediatric_Hematology	1 in 45 miles	0		168	100.0	0	0.0	12.3	12.5
Lamar, GA	102	Pediatric_Hematology	1 in 45 miles	0		102	100.0	0	0.0	15.9	16.0
Laurens, GA	194	Pediatric_Hematology	1 in 45 miles	16	12.1	194	100.0	0	0.0	3.7	4.5
Macon, GA	41	Pediatric_Hematology	1 in 45 miles	0		41	100.0	0	0.0	22.2	23.1
Marion, GA	20	Pediatric_Hematology	1 in 45 miles	0		20	100.0	0	0.0	27.8	27.8
Meriwether, GA	65	Pediatric_Hematology	1 in 45 miles	0		65	100.0	0	0.0	19.5	21.9
Monroe, GA	100	Pediatric_Hematology	1 in 45 miles	0		100	100.0	0	0.0	14.8	18.5
Peach, GA	122	Pediatric_Hematology	1 in 45 miles	2	61.0	122	100.0	0	0.0	4.9	10.2
Pike, GA	68	Pediatric_Hematology	1 in 45 miles	0		68	100.0	0	0.0	15.1	15.1
Pulaski, GA	42	Pediatric_Hematology	1 in 45 miles	10	4.2	42	100.0	0	0.0	2.9	3.0
Talbot, GA	8	Pediatric_Hematology	1 in 45 miles	0		8	100.0	0	0.0	25.3	25.4
Taylor, GA	42	Pediatric_Hematology	1 in 45 miles	0		42	100.0	0	0.0	23.9	29.3
Telfair, GA	88	Pediatric_Hematology	1 in 45 miles	0		88	100.0	0	0.0	30.5	30.7
Treutlen, GA	20	Pediatric_Hematology	1 in 45 miles	0		20	100.0	0	0.0	21.6	21.8
Twiggs, GA	46	Pediatric_Hematology	1 in 45 miles	0		46	100.0	0	0.0	9.8	10.2
Upson, GA	124	Pediatric_Hematology	1 in 45 miles	0		124	100.0	0	0.0	24.5	24.6
Wheeler, GA	11	Pediatric_Hematology	1 in 45 miles	0		11	100.0	0	0.0	22.1	22.2
Wilcox, GA	25	Pediatric_Hematology	1 in 45 miles	0		25	100.0	0	0.0	19.5	19.5
Wilkinson, GA	54	Pediatric_Hematology	1 in 45 miles	0		54	100.0	0	0.0	19.0	19.0
Grand Totals	1,961	Pediatric_Hematology	1 in 45 miles	41	47.8	1,961	100.0	0	0.0	13.4	14.6

Pediatric Infectious Disease - Urban

October 26, 2022

Access Analysis
Pediatric Infectious Disease- Urban
Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Infectious Disease

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA		Pediatric_Infectious Di	1 in 30 miles	58	6.9	400	100.0	0	0.0	1.7	2.0		
Houston, GA		Pediatric_Infectious Di	1 in 30 miles	7	56.6	396	100.0	0	0.0	4.2			
Muscogee, GA		Pediatric_Infectious Di	1 in 30 miles	10			100.0		0.0	1.5			
Troup, GA	191	Pediatric_Infectious Di	1 in 30 miles	6	31.8	191	100.0	0	0.0	3.9	5.3		
Grand Totals	1,675	Pediatric_Infectious Di	1 in 30 miles	81	20.7	1,675	100.0	0	0.0	2.5	3.1		

Pediatric Infectious Disease- Rural

October 26, 2022

Access Analysis
Pediatric Infectious Disease- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Infectious Disease

Members With and Without Access Member Provider Counts Retic Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	141	Pediatric_Infectious Di	1 in 45 miles	14	10.1	141	100.0	0	0.0	1.4	2.5	
Bleckley, GA	25	Pediatric_Infectious Di	1 in 45 miles	0		25	100.0	0	0.0	17.8	21.3	
Chattahoochee, GA	29	Pediatric_Infectious Di	1 in 45 miles	0		29	100.0	0	0.0	15.4	17.1	
Crawford, GA	49	Pediatric_Infectious Di	1 in 45 miles	0		49	100.0	0	0.0	14.4	16.7	
Crisp, GA	71	Pediatric_Infectious Di	1 in 45 miles	2	35.5	71	100.0	0	0.0	1.7	2.8	
Dodge, GA	57	Pediatric_Infectious Di	1 in 45 miles	1	57.0	57	100.0	0	0.0	6.6	27.1	
Dooly, GA	76	Pediatric_Infectious Di	1 in 45 miles	1	76.0	76	100.0	0	0.0	7.4	8.0	
Harris, GA	104	Pediatric_Infectious Di	1 in 45 miles	0		104	100.0	0	0.0	14.6	15.1	
Heard, GA	33	Pediatric_Infectious Di	1 in 45 miles	0		33	100.0	0	0.0	17.4	17.5	
Johnson, GA	36	Pediatric_Infectious Di	1 in 45 miles	2	18.0	36	100.0	0	0.0	8.0	8.4	
Jones, GA	168	Pediatric_Infectious Di	1 in 45 miles	1	168.0	168	100.0	0	0.0	5.0	11.5	
Lamar, GA	102	Pediatric_Infectious Di	1 in 45 miles	0		102	100.0	0	0.0	9.4	13.2	
Laurens, GA	194	Pediatric_Infectious Di	1 in 45 miles	12	16.2		100.0	0	0.0	3.4	3.5	
Macon, GA		Pediatric_Infectious Di	1 in 45 miles	1		41	100.0	0	0.0	5.1	20.4	
Marion, GA		Pediatric_Infectious Di	1 in 45 miles	1	20.0	20	100.0	0	0.0	6.6	17.0	
Meriwether, GA	65	Pediatric_Infectious Di	1 in 45 miles	11	5.9	65	100.0	0	0.0	2.0	2.5	
Monroe, GA	100	Pediatric_Infectious Di	1 in 45 miles	6		100	100.0	0	0.0	3.4	4.2	
Peach, GA	122	Pediatric_Infectious Di	1 in 45 miles	2	61.0	122	100.0	0	0.0	3.5	9.3	
Pike, GA	68	Pediatric_Infectious Di	1 in 45 miles	1	68.0		100.0	0	0.0	6.9	11.4	
Pulaski, GA	42	Pediatric_Infectious Di	1 in 45 miles	0		42	100.0	0	0.0	20.5	22.0	
Talbot, GA	8	Pediatric_Infectious Di	1 in 45 miles	0		8	100.0	0	0.0	14.3	18.8	
Taylor, GA	42	Pediatric_Infectious Di	1 in 45 miles	0		42		0	0.0	19.4	23.8	
Telfair, GA		Pediatric_Infectious Di	1 in 45 miles	0		88	100.0	0	0.0	22.2	24.9	
Treutlen, GA		Pediatric_Infectious Di	1 in 45 miles	0		20	100.0	0	0.0	19.7	20.3	
Twiggs, GA		Pediatric_Infectious Di	1 in 45 miles	2	23.0		100.0	0	0.0	6.6	9.7	
Upson, GA		Pediatric_Infectious Di	1 in 45 miles	6	20.7		100.0	0	0.0	3.5	3.7	
Wheeler, GA		Pediatric_Infectious Di	1 in 45 miles	0		11		0	0.0	19.0	19.3	
Wilcox, GA		Pediatric_Infectious Di	1 in 45 miles	0		25		0	0.0	17.4	18.2	
Wilkinson, GA		Pediatric_Infectious Di	1 in 45 miles	2	27.0		100.0	0	0.0	2.0	12.7	
Grand Totals		Pediatric Infectious Di	1 in 45 miles	65	30.2	1 961	100.0	0	0.0	7.7	11.0	
Grand Totals	1,301	T calatilo_illiectious Dl	I III TO IIIIIGO	03	30.2	1,301	100.0	U	0.0	7.1	11.0	

Pediatric Nephrology- Urban

October 26, 2022

Access Analysis
Pediatric Nephrology- Urban
Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Nephrology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pi	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA	400	Pediatric_Nephrology	1 in 30 miles	104	3.8	400	100.0	0	0.0	1.6	2.0		
Houston, GA		Pediatric_Nephrology	1 in 30 miles	43		396	100.0	0	0.0				
Muscogee, GA	688	Pediatric_Nephrology	1 in 30 miles	47			100.0						
Troup, GA	191	Pediatric_Nephrology	1 in 30 miles	11	17.4	191	100.0	0	0.0	2.5	3.2		
Grand Totals	1,675	Pediatric_Nephrology	1 in 30 miles	205	8.2	1,675	100.0	0	0.0	2.2	2.5		
© 2022 Quest Analytics, LLC.													

Pediatric Nephrology - Rural

October 26, 2022

Access Analysis
Pediatric Nephrology- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Nephrology

Members With and Without Access Member Provider Counts Retic Members With Access Without Access Average Distance												
	Member	Pi	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	141	Pediatric_Nephrology	1 in 45 miles	28	5.0	141	100.0	0	0.0	1.3	2.4	
Bleckley, GA	25	Pediatric_Nephrology	1 in 45 miles	1	25.0	25	100.0	0	0.0	5.4	14.4	
Chattahoochee, GA	29	Pediatric_Nephrology	1 in 45 miles	0		29	100.0	0	0.0	14.3	14.6	
Crawford, GA	49	Pediatric_Nephrology	1 in 45 miles	1	49.0	49	100.0	0	0.0	5.1	14.8	
Crisp, GA	71	Pediatric_Nephrology	1 in 45 miles	10	7.1	71	100.0	0	0.0	2.2	2.3	
Dodge, GA	57	Pediatric_Nephrology	1 in 45 miles	4	14.3	57	100.0	0	0.0	6.0	6.8	
Dooly, GA	76	Pediatric_Nephrology	1 in 45 miles	2	38.0	76	100.0	0	0.0	7.4	7.7	
Harris, GA	104	Pediatric_Nephrology	1 in 45 miles	0		104	100.0	0	0.0	14.5	14.7	
Heard, GA	33	Pediatric_Nephrology	1 in 45 miles	0		33	100.0	0	0.0	16.7	17.4	
Johnson, GA	36	Pediatric_Nephrology	1 in 45 miles	2	18.0	36	100.0	0	0.0	7.9	8.1	
Jones, GA	168	Pediatric_Nephrology	1 in 45 miles	12	14.0	168	100.0	0	0.0	4.3	4.4	
Lamar, GA	102	Pediatric_Nephrology	1 in 45 miles	0		102	100.0	0	0.0	9.3	12.8	
Laurens, GA	194	Pediatric_Nephrology	1 in 45 miles	27	7.2	194	100.0	0	0.0	3.4	3.6	
Macon, GA	41	Pediatric_Nephrology	1 in 45 miles	4	10.3	41	100.0	0	0.0	5.1	5.1	
Marion, GA	20	Pediatric_Nephrology	1 in 45 miles	9	2.2	20	100.0	0	0.0	4.2	4.9	
Meriwether, GA	65	Pediatric_Nephrology	1 in 45 miles	18	3.6	65	100.0	0	0.0	1.9	2.5	
Monroe, GA	100	Pediatric_Nephrology	1 in 45 miles	16	6.3	100	100.0	0	0.0	2.7	3.5	
Peach, GA	122	Pediatric_Nephrology	1 in 45 miles	26	4.7	122	100.0	0	0.0	3.4	3.4	
Pike, GA	68	Pediatric_Nephrology	1 in 45 miles	1	68.0	68	100.0	0	0.0	6.5	10.2	
Pulaski, GA	42	Pediatric_Nephrology	1 in 45 miles	7	6.0	42	100.0	0	0.0	2.9	2.9	
Talbot, GA	8	Pediatric_Nephrology	1 in 45 miles	0		8	100.0	0	0.0	14.3	16.4	
Taylor, GA	42	Pediatric_Nephrology	1 in 45 miles	0		42	100.0	0	0.0	19.0	19.7	
Telfair, GA	88	Pediatric_Nephrology	1 in 45 miles	0		88	100.0	0	0.0	22.2	22.3	
Treutlen, GA	20	Pediatric_Nephrology	1 in 45 miles	0		20	100.0	0	0.0	19.7	20.3	
Twiggs, GA	46	Pediatric_Nephrology	1 in 45 miles	2	23.0	46	100.0	0	0.0	6.3	8.7	
Upson, GA	124	Pediatric_Nephrology	1 in 45 miles	8	15.5	124	100.0	0	0.0	3.1	3.3	
Wheeler, GA	11	Pediatric_Nephrology	1 in 45 miles	0		11	100.0	0	0.0	19.0	19.3	
Wilcox, GA	25	Pediatric_Nephrology	1 in 45 miles	0		25	100.0	0	0.0	16.8	17.5	
Wilkinson, GA	54	Pediatric_Nephrology	1 in 45 miles	2	27.0	54	100.0	0	0.0	2.0	12.7	
Grand Totals	1,961	Pediatric_Nephrology	1 in 45 miles	180	10.9	1,961	100.0	0	0.0	6.7	8.0	
© 2022 Quest Analytics III C	L											

Pediatric Neurology- Urban

October 26, 2022

Access Analysis
Pediatric Neurology- Urban
Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Neurology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA	400	Pediatric_Neurology	1 in 30 miles	200	2.0	400	100.0	0	0.0	2.0	2.1		
Houston, GA	396	Pediatric_Neurology	1 in 30 miles	7	56.6	396	100.0	0	0.0		5.0		
Muscogee, GA	688	Pediatric_Neurology	1 in 30 miles	163			100.0						
Troup, GA	191	Pediatric_Neurology	1 in 30 miles	56	3.4	191	100.0	0	0.0	3.8	4.8		
Grand Totals	4.075	Dadiatria Navralanu	1 in 30 miles	400	3.9	4 675	100.0	0	0.0	2.5	3.1		
Grand Totals	1,075	Pediatric_Neurology	i in 30 miles	426	3.9	1,675	100.0	0	0.0	2.5	3.1		
						_							
						_							
© 2022 Quest Analytics, LLC.	L						<u> </u>						

Pediatric Neurology- Rural

October 26, 2022

Access Analysis
Pediatric Neurology- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Neurology

			Members With a	and With	out Access						
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	141	Pediatric_Neurology	1 in 45 miles	16	8.8	141	100.0	0	0.0	1.4	2.5
Bleckley, GA	25	Pediatric_Neurology	1 in 45 miles	0		25	100.0	0	0.0	14.8	19.4
Chattahoochee, GA	29	Pediatric_Neurology	1 in 45 miles	0		29	100.0	0	0.0	15.4	17.1
Crawford, GA	49	Pediatric_Neurology	1 in 45 miles	0		49	100.0	0	0.0	15.1	17.9
Crisp, GA	71	Pediatric_Neurology	1 in 45 miles	3	23.7	71	100.0	0	0.0	2.3	2.6
Dodge, GA	57	Pediatric_Neurology	1 in 45 miles	1	57.0	57	100.0	0	0.0	6.6	21.3
Dooly, GA	76	Pediatric_Neurology	1 in 45 miles	1	76.0	76	100.0	0	0.0	7.4	7.9
Harris, GA	104	Pediatric_Neurology	1 in 45 miles	0		104	100.0	0	0.0	14.6	14.8
Heard, GA	33	Pediatric_Neurology	1 in 45 miles	0		33	100.0	0	0.0	16.3	17.3
Johnson, GA	36	Pediatric_Neurology	1 in 45 miles	2	18.0	36	100.0	0	0.0	7.9	8.1
Jones, GA	168	Pediatric_Neurology	1 in 45 miles	1	168.0	168	100.0	0	0.0	5.0	11.5
Lamar, GA	102	Pediatric_Neurology	1 in 45 miles	0		102	100.0	0	0.0	9.2	12.7
Laurens, GA	194	Pediatric_Neurology	1 in 45 miles	14	13.9	194	100.0	0	0.0	3.9	4.1
Macon, GA	41	Pediatric_Neurology	1 in 45 miles	1	41.0	41	100.0	0	0.0	5.1	20.4
Marion, GA	20	Pediatric_Neurology	1 in 45 miles	1	20.0	20	100.0	0	0.0	6.6	17.0
Meriwether, GA	65	Pediatric_Neurology	1 in 45 miles	10	6.5	65	100.0	0	0.0	2.0	2.6
Monroe, GA	100	Pediatric_Neurology	1 in 45 miles	7	14.3	100	100.0	0	0.0	3.4	4.0
Peach, GA	122	Pediatric_Neurology	1 in 45 miles	2	61.0	122	100.0	0	0.0	3.5	9.4
Pike, GA	68	Pediatric_Neurology	1 in 45 miles	1	68.0	68	100.0	0	0.0	6.9	11.3
Pulaski, GA	42	Pediatric_Neurology	1 in 45 miles	1	42.0	42	100.0	0	0.0	3.0	20.5
Talbot, GA	8	Pediatric_Neurology	1 in 45 miles	0		8	100.0	0	0.0	14.3	18.7
Taylor, GA	42	Pediatric_Neurology	1 in 45 miles	0		42	100.0	0	0.0	19.4	23.7
Telfair, GA	88	Pediatric_Neurology	1 in 45 miles	0		88	100.0	0	0.0	22.2	24.9
Treutlen, GA	20	Pediatric_Neurology	1 in 45 miles	0		20	100.0	0	0.0	19.7	20.3
Twiggs, GA	46	Pediatric_Neurology	1 in 45 miles	2	23.0	46	100.0	0	0.0	6.7	9.7
Upson, GA	124	Pediatric_Neurology	1 in 45 miles	39	3.2	124	100.0	0	0.0	3.0	3.3
Wheeler, GA	11	Pediatric_Neurology	1 in 45 miles	0		11	100.0	0	0.0	19.0	19.3
Wilcox, GA	25	Pediatric_Neurology	1 in 45 miles	0		25	100.0	0	0.0	17.1	18.1
Wilkinson, GA	54	Pediatric_Neurology	1 in 45 miles	2	27.0	54	100.0	0	0.0	2.0	12.7
Grand Totals	1,961	Pediatric_Neurology	1 in 45 miles	104	18.9	1,961	100.0	0	0.0	7.3	10.8
			1								

Pediatric Ophthalmology -Urban

October 26, 2022

Access Analysis
Pediatric Ophthalmology- Urban
Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Ophthalmology

Members With and Without Access												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Acc	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Bibb, GA	400	Pediatric_Ophthalmol	1 in 30 miles	10	40.0		100.0	0	0.0	2.7	3.1	
Houston, GA		Pediatric_Ophthalmol	1 in 30 miles	1	396.0		100.0	0	0.0	4.1	20.0	
Muscogee, GA		Pediatric_Ophthalmol	1 in 30 miles	6	114.7		100.0		0.0	2.0	2.4	
Troup, GA	191	Pediatric_Ophthalmol	1 in 30 miles	2	95.5	191	100.0	0	0.0	4.2	4.2	
Grand Totals	1,675	Pediatric_Ophthalmol	1 in 30 miles	19	88.2	1,675	100.0	0	0.0	2.9	6.9	

Pediatric Ophthalmology - Rural

October 26, 2022

Access Analysis
Pediatric Ophthalmology- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Ophthalmology

Members With and Without Access Member Provider Counts Retic Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	141	Pediatric_Ophthalmol	1 in 45 miles	3	47.0	141	100.0	0	0.0	2.6	2.6	
Bleckley, GA	25	Pediatric_Ophthalmol	1 in 45 miles	0		25	100.0	0	0.0	25.1	28.3	
Chattahoochee, GA	29	Pediatric_Ophthalmol	1 in 45 miles	0		29	100.0	0	0.0	21.8	22.2	
Crawford, GA	49	Pediatric_Ophthalmol	1 in 45 miles	0		49	100.0	0	0.0	21.3	21.4	
Crisp, GA	71	Pediatric_Ophthalmol	1 in 45 miles	0		71	100.0	0	0.0	30.1	30.6	
Dodge, GA	57	Pediatric_Ophthalmol	1 in 45 miles	0		57	100.0	0	0.0	33.9	44.0	
Dooly, GA	76	Pediatric_Ophthalmol	1 in 45 miles	0		76	100.0	0	0.0	26.2	26.9	
Harris, GA	104	Pediatric_Ophthalmol	1 in 45 miles	0		104	100.0	0	0.0	17.1	17.8	
Heard, GA	33	Pediatric_Ophthalmol	1 in 45 miles	0		33	100.0	0	0.0	19.7	19.7	
Johnson, GA	36	Pediatric_Ophthalmol	1 in 45 miles	0		36	100.0	0	0.0	19.8	23.1	
Jones, GA	168	Pediatric_Ophthalmol	1 in 45 miles	0		168	100.0	0	0.0	11.4	13.5	
Lamar, GA	102	Pediatric_Ophthalmol	1 in 45 miles	1	102.0	102	100.0	0	0.0	3.2	16.3	
Laurens, GA	194	Pediatric_Ophthalmol	1 in 45 miles	1	194.0	194	100.0	0	0.0	5.2	34.2	
Macon, GA	41	Pediatric_Ophthalmol	1 in 45 miles	1	41.0	41	100.0	0	0.0	5.3	23.5	
Marion, GA	20	Pediatric_Ophthalmol	1 in 45 miles	0		20	100.0	0	0.0	28.0	29.2	
Meriwether, GA	65	Pediatric_Ophthalmol	1 in 45 miles	0		65	100.0	0	0.0	18.5	20.8	
Monroe, GA	100	Pediatric_Ophthalmol	1 in 45 miles	0		100	100.0	0	0.0	13.3	17.8	
Peach, GA	122	Pediatric_Ophthalmol	1 in 45 miles	0		122	100.0	0	0.0	13.4	21.3	
Pike, GA	68	Pediatric_Ophthalmol	1 in 45 miles	0		68	100.0	0	0.0	11.9	13.6	
Pulaski, GA	42	Pediatric_Ophthalmol	1 in 45 miles	0		42	100.0	0	0.0	27.9	33.0	
Talbot, GA	8	Pediatric_Ophthalmol	1 in 45 miles	0		8	100.0	0	0.0	20.5	25.2	
Taylor, GA	42	Pediatric_Ophthalmol	1 in 45 miles	0		42	100.0	0	0.0	24.6	28.8	
Telfair, GA	88	Pediatric_Ophthalmol	1 in 45 miles	0		88	100.0	0	0.0	33.0	34.2	
Treutlen, GA	20	Pediatric_Ophthalmol	1 in 45 miles	0		20	100.0	0	0.0	22.1	22.9	
Twiggs, GA	46	Pediatric_Ophthalmol	1 in 45 miles	0		46	100.0	0	0.0	11.2	13.4	
Upson, GA	124	Pediatric_Ophthalmol	1 in 45 miles	1	124.0	124	100.0	0	0.0	3.9	19.5	
Wheeler, GA	11	Pediatric_Ophthalmol	1 in 45 miles	0		11	100.0	0	0.0	22.2	22.5	
Wilcox, GA	25	Pediatric_Ophthalmol	1 in 45 miles	0		25	100.0	0	0.0	37.6	38.3	
Wilkinson, GA	54	Pediatric_Ophthalmol	1 in 45 miles	0		54	100.0	0	0.0	19.5	19.8	
Grand Totals	1,961	Pediatric_Ophthalmol	1 in 45 miles	7	280.1	1,961	100.0	0	0.0	15.2	22.0	
© 2022 Ouget Analytics II C			l									

Pediatric Optometry -Urban

October 26, 2022

Access Analysis
Pediatric Optometry- Urban
Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Optometry

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA		Pediatric_Optometry	1 in 30 miles	9	44.4		100.0			2.5			
Houston, GA		Pediatric_Optometry	1 in 30 miles	14	28.3	396	100.0	0		4.3	4.8		
Muscogee, GA		Pediatric_Optometry	1 in 30 miles	18			100.0						
Troup, GA	191	Pediatric_Optometry	1 in 30 miles	3	63.7	191	100.0	0	0.0	4.1	4.6		

Pediatric Optometry -Rural

October 26, 2022

Access Analysis
Pediatric Optometry- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Optometry

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	141	Pediatric_Optometry	1 in 45 miles	2	70.5	141	100.0	0	0.0	2.7	2.7
Bleckley, GA	25	Pediatric_Optometry	1 in 45 miles	0		25	100.0	0	0.0	20.8	23.1
Chattahoochee, GA	29	Pediatric_Optometry	1 in 45 miles	0		29	100.0	0	0.0	16.8	22.3
Crawford, GA	49	Pediatric_Optometry	1 in 45 miles	0		49	100.0	0	0.0	14.9	15.5
Crisp, GA	71	Pediatric_Optometry	1 in 45 miles	0		71	100.0	0	0.0	10.1	17.0
Dodge, GA		Pediatric_Optometry	1 in 45 miles	1	57.0	57	100.0	0	0.0	7.5	23.1
Dooly, GA	76	Pediatric_Optometry	1 in 45 miles	2	38.0	76	100.0	0	0.0	0.6	7.5
Harris, GA	104	Pediatric_Optometry	1 in 45 miles	0		104	100.0	0	0.0	11.0	15.1
Heard, GA	33	Pediatric_Optometry	1 in 45 miles	0		33	100.0	0	0.0	19.5	20.1
Johnson, GA	36	Pediatric_Optometry	1 in 45 miles	0		36	100.0	0	0.0	20.7	22.7
Jones, GA	168	Pediatric_Optometry	1 in 45 miles	0		168	100.0	0	0.0	13.3	13.3
Lamar, GA	102	Pediatric_Optometry	1 in 45 miles	0		102	100.0	0	0.0	13.7	19.1
Laurens, GA	194	Pediatric_Optometry	1 in 45 miles	5	38.8	194	100.0	0	0.0	4.0	5.2
Macon, GA	41	Pediatric_Optometry	1 in 45 miles	3	13.7	41	100.0	0	0.0	5.3	5.3
Marion, GA	20	Pediatric_Optometry	1 in 45 miles	0		20	100.0	0	0.0	26.8	28.2
Meriwether, GA	65	Pediatric_Optometry	1 in 45 miles	1	65.0	65	100.0	0	0.0	13.5	20.9
Monroe, GA	100	Pediatric_Optometry	1 in 45 miles	1	100.0	100	100.0	0	0.0	4.4	21.4
Peach, GA	122	Pediatric_Optometry	1 in 45 miles	2	61.0	122	100.0	0	0.0	9.4	9.4
Pike, GA	68	Pediatric_Optometry	1 in 45 miles	0		68	100.0	0	0.0	14.6	16.4
Pulaski, GA	42	Pediatric_Optometry	1 in 45 miles	0		42	100.0	0	0.0	20.5	21.9
Talbot, GA	8	Pediatric_Optometry	1 in 45 miles	0		8	100.0	0	0.0	19.1	24.7
Taylor, GA	42	Pediatric_Optometry	1 in 45 miles	0		42	100.0	0	0.0	27.1	27.2
Telfair, GA	88	Pediatric_Optometry	1 in 45 miles	1	88.0	88	100.0	0	0.0	2.5	23.8
Treutlen, GA	20	Pediatric_Optometry	1 in 45 miles	0		20	100.0	0	0.0	22.7	27.6
Twiggs, GA	46	Pediatric_Optometry	1 in 45 miles	0		46	100.0	0	0.0	11.4	12.5
Upson, GA	124	Pediatric_Optometry	1 in 45 miles	0		124	100.0	0	0.0	18.7	25.6
Wheeler, GA	11	Pediatric_Optometry	1 in 45 miles	0		11	100.0	0	0.0	18.3	23.6
Wilcox, GA	25	Pediatric_Optometry	1 in 45 miles	0		25	100.0	0	0.0	22.2	28.0
Wilkinson, GA	54	Pediatric_Optometry	1 in 45 miles	0		54	100.0	0	0.0	20.5	20.5
Grand Totals	1,961	Pediatric_Optometry	1 in 45 miles	18	108.9	1,961	100.0	0	0.0	11.2	15.8
			l .	L							

Pediatric Orthopedics- Urban

October 26, 2022

Access Analysis
Pediatric Othopedics- Urban
Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Orthopedics

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA		Pediatric_Orthopedics	1 in 30 miles	145	2.8	400	100.0	0	0.0	1.7	1.9		
Houston, GA		Pediatric_Orthopedics	1 in 30 miles	58		396	100.0	0	0.0				
Muscogee, GA		Pediatric_Orthopedics	1 in 30 miles	109			100.0						
Troup, GA	191	Pediatric_Orthopedics	1 in 30 miles	44	4.3	191	100.0	0	0.0	2.4	2.7		
Grand Totals	1,675	Pediatric_Orthopedics	1 in 30 miles	356	4.7	1,675	100.0	0	0.0	1.7	2.2		
© 2022 Quest Analytics II C													

Pediatric Orthopedics -Rural

October 26, 2022

Access Analysis
Pediatric Orthopedics- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Orthopedics

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	141	Pediatric_Orthopedics	1 in 45 miles	29	4.9	141	100.0	0	0.0	1.2	2.1		
Bleckley, GA	25	Pediatric_Orthopedics	1 in 45 miles	3	8.3	25	100.0	0	0.0	4.6	5.2		
Chattahoochee, GA	29	Pediatric_Orthopedics	1 in 45 miles	0		29	100.0	0	0.0	15.4	16.0		
Crawford, GA	49	Pediatric_Orthopedics	1 in 45 miles	0		49	100.0	0	0.0	14.4	15.2		
Crisp, GA	71	Pediatric_Orthopedics	1 in 45 miles	19	3.7	71	100.0	0	0.0	1.6	1.7		
Dodge, GA	57	Pediatric_Orthopedics	1 in 45 miles	3	19.0	57	100.0	0	0.0	6.4	6.7		
Dooly, GA	76	Pediatric_Orthopedics	1 in 45 miles	6	12.7	76	100.0	0	0.0	0.6	0.6		
Harris, GA	104	Pediatric_Orthopedics	1 in 45 miles	0		104	100.0	0	0.0	11.2	11.3		
Heard, GA	33	Pediatric_Orthopedics	1 in 45 miles	0		33	100.0	0	0.0	17.1	17.4		
Johnson, GA	36	Pediatric_Orthopedics	1 in 45 miles	3	12.0	36	100.0	0	0.0	7.7	8.1		
Jones, GA	168	Pediatric_Orthopedics	1 in 45 miles	1	168.0	168	100.0	0	0.0	4.5	10.4		
Lamar, GA	102	Pediatric_Orthopedics	1 in 45 miles	2		102	100.0	0	0.0	3.1	3.1		
Laurens, GA	194	Pediatric_Orthopedics	1 in 45 miles	55	3.5	194	100.0	0	0.0	3.8	4.1		
Macon, GA	41	Pediatric_Orthopedics	1 in 45 miles	4	10.3	41	100.0	0	0.0	5.1	5.2		
Marion, GA	20	Pediatric_Orthopedics	1 in 45 miles	2	10.0	20	100.0	0	0.0	6.5	6.7		
Meriwether, GA	65	Pediatric_Orthopedics	1 in 45 miles	11	5.9	65	100.0	0	0.0	2.0	2.5		
Monroe, GA	100	Pediatric_Orthopedics	1 in 45 miles	6	16.7	100	100.0	0	0.0	3.4	3.9		
Peach, GA	122	Pediatric_Orthopedics	1 in 45 miles	9	13.6	122	100.0	0	0.0	2.8	8.8		
Pike, GA	68	Pediatric_Orthopedics	1 in 45 miles	1	68.0	68	100.0	0	0.0	6.9	10.8		
Pulaski, GA	42	Pediatric_Orthopedics	1 in 45 miles	6	7.0	42	100.0	0	0.0	2.9	3.1		
Talbot, GA	8	Pediatric_Orthopedics	1 in 45 miles	0		8	100.0	0	0.0	14.0	14.3		
Taylor, GA	42	Pediatric_Orthopedics	1 in 45 miles	0		42	100.0	0	0.0	19.1	21.2		
Telfair, GA	88	Pediatric_Orthopedics	1 in 45 miles	0		88	100.0	0	0.0	19.9	20.0		
Treutlen, GA	20	Pediatric_Orthopedics	1 in 45 miles	0		20	100.0	0	0.0	15.2	15.4		
Twiggs, GA	46	Pediatric_Orthopedics	1 in 45 miles	2	23.0	46	100.0	0	0.0	6.0	9.1		
Upson, GA	124	Pediatric_Orthopedics	1 in 45 miles	16	7.8	124	100.0	0	0.0	2.6	2.7		
Wheeler, GA	11	Pediatric_Orthopedics	1 in 45 miles	3	3.7	11	100.0	0	0.0	8.5	8.5		
Wilcox, GA	25	Pediatric_Orthopedics	1 in 45 miles	1	25.0	25	100.0	0	0.0	7.3	17.2		
Wilkinson, GA	54	Pediatric_Orthopedics	1 in 45 miles	3	18.0	54	100.0	0	0.0	1.8	7.9		
Grand Totals	1,961	Pediatric_Orthopedics	1 in 45 miles	185	10.6	1,961	100.0	0	0.0	5.8	7.5		
© 2022 Ouget Analytics III C			<u> </u>										

Pediatric Rheumatology- Urban

October 26, 2022

Access Analysis
Pediatric Rheumatology- Urban
Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Rheumatology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA		Pediatric_Rheumatology	1 in 30 miles	3	133.3	400	100.0	0	0.0	2.5			
Houston, GA		Pediatric_Rheumatology	1 in 30 miles	3	132.0	396	100.0	0	0.0	5.5			
Muscogee, GA			1 in 30 miles	5			100.0		0.0	2.0			
Troup, GA	191	Pediatric_Rheumatology	1 in 30 miles	1	191.0	191	100.0	0	0.0	5.5	33.0		
Grand Totals	1,675	Pediatric_Rheumatology	1 in 30 miles	12	139.6	1,675	100.0	0	0.0	3.4	7.8		
© 2022 Quest Analytics III C													

Pediatric Rheumatology- Rural

October 26, 2022

Access Analysis
Pediatric Rheumatology- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Rheumatology

	Members With and Without Access Member Provider Counts Batic Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Baldwin, GA	141	Pediatric_Rheumatology	1 in 45 miles	0		141	100.0	0	0.0	25.6	36.7		
Bleckley, GA	25	Pediatric_Rheumatology	1 in 45 miles	0		25	100.0	0	0.0	27.9	30.0		
Chattahoochee, GA	29	Pediatric_Rheumatology	1 in 45 miles	0		29	100.0	0	0.0	19.8	22.5		
Crawford, GA	49	Pediatric_Rheumatology	1 in 45 miles	0		49	100.0	0	0.0	19.9	20.7		
Crisp, GA	71	Pediatric_Rheumatology	1 in 45 miles	0		71	100.0	0	0.0	41.1	41.8		
Dodge, GA	57	Pediatric_Rheumatology	1 in 45 miles	0		18	31.6	39	68.4	45.6	48.7		
Dooly, GA	76	Pediatric_Rheumatology	1 in 45 miles	0		76	100.0	0	0.0	37.6	39.7		
Harris, GA	104	Pediatric_Rheumatology	1 in 45 miles	0		104	100.0	0	0.0	17.3	22.6		
Heard, GA	33	Pediatric_Rheumatology	1 in 45 miles	0		33	100.0	0	0.0	17.5	21.9		
Johnson, GA	36	Pediatric_Rheumatology	1 in 45 miles	0		0	0.0	36	100.0	56.4	56.9		
Jones, GA	168	Pediatric_Rheumatology	1 in 45 miles	0		168	100.0	0	0.0	14.7	14.8		
Lamar, GA	102	Pediatric_Rheumatology	1 in 45 miles	0		102	100.0	0	0.0	31.5	31.9		
Laurens, GA	194	Pediatric_Rheumatology	1 in 45 miles	0		142	73.2	52	26.8	43.9	45.1		
Macon, GA	41	Pediatric_Rheumatology	1 in 45 miles	0		41	100.0	0	0.0	37.2	40.6		
Marion, GA	20	Pediatric_Rheumatology	1 in 45 miles	0		20	100.0	0	0.0	32.1	34.4		
Meriwether, GA	65	Pediatric_Rheumatology	1 in 45 miles	0		65	100.0	0	0.0	22.0	25.7		
Monroe, GA	100	Pediatric_Rheumatology	1 in 45 miles	0		100	100.0	0	0.0	23.4	28.1		
Peach, GA	122	Pediatric_Rheumatology	1 in 45 miles	0		122	100.0	0	0.0	11.5	14.5		
Pike, GA	68	Pediatric_Rheumatology	1 in 45 miles	0		68	100.0	0	0.0	28.0	29.9		
Pulaski, GA	42	Pediatric_Rheumatology	1 in 45 miles	0		42	100.0	0	0.0	28.9	30.9		
Talbot, GA	8	Pediatric_Rheumatology	1 in 45 miles	0		8	100.0	0	0.0	26.5	28.0		
Taylor, GA	42	Pediatric_Rheumatology	1 in 45 miles	0		42	100.0	0	0.0	31.6	35.0		
Telfair, GA	88	Pediatric_Rheumatology	1 in 45 miles	0		86	97.7	2	2.3	38.1	43.7		
Treutlen, GA	20	Pediatric_Rheumatology	1 in 45 miles	0		4	20.0	16	80.0	47.1	47.7		
Twiggs, GA	46	Pediatric_Rheumatology	1 in 45 miles	0		46	100.0	0	0.0	11.1	11.5		
Upson, GA	124	Pediatric_Rheumatology	1 in 45 miles	0		124	100.0	0	0.0	36.9	39.7		
Wheeler, GA	11	Pediatric_Rheumatology	1 in 45 miles	0		5	45.5	6	54.5	44.5	45.1		
Wilcox, GA	25	Pediatric_Rheumatology	1 in 45 miles	0		25	100.0	0	0.0	37.4	38.0		
Wilkinson, GA		Pediatric_Rheumatology	1 in 45 miles	0		54	100.0	0	0.0	25.9	26.1		
Grand Totals	1,961	Pediatric_Rheumatology	1 in 45 miles	0		1,810	92.3	151	7.7	29.1	32.0		

Pediatric Vascular Surgery- Urban

October 26, 2022

Access Analysis
Pediatric Vascular Surgery- Urban
Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Vascular Surgery

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA			1 in 30 miles	37	10.8		100.0		0.0	2.5	2.5		
Houston, GA			1 in 30 miles	21			100.0		0.0	4.6			
Muscogee, GA			1 in 30 miles	24			100.0		0.0		2.1		
Troup, GA	191	Pediatric_Vascular Su	1 in 30 miles	6	31.8	191	100.0	0	0.0	5.3	5.3		
Grand Totals	1,675	Pediatric_Vascular Su	1 in 30 miles	88	19.0	1,675	100.0	0	0.0	3.1	3.2		
		_											

Pediatric Vascular Surgery - Rural

October 26, 2022

Access Analysis
Pediatric Vascular Surgery- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Vascular Surgery

	Members With and Without Access Member Provider Counts Patio Members With Access Without Access Average Distance											
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	141	Pediatric_Vascular Su	1 in 45 miles	1	141.0	141	100.0	0	0.0	3.2	26.9	
Bleckley, GA	25	Pediatric_Vascular Su	1 in 45 miles	0		25	100.0	0	0.0	27.9	27.9	
Chattahoochee, GA	29	Pediatric_Vascular Su	1 in 45 miles	0		29	100.0	0	0.0	22.2	22.2	
Crawford, GA	49	Pediatric_Vascular Su	1 in 45 miles	0		49	100.0	0	0.0	18.1	18.1	
Crisp, GA	71	Pediatric_Vascular Su	1 in 45 miles	2	35.5	71	100.0	0	0.0	2.4	2.6	
Dodge, GA	57	Pediatric_Vascular Su	1 in 45 miles	0		55	96.5	2	3.5	40.8	40.9	
Dooly, GA	76	Pediatric_Vascular Su	1 in 45 miles	0		76	100.0	0	0.0	8.0	8.1	
Harris, GA	104	Pediatric_Vascular Su	1 in 45 miles	0		104	100.0	0	0.0	15.8	15.8	
Heard, GA	33	Pediatric_Vascular Su	1 in 45 miles	0		33	100.0	0	0.0	17.3	17.3	
Johnson, GA	36	Pediatric_Vascular Su	1 in 45 miles	0		36	100.0	0	0.0	27.3	41.7	
Jones, GA	168	Pediatric_Vascular Su	1 in 45 miles	0		168	100.0	0	0.0	12.4	13.0	
Lamar, GA	102	Pediatric_Vascular Su	1 in 45 miles	0		102	100.0	0	0.0	16.0	16.4	
Laurens, GA	194	Pediatric_Vascular Su	1 in 45 miles	0		194	100.0	0	0.0	33.5	42.4	
Macon, GA	41	Pediatric_Vascular Su	1 in 45 miles	0		41	100.0	0	0.0	31.9	32.1	
Marion, GA	20	Pediatric_Vascular Su	1 in 45 miles	0		20	100.0	0	0.0	34.3	34.3	
Meriwether, GA	65	Pediatric_Vascular Su	1 in 45 miles	0		65	100.0	0	0.0	22.0	22.0	
Monroe, GA	100	Pediatric_Vascular Su	1 in 45 miles	0		100	100.0	0	0.0	18.0	22.6	
Peach, GA	122	Pediatric_Vascular Su	1 in 45 miles	4	30.5	122	100.0	0	0.0	8.6	8.6	
Pike, GA	68	Pediatric_Vascular Su	1 in 45 miles	0		68	100.0	0	0.0	15.1	15.5	
Pulaski, GA	42	Pediatric_Vascular Su	1 in 45 miles	0		42	100.0	0	0.0	28.9	28.9	
Talbot, GA	8	Pediatric_Vascular Su	1 in 45 miles	0		8	100.0	0	0.0	25.1	25.1	
Taylor, GA	42	Pediatric_Vascular Su	1 in 45 miles	0		42	100.0	0	0.0	28.5	28.5	
Telfair, GA	88	Pediatric_Vascular Su	1 in 45 miles	0		88	100.0	0	0.0	34.1	34.1	
Treutlen, GA	20	Pediatric_Vascular Su	1 in 45 miles	0		20	100.0	0	0.0	22.8	22.9	
Twiggs, GA	46	Pediatric_Vascular Su	1 in 45 miles	0		46	100.0	0	0.0	10.5	10.5	
Upson, GA	124	Pediatric_Vascular Su	1 in 45 miles	0		124	100.0	0	0.0	24.6	25.0	
Wheeler, GA	11	Pediatric_Vascular Su	1 in 45 miles	0		11	100.0	0	0.0	22.5	22.5	
Wilcox, GA		Pediatric_Vascular Su	1 in 45 miles	0		25	100.0	0	0.0	24.7	25.0	
Wilkinson, GA		Pediatric_Vascular Su	1 in 45 miles	0			100.0	0	0.0	19.0	24.4	
,		_										
Grand Totals	1,961	Pediatric_Vascular Su	1 in 45 miles	7	280.1	1,959	99.9	2	0.1	19.4	22.7	
	,	_				,						

Pediatric Urology- Urban

October 26, 2022

Access Analysis
Pediatric Urology- Urban
Member / Provider Groups
Pediatric Urban Members
(CENTRAL_URBAN)
Pediatric_Urology

	Members With and Without Access Member Provider Counts Ratio Members With Access Without Access Average Distance												
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance		
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2		
Bibb, GA		Pediatric_Urology	1 in 30 miles	14	28.6		100.0			3.1	3.2		
Houston, GA		Pediatric_Urology	1 in 30 miles	5	79.2	396	100.0	0	0.0	5.3	6.7		
Muscogee, GA		Pediatric_Urology	1 in 30 miles	13		688	100.0	0					
Troup, GA	191	Pediatric_Urology	1 in 30 miles	5	38.2	191	100.0	0	0.0	5.4	5.4		
Grand Totals	1,675	Pediatric_Urology	1 in 30 miles	37	45.3	1,675	100.0	0	0.0	3.4	3.8		

Pediatric Urology -Rural

October 26, 2022

Access Analysis
Pediatric Urology- Rural
Member / Provider Groups
Pediatric Rural Members
(CENTRAL_RURAL)
Pediatric_Urology

			Members With a	nd With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	141	Pediatric_Urology	1 in 45 miles	2	70.5	141	100.0	0	0.0	2.8	2.8
Bleckley, GA	25	Pediatric_Urology	1 in 45 miles	0		25	100.0	0	0.0	25.8	25.9
Chattahoochee, GA	29	Pediatric_Urology	1 in 45 miles	0		29	100.0	0	0.0	21.4	22.7
Crawford, GA	49	Pediatric_Urology	1 in 45 miles	0		49	100.0	0	0.0	20.1	21.1
Crisp, GA	71	Pediatric_Urology	1 in 45 miles	1	71.0	71	100.0	0	0.0	2.6	31.5
Dodge, GA	57	Pediatric_Urology	1 in 45 miles	0		57	100.0	0	0.0	32.5	33.3
Dooly, GA	76	Pediatric_Urology	1 in 45 miles	0		76	100.0	0	0.0	7.9	28.4
Harris, GA	104	Pediatric_Urology	1 in 45 miles	0		104	100.0	0	0.0	15.5	15.6
Heard, GA	33	Pediatric_Urology	1 in 45 miles	0		33	100.0	0	0.0	17.3	17.4
Johnson, GA	36	Pediatric_Urology	1 in 45 miles	0		36	100.0	0	0.0	22.7	23.3
Jones, GA	168	Pediatric_Urology	1 in 45 miles	0		168	100.0	0	0.0	12.5	12.6
Lamar, GA	102	Pediatric_Urology	1 in 45 miles	0		102	100.0	0	0.0	16.3	16.5
Laurens, GA	194	Pediatric_Urology	1 in 45 miles	5	38.8	194	100.0	0	0.0	5.1	5.6
Macon, GA	41	Pediatric_Urology	1 in 45 miles	1	41.0	41	100.0	0	0.0	5.8	25.5
Marion, GA	20	Pediatric_Urology	1 in 45 miles	0		20	100.0	0	0.0	25.6	28.3
Meriwether, GA	65	Pediatric_Urology	1 in 45 miles	0		65	100.0	0	0.0	19.7	22.0
Monroe, GA	100	Pediatric_Urology	1 in 45 miles	0		100	100.0	0	0.0	17.8	18.0
Peach, GA		Pediatric_Urology	1 in 45 miles	0		122	100.0	0	0.0	11.9	14.5
Pike, GA		Pediatric_Urology	1 in 45 miles	0		68	100.0	0	0.0	12.4	15.5
Pulaski, GA		Pediatric_Urology	1 in 45 miles	0		42	100.0	0	0.0	28.9	29.1
Talbot, GA		Pediatric_Urology	1 in 45 miles	0		8	100.0	0	0.0	20.5	25.2
Taylor, GA		Pediatric_Urology	1 in 45 miles	0		42	100.0	0	0.0	23.3	26.4
Telfair, GA	88	Pediatric_Urology	1 in 45 miles	0		88	100.0	0	0.0	33.1	33.3
Treutlen, GA		Pediatric_Urology	1 in 45 miles	0		20	100.0	0	0.0		22.2
Twiggs, GA		Pediatric_Urology	1 in 45 miles	0		46	100.0	0	0.0	10.2	10.3
Upson, GA		Pediatric_Urology	1 in 45 miles	1	124.0	124		0	0.0	3.8	24.9
Wheeler, GA		Pediatric_Urology	1 in 45 miles	0		11	100.0	0	0.0		22.3
Wilcox, GA		Pediatric_Urology	1 in 45 miles	0		25	100.0	0	0.0		37.5
Wilkinson, GA		Pediatric_Urology	1 in 45 miles	0		54	100.0	0	0.0	19.5	19.5
, , ,											
L		!		-							

Pharmacy - Urban

October 26, 2022

Access Analysis
Pharmacy- Urban

Member / Provider Groups
Urban Members (CENTRAL_URBAN)
PHARMACY

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		PHARMACY	1 in 15 miles	41	11.2	458	100.0	0	0.0	0.9	1.3
Houston, GA	429	PHARMACY	1 in 15 miles	25	17.2	429	100.0	0	0.0		
Muscogee, GA	760	PHARMACY	1 in 15 miles	40	19.0		100.0		0.0		
Troup, GA	208	PHARMACY	1 in 15 miles	10	20.8	206	99.0	2	1.0	2.5	3.0
Grand Totals	1,855	PHARMACY	1 in 15 miles	116	16.0	1,853	99.9	2	0.1	1.1	1.5
© 2022 Quaet Analytics II C											

Pharmacy - Rural

October 26, 2022

Access Analysis
Pharmacy- Rural

Member / Provider Groups
Rural Members (CENTRAL_RURAL)
PHARMACY

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	PHARMACY	1 in 30 miles	7	21.6	151	100.0	0	0.0	1.7	2.1
Bleckley, GA	27	PHARMACY	1 in 30 miles	4	6.8	27	100.0	0	0.0	3.3	4.6
Chattahoochee, GA	30	PHARMACY	1 in 30 miles	0		30	100.0	0	0.0	14.4	16.6
Crawford, GA	52	PHARMACY	1 in 30 miles	1	52.0	52	100.0	0	0.0	3.5	12.2
Crisp, GA	74	PHARMACY	1 in 30 miles	6	12.3	74	100.0	0	0.0	1.5	1.7
Dodge, GA	58	PHARMACY	1 in 30 miles	6	9.7	58	100.0	0	0.0	4.6	6.2
Dooly, GA	76	PHARMACY	1 in 30 miles	2	38.0	76	100.0	0	0.0	1.4	8.0
Harris, GA	109	PHARMACY	1 in 30 miles	2	54.5	109	100.0	0	0.0	5.4	8.2
Heard, GA	36	PHARMACY	1 in 30 miles	1	36.0	36	100.0	0	0.0	4.7	15.2
Johnson, GA	36	PHARMACY	1 in 30 miles	1	36.0	36	100.0	0	0.0	7.3	15.9
Jones, GA	174	PHARMACY	1 in 30 miles	3	58.0	174	100.0	0	0.0	4.2	4.4
Lamar, GA	108	PHARMACY	1 in 30 miles	3	36.0	108	100.0	0	0.0	2.8	3.3
Laurens, GA	212	PHARMACY	1 in 30 miles	10	21.2	212	100.0	0	0.0	3.3	3.7
Macon, GA	44	PHARMACY	1 in 30 miles	3	14.7	44	100.0	0	0.0	4.8	5.2
Marion, GA	21	PHARMACY	1 in 30 miles	1	21.0	21	100.0	0	0.0	4.9	15.5
Meriwether, GA	68	PHARMACY	1 in 30 miles	4	17.0	68	100.0	0	0.0	2.7	9.9
Monroe, GA	105	PHARMACY	1 in 30 miles	6	17.5	105	100.0	0	0.0	4.0	4.2
Peach, GA	137	PHARMACY	1 in 30 miles	6	22.8	137	100.0	0	0.0	2.3	3.0
Pike, GA	71	PHARMACY	1 in 30 miles	2	35.5	71	100.0	0	0.0	5.1	5.8
Pulaski, GA	44	PHARMACY	1 in 30 miles	6	7.3	44	100.0	0	0.0	1.6	1.7
Talbot, GA	8	PHARMACY	1 in 30 miles	1	8.0	8	100.0	0	0.0	11.1	15.6
Taylor, GA	44	PHARMACY	1 in 30 miles	3	14.7	44	100.0	0	0.0	3.9	5.2
Telfair, GA	92	PHARMACY	1 in 30 miles	4	23.0	92	100.0	0	0.0	2.0	2.9
Treutlen, GA	22	PHARMACY	1 in 30 miles	2	11.0	22	100.0	0	0.0	2.3	2.9
Twiggs, GA	55	PHARMACY	1 in 30 miles	1	55.0	55	100.0	0	0.0	5.5	7.9
Upson, GA	131	PHARMACY	1 in 30 miles	4	32.8		100.0	0	0.0	2.4	3.1
Wheeler, GA		PHARMACY	1 in 30 miles	1	11.0		100.0	0	0.0	7.6	14.6
Wilcox, GA		PHARMACY	1 in 30 miles	3	8.3		100.0	0	0.0	2.3	9.2
Wilkinson, GA	60	PHARMACY	1 in 30 miles	2	30.0		100.0	0	0.0	9.5	9.9
Grand Totals	2,081	PHARMACY	1 in 30 miles	95	21.9	2,081	100.0	0	0.0	3.7	5.6

24 Hour Pharmacy - Urban

October 26, 2022

Access Analysis
24 Hour Pharmacy- Urban

Member / Provider Groups
Urban Members (CENTRAL_URBAN)
24 Hour Pharmacy

			Members With	and With	out Access						
	Member	ŗ	Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	458	24 Hour Pharmacy	1 in 15 miles	1	458.0	455	99.3	3	0.7	6.1	56.0
Houston, GA	429	24 Hour Pharmacy	1 in 15 miles	0		1	0.2	428	99.8		
Muscogee, GA		24 Hour Pharmacy	1 in 15 miles	1	760.0						
Troup, GA	208	24 Hour Pharmacy	1 in 15 miles	1	208.0	202	97.1	6	2.9	4.1	39.2
0 17.11	4.055	0411 - 51	4: 45 9		040.0	4 440	70.0	440	00.0	0.7	54.0
Grand Totals	1,855	24 Hour Pharmacy	1 in 15 miles	3	618.3	1,413	76.2	442	23.8	8.7	51.6
© 2022 Quest Analytics, LLC.											_

24 Hour Pharmacy -Rural

October 26, 2022

Access Analysis
24 Hour Pharmacy- Rural

Member / Provider Groups
Rural Members (CENTRAL_RURAL)
24 Hour Pharmacy

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	24 Hour Pharmacy	1 in 30 miles	0		5	3.3	146	96.7	34.3	60.2
Bleckley, GA	27	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	27	100.0	40.1	89.3
Chattahoochee, GA	30	24 Hour Pharmacy	1 in 30 miles	0		30	100.0	0	0.0	22.5	55.5
Crawford, GA	52	24 Hour Pharmacy	1 in 30 miles	0		48	92.3	4	7.7	25.0	59.4
Crisp, GA	74	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	74	100.0	64.8	83.2
Dodge, GA	58	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	58	100.0	61.2	90.9
Dooly, GA	76	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	76	100.0	55.7	78.4
Harris, GA	109	24 Hour Pharmacy	1 in 30 miles	0		109	100.0	0	0.0	18.0	30.8
Heard, GA	36	24 Hour Pharmacy	1 in 30 miles	0		36	100.0	0	0.0	20.0	36.8
Johnson, GA	36	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	36	100.0	59.3	103.6
Jones, GA	174	24 Hour Pharmacy	1 in 30 miles	0		174	100.0	0	0.0	12.1	51.9
Lamar, GA	108	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	108	100.0	40.1	46.7
Laurens, GA	212	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	212	100.0	53.1	98.1
Macon, GA	44	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	44	100.0	52.8	58.5
Marion, GA	21	24 Hour Pharmacy	1 in 30 miles	0		3	14.3	18	85.7	34.7	65.6
Meriwether, GA	68	24 Hour Pharmacy	1 in 30 miles	0		59	86.8	9	13.2	22.2	43.3
Monroe, GA	105	24 Hour Pharmacy	1 in 30 miles	0		88	83.8	17	16.2	27.7	40.8
Peach, GA	137	24 Hour Pharmacy	1 in 30 miles	0		60	43.8	77	56.2	28.7	65.3
Pike, GA	71	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	71	100.0	39.5	46.0
Pulaski, GA	44	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	44	100.0	42.7	90.3
Talbot, GA	8	24 Hour Pharmacy	1 in 30 miles	0		5	62.5	3	37.5	26.5	50.3
Taylor, GA	44	24 Hour Pharmacy	1 in 30 miles	0		3	6.8	41	93.2	41.0	50.9
Telfair, GA	92	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	92	100.0	78.5	88.0
Treutlen, GA	22	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	22	100.0	74.3	113.6
Twiggs, GA	55	24 Hour Pharmacy	1 in 30 miles	0		50	90.9	5	9.1	12.1	64.1
Upson, GA	131	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	131	100.0	41.1	45.6
Wheeler, GA	11	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	11	100.0	78.9	100.6
Wilcox, GA	25	24 Hour Pharmacy	1 in 30 miles	0		0	0.0	25	100.0	65.0	78.9
Wilkinson, GA		24 Hour Pharmacy	1 in 30 miles	0		56	93.3	4	6.7	24.5	71.6
Grand Totals	2,081	24 Hour Pharmacy	1 in 30 miles	0		726	34.9	1,355	65.1	38.6	64.6

Occupational Therapy -Urban

October 26, 2022

Access Analysis
Occupational Therapy- Urban
Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Occupational Therapy

			Members With	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Occupational Therapy	1 in 30 miles	29			100.0		0.0	2.1	2.3
Houston, GA		Occupational Therapy	1 in 30 miles	33		429	100.0	0	0.0	2.1	2.5
Muscogee, GA		Occupational Therapy	1 in 30 miles	38			100.0		0.0	1.7	2.2
Troup, GA	208	Occupational Therapy	1 in 30 miles	2	104.0	208	100.0	0	0.0	3.8	8.3
Grand Totals	1,855	Occupational Therapy	1 in 30 miles	102	18.2	1,855	100.0	0	0.0	2.1	3.0
© 2022 Quest Analytics III C											

Occupational Therapy- Rural

October 26, 2022

Access Analysis
Occupational Therapy- Rural
Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Occupational Therapy

County # Group Standard # Droviders to Providers # % # % 1	
Baldwin, GA	Distance
Bleckley, GA	2
Chattahoochee, GA 30 Occupational Therapy 1 in 45 miles 0	25.9
Crawford, GA 52 Occupational Therapy 1 in 45 miles 0	22.9
Crisp, GA 74 Occupational Therapy 1 in 45 miles 3 24.7 74 100.0 0 0.0 2.5 Dodge, GA 58 Occupational Therapy 1 in 45 miles 0 58 100.0 0 0.0 29.1 Dooly, GA 76 Occupational Therapy 1 in 45 miles 1 76.0 76 100.0 0 0.0 1.4 Harris, GA 109 Occupational Therapy 1 in 45 miles 0 36 100.0 0 0.0 14.5 Johnson, GA 36 Occupational Therapy 1 in 45 miles 1 36.0 36 100.0 0 0.0 14.5 Jones, GA 174 Occupational Therapy 1 in 45 miles 1 174.0 174.0 100.0 0 0.0 6.7 Lamar, GA 108 Occupational Therapy 1 in 45 miles 1 108.0 108.0 0 0 0 0 0 3.5 Laurens, GA <td>21.6</td>	21.6
Dodge, GA 58 Occupational Therapy 1 in 45 miles 0	16.0
Dooly, GA	2.5
Dooly, GA	29.9
Harris, GA 109 Occupational Therapy 1 in 45 miles 0 36 100.0 0 0.0 15.3 15.3 15.3 15.3 15.3 15.3 15.3 15.3	10.1
Johnson, GA 36 Occupational Therapy 1 in 45 miles 1 36.0 36 100.0 0 0.0 7.7 Jones, GA 174 Occupational Therapy 1 in 45 miles 1 174.0 174 100.0 0 0.0 6.7 Lamar, GA 108 Occupational Therapy 1 in 45 miles 1 108.0 108 100.0 0 0.0 3.1 Laurens, GA 212 Occupational Therapy 1 in 45 miles 6 35.3 212 100.0 0 0.0 3.6 Macon, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 3.6 Meriwether, GA 68 Occupational Therapy 1 in 45 miles 0 21 100.0 0 0.0 3.3 Meriwether, GA 68 Occupational Therapy 1 in 45 miles 0 68 100.0 0 0.0 20.4 Monroe, GA 105	16.0
Johnson, GA 36 Occupational Therapy 1 in 45 miles 1 36.0 36 100.0 0 0.0 7.7 Jones, GA 174 Occupational Therapy 1 in 45 miles 1 174.0 174 100.0 0 0.0 6.7 Lamar, GA 108 Occupational Therapy 1 in 45 miles 1 108.0 108 100.0 0 0.0 3.1 Laurens, GA 212 Occupational Therapy 1 in 45 miles 6 35.3 212 100.0 0 0.0 3.8 Macon, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 3.8 Marion, GA 21 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 3.3 Meriwether, GA 68 Occupational Therapy 1 in 45 miles 0 68 100.0 0 0.0 20.4 Monroe, GA 105 <t< td=""><td>19.4</td></t<>	19.4
Jones, GA 174 Occupational Therapy 1 in 45 miles 1 174.0 174 100.0 0 0.0 6.7 Lamar, GA 108 Occupational Therapy 1 in 45 miles 1 108.0 108 100.0 0 0.0 3.1 Laurens, GA 212 Occupational Therapy 1 in 45 miles 6 35.3 212 100.0 0 0.0 3.8 Macon, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 14.6 Marion, GA 21 Occupational Therapy 1 in 45 miles 0 21 100.0 0 0.0 33.6 Meriwether, GA 68 Occupational Therapy 1 in 45 miles 0 21 100.0 0 0.0 20.4 Monroe, GA 105 Occupational Therapy 1 in 45 miles 3 35.0 105 100.0 0 0.0 20.4 Pike, GA 71 <	17.2
Lamar, GA 108 Occupational Therapy 1 in 45 miles 1 108.0 108 100.0 0 0.0 3.1 Laurens, GA 212 Occupational Therapy 1 in 45 miles 6 35.3 212 100.0 0 0.0 3.8 Macon, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 14.6 Marion, GA 21 Occupational Therapy 1 in 45 miles 0 21 100.0 0 0.0 33.6 Meriwether, GA 68 Occupational Therapy 1 in 45 miles 0 68 100.0 0 0.0 0.0 20.4 Monroe, GA 105 Occupational Therapy 1 in 45 miles 3 35.0 105 100.0 0 0.0 0.0 3.3 Peach, GA 137 Occupational Therapy 1 in 45 miles 3 45.7 137 100.0 0 0.0 8.3 Pike, GA 71 Occupational Therapy 1 in 45 miles 0 71 100.0 0 0.0 12.7 Pulaski, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 22.5 Taylor, GA 44 Occupational Therapy 1 in 45 miles 88	12.3
Laurens, GA 212 Occupational Therapy 1 in 45 miles 6 35.3 212 100.0 0 0.0 38.8 Macon, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 14.6 Marion, GA 21 Occupational Therapy 1 in 45 miles 0 21 100.0 0 0.0 33.6 Meriwether, GA 68 Occupational Therapy 1 in 45 miles 0 68 100.0 0 0.0 20.4 Monroe, GA 105 Occupational Therapy 1 in 45 miles 3 35.0 105 100.0 0 0.0 33.8 Peach, GA 137 Occupational Therapy 1 in 45 miles 3 35.0 105 100.0 0 0.0 33.3 Pike, GA 71 Occupational Therapy 1 in 45 miles 0 71 100.0 0 0.0 12.7 Pulaski, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0	10.2
Macon, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 14.6 Marion, GA 21 Occupational Therapy 1 in 45 miles 0 21 100.0 0 0.0 33.6 Meriwether, GA 68 Occupational Therapy 1 in 45 miles 0 68 100.0 0 0.0 20.4 Monroe, GA 105 Occupational Therapy 1 in 45 miles 3 35.0 105 100.0 0 0.0 3.3 Peach, GA 137 Occupational Therapy 1 in 45 miles 3 45.7 137 100.0 0 0.0 8.3 Pike, GA 71 Occupational Therapy 1 in 45 miles 0 71 100.0 0 0.0 12.7 Pulaski, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 22.5 Taylor, GA 44 Occupational Therapy 1 in 45 miles 0 8 100.0 0 <	4.1
Marion, GA 21 Occupational Therapy 1 in 45 miles 0 21 100.0 0 0.0 33.6 Meriwether, GA 68 Occupational Therapy 1 in 45 miles 0 68 100.0 0 0.0 20.4 Monroe, GA 105 Occupational Therapy 1 in 45 miles 3 35.0 105 100.0 0 0.0 3.3 Peach, GA 137 Occupational Therapy 1 in 45 miles 3 45.7 137 100.0 0 0.0 8.3 Pike, GA 71 Occupational Therapy 1 in 45 miles 0 71 100.0 0 0.0 12.7 Pulaski, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 22.5 Taylor, GA 44 Occupational Therapy 1 in 45 miles 0 8 100.0 0 0.0 22.5 Taylor, GA 44 Occupational Therapy 1 in 45 miles 0 8 100.0 0 <	25.5
Meriwether, GA 68 Occupational Therapy 1 in 45 miles 0 68 100.0 0 0.0 20.4 Monroe, GA 105 Occupational Therapy 1 in 45 miles 3 35.0 105 100.0 0 0.0 3.3 Peach, GA 137 Occupational Therapy 1 in 45 miles 3 45.7 137 100.0 0 0.0 8.3 Pike, GA 71 Occupational Therapy 1 in 45 miles 0 71 100.0 0 0.0 12.7 Pulaski, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 22.5 Taylor, GA 44 Occupational Therapy 1 in 45 miles 0 8 100.0 0 0.0 22.5 Telfair, GA 92 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 22.5 Telfair, GA 92 Occupational Therapy 1 in 45 miles 0 92 100.0 0	34.2
Monroe, GA 105 Occupational Therapy 1 in 45 miles 3 35.0 105 100.0 0 0.0 3.3 Peach, GA 137 Occupational Therapy 1 in 45 miles 3 45.7 137 100.0 0 0.0 8.3 Pike, GA 71 Occupational Therapy 1 in 45 miles 0 71 100.0 0 0.0 12.7 Pulaski, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 23.1 Talbot, GA 8 Occupational Therapy 1 in 45 miles 0 8 100.0 0 0.0 22.5 Taylor, GA 44 Occupational Therapy 1 in 45 miles 0 8 100.0 0 0.0 22.5 Telfair, GA 92 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 22.5	23.8
Peach, GA 137 Occupational Therapy 1 in 45 miles 3 45.7 137 100.0 0 0.0 8.3 Pike, GA 71 Occupational Therapy 1 in 45 miles 0 71 100.0 0 0.0 12.7 Pulaski, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 23.1 Talbot, GA 8 Occupational Therapy 1 in 45 miles 0 8 100.0 0 0.0 22.5 Taylor, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 24.5 Telfair, GA 92 Occupational Therapy 1 in 45 miles 0 92 100.0 0 0.0 27.5	7.6
Pike, GA 71 Occupational Therapy 1 in 45 miles 0 71 100.0 0 0.0 12.7 Pulaski, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 23.1 Talbot, GA 8 Occupational Therapy 1 in 45 miles 0 8 100.0 0 0.0 22.5 Taylor, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 24.5 Telfair, GA 92 Occupational Therapy 1 in 45 miles 0 92 100.0 0 0.0 27.5	8.9
Pulaski, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 23.1 Talbot, GA 8 Occupational Therapy 1 in 45 miles 0 8 100.0 0 0.0 22.5 Taylor, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 24.5 Telfair, GA 92 Occupational Therapy 1 in 45 miles 0 92 100.0 0 0.0 27.5	15.6
Talbot, GA 8 Occupational Therapy 1 in 45 miles 0 8 100.0 0 0.0 22.5 Taylor, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 24.5 Telfair, GA 92 Occupational Therapy 1 in 45 miles 0 92 100.0 0 0.0 27.5	24.3
Taylor, GA 44 Occupational Therapy 1 in 45 miles 0 44 100.0 0 0.0 24.5 Telfair, GA 92 Occupational Therapy 1 in 45 miles 0 92 100.0 0 0.0 27.5	24.5
Telfair, GA 92 Occupational Therapy 1 in 45 miles 0 92 100.0 0 0.0 27.5	29.0
	32.8
	20.7
Twiggs, GA 55 Occupational Therapy 1 in 45 miles 0 55 100.0 0 0.0 9.4	10.7
Upson, GA 131 Occupational Therapy 1 in 45 miles 1 131.0 131 100.0 0 0.0 12.6	18.2
Wheeler, GA 11 Occupational Therapy 1 in 45 miles 0 11 100.0 0 0.0 17.8	21.1
Wilcox, GA 25 Occupational Therapy 1 in 45 miles 0 25 100.0 0 0.0 16.9	19.1
Wilkinson, GA 60 Occupational Therapy 1 in 45 miles 0 60 100.0 0 0.0 17.4	21.6
	21.0
Grand Totals 2,081 Occupational Therapy 1 in 45 miles 21 99.1 2,081 100.0 0 0.0 11.3	16.1

Physical Therapy - Urban

October 26, 2022

Access Analysis
Physical Therapy- Urban
Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Physical Therapy

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	458	Physical Therapy	1 in 30 miles	44	10.4	458	100.0	0	0.0	1.9	2.4
Houston, GA		Physical Therapy	1 in 30 miles	39		429	100.0	0	0.0		
Muscogee, GA		Physical Therapy	1 in 30 miles	64			100.0				
Troup, GA	208	Physical Therapy	1 in 30 miles	6	34.7	208	100.0	0	0.0	5.7	5.9
Grand Totals	1 855	Physical Therapy	1 in 30 miles	153	12.1	1,855	100.0	0	0.0	2.3	2.6
Siana rotalo	.,000	· ···yo.ou · ···o·upy	6665			.,000			0.0		
© 2022 Quest Analytics, LLC.											

Physical Therapy - Rural

October 26, 2022

Access Analysis
Physical Therapy- Rural
Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Physical Therapy

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	Physical Therapy	1 in 45 miles	6	25.2	151	100.0	0	0.0	2.6	3.1
Bleckley, GA	27	Physical Therapy	1 in 45 miles	0		27	100.0	0	0.0	15.1	20.4
Chattahoochee, GA	30	Physical Therapy	1 in 45 miles	0		30	100.0	0	0.0	21.4	21.4
Crawford, GA	52	Physical Therapy	1 in 45 miles	0		52	100.0	0	0.0	16.0	17.0
Crisp, GA	74	Physical Therapy	1 in 45 miles	11	6.7	74	100.0	0	0.0	1.6	1.6
Dodge, GA	58	Physical Therapy	1 in 45 miles	0		58	100.0	0	0.0	20.8	24.7
Dooly, GA	76	Physical Therapy	1 in 45 miles	4	19.0	76	100.0	0	0.0	1.4	1.4
Harris, GA	109	Physical Therapy	1 in 45 miles	1	109.0	109	100.0	0	0.0	11.8	13.4
Heard, GA	36	Physical Therapy	1 in 45 miles	0		36	100.0	0	0.0	17.1	17.1
Johnson, GA	36	Physical Therapy	1 in 45 miles	2	18.0	36	100.0	0	0.0	7.7	8.2
Jones, GA	174	Physical Therapy	1 in 45 miles	0		174	100.0	0	0.0	11.9	12.0
Lamar, GA	108	Physical Therapy	1 in 45 miles	5	21.6	108	100.0	0	0.0	3.6	4.0
Laurens, GA	212	Physical Therapy	1 in 45 miles	11	19.3	212	100.0	0	0.0	4.1	4.2
Macon, GA	44	Physical Therapy	1 in 45 miles	0		44	100.0	0	0.0	22.6	22.8
Marion, GA	21	Physical Therapy	1 in 45 miles	0		21	100.0	0	0.0	28.9	28.9
Meriwether, GA	68	Physical Therapy	1 in 45 miles	4	17.0	68	100.0	0	0.0	13.3	13.3
Monroe, GA	105	Physical Therapy	1 in 45 miles	2	52.5	105	100.0	0	0.0	4.3	4.7
Peach, GA	137	Physical Therapy	1 in 45 miles	1	137.0	137	100.0	0	0.0	8.2	9.6
Pike, GA	71	Physical Therapy	1 in 45 miles	0		71	100.0	0	0.0	11.1	12.0
Pulaski, GA	44	Physical Therapy	1 in 45 miles	1	44.0	44	100.0	0	0.0	3.1	22.2
Talbot, GA	8	Physical Therapy	1 in 45 miles	0		8	100.0	0	0.0	18.5	18.5
Taylor, GA	44	Physical Therapy	1 in 45 miles	0		44	100.0	0	0.0	25.1	29.1
Telfair, GA	92	Physical Therapy	1 in 45 miles	1	92.0	92	100.0	0	0.0	2.3	28.3
Treutlen, GA	22	Physical Therapy	1 in 45 miles	0		22	100.0	0	0.0	20.3	22.1
Twiggs, GA	55	Physical Therapy	1 in 45 miles	0		55	100.0	0	0.0	9.7	9.9
Upson, GA	131	Physical Therapy	1 in 45 miles	1	131.0	131	100.0	0	0.0	3.6	17.9
Wheeler, GA	11	Physical Therapy	1 in 45 miles	0		11	100.0	0	0.0	17.0	20.5
Wilcox, GA	25	Physical Therapy	1 in 45 miles	0		25	100.0	0	0.0	18.3	18.7
Wilkinson, GA	60	Physical Therapy	1 in 45 miles	0		60	100.0	0	0.0	18.6	18.9
Grand Totals	2,081	Physical Therapy	1 in 45 miles	50	41.6	2,081	100.0	0	0.0	9.1	12.2

Speech Therapy - Urban

October 26, 2022

Access Analysis
SpeechTherapy- Urban
Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Speech Therapy

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	458	Speech Therapy	1 in 30 miles	72	6.4	458	100.0	0	0.0	1.7	1.9
Houston, GA	429	Speech Therapy	1 in 30 miles	70	6.1	429	100.0	0	0.0		2.3
Muscogee, GA		Speech Therapy	1 in 30 miles	59			100.0				
Troup, GA	208	Speech Therapy	1 in 30 miles	7	29.7	208	100.0	0	0.0	2.4	3.7
0 17.1	4.055	0 1 7	4			4.055	400.0			4.0	
Grand Totals	1,855	Speech Therapy	1 in 30 miles	208	8.9	1,855	100.0	0	0.0	1.8	2.4
© 2022 Quest Analytics, LLC.											

Speech Therapy- Rural

October 26, 2022

Access Analysis
Speech Therapy- Rural
Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Speech Therapy

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	Speech Therapy	1 in 45 miles	16	9.4	151	100.0	0	0.0	1.5	2.5
Bleckley, GA	27	Speech Therapy	1 in 45 miles	0		27	100.0	0	0.0	12.7	18.1
Chattahoochee, GA	30	Speech Therapy	1 in 45 miles	0		30	100.0	0	0.0	15.5	17.2
Crawford, GA	52	Speech Therapy	1 in 45 miles	0		52	100.0	0	0.0	14.5	16.0
Crisp, GA	74	Speech Therapy	1 in 45 miles	6	12.3	74	100.0	0	0.0	1.5	2.3
Dodge, GA	58	Speech Therapy	1 in 45 miles	3	19.3	58	100.0	0	0.0	6.2	8.6
Dooly, GA	76	Speech Therapy	1 in 45 miles	2	38.0	76	100.0	0	0.0	1.4	7.5
Harris, GA	109	Speech Therapy	1 in 45 miles	0		109	100.0	0	0.0	13.8	14.3
Heard, GA	36	Speech Therapy	1 in 45 miles	0		36	100.0	0	0.0	11.1	13.9
Johnson, GA	36	Speech Therapy	1 in 45 miles	3	12.0	36	100.0	0	0.0	7.8	7.9
Jones, GA		Speech Therapy	1 in 45 miles	1	174.0	174	100.0	0	0.0	5.0	10.7
Lamar, GA	108	Speech Therapy	1 in 45 miles	1	108.0	108	100.0	0	0.0	3.7	9.0
Laurens, GA	212	Speech Therapy	1 in 45 miles	22	9.6	212	100.0	0	0.0	3.4	3.7
Macon, GA		Speech Therapy	1 in 45 miles	1			100.0	0	0.0	5.1	20.3
Marion, GA	21	Speech Therapy	1 in 45 miles	1	21.0		100.0	0	0.0	6.7	17.1
Meriwether, GA		Speech Therapy	1 in 45 miles	10			100.0	0	0.0	1.8	2.3
Monroe, GA	105	Speech Therapy	1 in 45 miles	7			100.0	0	0.0	3.4	4.0
Peach, GA		Speech Therapy	1 in 45 miles	3			100.0	0	0.0	3.1	8.9
Pike, GA		Speech Therapy	1 in 45 miles	2			100.0	0	0.0	4.9	9.4
Pulaski, GA		Speech Therapy	1 in 45 miles	0			100.0	0	0.0	12.1	19.1
Talbot, GA		Speech Therapy	1 in 45 miles	0			100.0	0	0.0	14.3	18.9
Taylor, GA		Speech Therapy	1 in 45 miles	0			100.0	0	0.0	19.6	23.8
Telfair, GA		Speech Therapy	1 in 45 miles	1	92.0		100.0	0	0.0	2.1	22.2
Treutlen, GA		Speech Therapy	1 in 45 miles	0			100.0	0	0.0	19.0	19.0
Twiggs, GA		Speech Therapy	1 in 45 miles	4	13.8		100.0	0	0.0	5.2	7.3
Upson, GA		Speech Therapy	1 in 45 miles	7	18.7		100.0	0	0.0	3.1	3.7
Wheeler, GA		Speech Therapy	1 in 45 miles	0			100.0	0	0.0	16.3	18.2
Wilcox, GA		Speech Therapy	1 in 45 miles	0			100.0	0	0.0	16.2	17.0
Wilkinson, GA		Speech Therapy	1 in 45 miles	2	30.0		100.0	0	0.0	2.1	12.6
		opecon merupy	1000	_	00.0			Ĭ	0.0		.2.0
Grand Totals	2.081	Speech Therapy	1 in 45 miles	92	22.6	2,081	100.0	0	0.0	5.6	9.5
	,					,					
									_		

Outpatient Radiology Services - Urban

October 26, 2022

Access Analysis
Outpatient Radiology Services- Urban
Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Outpatient Radiology Services

			Members With a	and With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	458	Outpatient Radiology	1 in 30 miles	257	1.8	458	100.0	0	0.0	1.9	2.2
Houston, GA		Outpatient Radiology	1 in 30 miles	39		429	100.0	0			
Muscogee, GA	760	Outpatient Radiology	1 in 30 miles	119			100.0				
Troup, GA	208	Outpatient Radiology	1 in 30 miles	33	6.3	208	100.0	0	0.0	3.8	5.2
Grand Totals	1,855	Outpatient Radiology	1 in 30 miles	448	4.1	1,855	100.0	0	0.0	1.9	2.2
© 2022 Quest Analytics, LLC.											

Outpatient Radiology Services -Rural

October 26, 2022

Access Analysis
Outpatient Radiology Services- Rural
Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Outpatient Radiology Services

			Members With a	and With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA		Outpatient Radiology	1 in 45 miles	3	50.3	151	100.0	0	0.0	2.5	2.5
Bleckley, GA	27	Outpatient Radiology	1 in 45 miles	51	0.5	27	100.0	0	0.0	2.0	3.7
Chattahoochee, GA	30	Outpatient Radiology	1 in 45 miles	0		30	100.0	0	0.0	17.6	17.7
Crawford, GA	52	Outpatient Radiology	1 in 45 miles	0		52	100.0	0	0.0	16.7	18.0
Crisp, GA	74	Outpatient Radiology	1 in 45 miles	2	37.0	74	100.0	0	0.0	2.2	2.8
Dodge, GA	58	Outpatient Radiology	1 in 45 miles	3	19.3	58	100.0	0	0.0	7.0	7.3
Dooly, GA	76	Outpatient Radiology	1 in 45 miles	0		76	100.0	0	0.0	8.0	10.3
Harris, GA	109	Outpatient Radiology	1 in 45 miles	0		109	100.0	0	0.0	13.3	13.5
Heard, GA	36	Outpatient Radiology	1 in 45 miles	0		36	100.0	0	0.0	16.7	16.8
Johnson, GA	36	Outpatient Radiology	1 in 45 miles	0		36	100.0	0	0.0	17.5	20.3
Jones, GA	174	Outpatient Radiology	1 in 45 miles	0		174	100.0	0	0.0	12.1	12.1
Lamar, GA	108	Outpatient Radiology	1 in 45 miles	9	12.0	108	100.0	0	0.0	3.3	3.3
Laurens, GA	212	Outpatient Radiology	1 in 45 miles	51	4.2	212	100.0	0	0.0	3.9	4.3
Macon, GA	44	Outpatient Radiology	1 in 45 miles	1	44.0	44	100.0	0	0.0	5.2	21.8
Marion, GA	21	Outpatient Radiology	1 in 45 miles	0		21	100.0	0	0.0	26.5	27.1
Meriwether, GA	68	Outpatient Radiology	1 in 45 miles	26	2.6	68	100.0	0	0.0	10.6	10.6
Monroe, GA	105	Outpatient Radiology	1 in 45 miles	9	11.7	105	100.0	0	0.0	4.1	4.2
Peach, GA	137	Outpatient Radiology	1 in 45 miles	48	2.9	137	100.0	0	0.0	7.5	8.5
Pike, GA	71	Outpatient Radiology	1 in 45 miles	0		71	100.0	0	0.0	11.5	12.1
Pulaski, GA	44	Outpatient Radiology	1 in 45 miles	61	0.7	44	100.0	0	0.0	2.9	2.9
Talbot, GA	8	Outpatient Radiology	1 in 45 miles	0		8	100.0	0	0.0	20.0	20.9
Taylor, GA	44	Outpatient Radiology	1 in 45 miles	0		44	100.0	0	0.0	24.2	27.2
Telfair, GA	92	Outpatient Radiology	1 in 45 miles	11	8.4	92	100.0	0	0.0	6.3	6.5
Treutlen, GA	22	Outpatient Radiology	1 in 45 miles	0		22	100.0	0	0.0	15.8	16.1
Twiggs, GA	55	Outpatient Radiology	1 in 45 miles	0		55	100.0	0	0.0	8.0	8.5
Upson, GA	131	Outpatient Radiology	1 in 45 miles	1	131.0	131	100.0	0	0.0	3.7	17.3
Wheeler, GA	11	Outpatient Radiology	1 in 45 miles	3	3.7	11	100.0	0	0.0	7.0	7.0
Wilcox, GA	25	Outpatient Radiology	1 in 45 miles	0		25	100.0	0	0.0	18.7	19.9
Wilkinson, GA	60	Outpatient Radiology	1 in 45 miles	0		60	100.0	0	0.0	19.8	19.8
Grand Totals	2,081	Outpatient Radiology	1 in 45 miles	279	7.5	2,081	100.0	0	0.0	8.5	10.2
© 2022 Quest Analytics III C	L	!	l		L		Ь				



Amerigroup Community Care-Behavioral Health Providers

Access Analysis
Central

October 26, 2022

Behavioral Health - Urban

October 26, 2022

Access Analysis
Behavioral Health- Urban
Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Behavioral Health

			Members With	and With	out Access						
	Member	Р	rovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Behavioral Health	1 in 30 miles	241	1.9		100.0		0.0	0.8	
Houston, GA		Behavioral Health	1 in 30 miles	136		429	100.0	0	0.0	1.3	
Muscogee, GA		Behavioral Health	1 in 30 miles	336			100.0		0.0		
Troup, GA	208	Behavioral Health	1 in 30 miles	56	3.7	208	100.0	0	0.0	2.1	3.0
Grand Totals	1,855	Behavioral Health	1 in 30 miles	769	2.4	1,855	100.0	0	0.0	1.0	1.3
© 2022 Quest Analytics II C											

Behavioral Health - Rural

October 26, 2022

Access Analysis
Behavioral Health- Rural
Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Behavioral Health

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	Behavioral Health	1 in 45 miles	70	2.2	151	100.0	0	0.0	1.1	1.3
Bleckley, GA	27	Behavioral Health	1 in 45 miles	1	27.0	27	100.0	0	0.0	5.0	14.2
Chattahoochee, GA	30	Behavioral Health	1 in 45 miles	0		30	100.0	0	0.0	15.4	15.4
Crawford, GA	52	Behavioral Health	1 in 45 miles	0		52	100.0	0	0.0	11.3	13.3
Crisp, GA	74	Behavioral Health	1 in 45 miles	9	8.2	74	100.0	0	0.0	1.6	1.6
Dodge, GA	58	Behavioral Health	1 in 45 miles	6	9.7	58	100.0	0	0.0	5.5	6.2
Dooly, GA	76	Behavioral Health	1 in 45 miles	3	25.3	76	100.0	0	0.0	0.6	7.5
Harris, GA	109	Behavioral Health	1 in 45 miles	14	7.8	109	100.0	0	0.0	4.3	4.8
Heard, GA	36	Behavioral Health	1 in 45 miles	4	9.0	36	100.0	0	0.0	4.9	4.9
Johnson, GA	36	Behavioral Health	1 in 45 miles	3	12.0	36	100.0	0	0.0	7.5	8.1
Jones, GA	174	Behavioral Health	1 in 45 miles	13	13.4	174	100.0	0	0.0	3.3	3.6
Lamar, GA	108	Behavioral Health	1 in 45 miles	26	4.2	108	100.0	0	0.0	2.3	2.9
Laurens, GA	212	Behavioral Health	1 in 45 miles	33	6.4	212	100.0	0	0.0	2.5	3.2
Macon, GA	44	Behavioral Health	1 in 45 miles	10	4.4	44	100.0	0	0.0	4.0	4.9
Marion, GA	21	Behavioral Health	1 in 45 miles	2	10.5	21	100.0	0	0.0	6.7	6.7
Meriwether, GA	68	Behavioral Health	1 in 45 miles	16	4.3	68	100.0	0	0.0	1.8	2.0
Monroe, GA	105	Behavioral Health	1 in 45 miles	12	8.8	105	100.0	0	0.0	3.0	3.8
Peach, GA	137	Behavioral Health	1 in 45 miles	7		137	100.0	0	0.0	2.6	
Pike, GA	71	Behavioral Health	1 in 45 miles	23	3.1	71	100.0	0	0.0	4.1	4.8
Pulaski, GA	44	Behavioral Health	1 in 45 miles	3	14.7	44	100.0	0	0.0	2.0	2.9
Talbot, GA	8	Behavioral Health	1 in 45 miles	7	1.1	8	100.0	0	0.0	9.9	
Taylor, GA	44	Behavioral Health	1 in 45 miles	2	22.0	44	100.0	0	0.0	3.8	10.2
Telfair, GA	92	Behavioral Health	1 in 45 miles	2	46.0	92	100.0	0	0.0	2.2	6.6
Treutlen, GA	22	Behavioral Health	1 in 45 miles	1	22.0	22	100.0	0	0.0	2.6	18.5
Twiggs, GA	55	Behavioral Health	1 in 45 miles	5		55	100.0	0	0.0	4.4	5.0
Upson, GA	131	Behavioral Health	1 in 45 miles	18	7.3	131	100.0	0	0.0	2.6	
Wheeler, GA	11	Behavioral Health	1 in 45 miles	0		11	100.0	0	0.0	12.9	
Wilcox, GA	25	Behavioral Health	1 in 45 miles	0		25		0	0.0	15.7	16.6
Wilkinson, GA	60	Behavioral Health	1 in 45 miles	4	15.0		100.0	0	0.0	2.1	
Grand Totals	2,081	Behavioral Health	1 in 45 miles	294	7.1	2,081	100.0	0	0.0	3.5	4.9

Behavioral Health Facilities - Urban

October 26, 2022

Access Analysis
Behavioral Health Facilities- Urban
Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Behavioral Health Facilities

			Members With a	nd With	out Access						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Behavioral Health Fac	1 in 30 miles	30	15.3		100.0	0	0.0	1.3	
Houston, GA		Behavioral Health Fac	1 in 30 miles	18		429	100.0	0	0.0	3.4	4.4
Muscogee, GA			1 in 30 miles	74			100.0		0.0		
Troup, GA	208	Behavioral Health Fac	1 in 30 miles	4	52.0	208	100.0	0	0.0	5.4	6.0
Grand Totals	1,855	Behavioral Health Fac	1 in 30 miles	126	14.7	1,855	100.0	0	0.0	2.2	2.9
© 2022 Quest Analytics II C											

Behavioral Health Facilities - Rural

October 26, 2022

Access Analysis
Behavioral Health Facilities- Rural
Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Behavioral Health Facilities

			Members With	and With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	Behavioral Health Fac	1 in 45 miles	9	16.8	151	100.0	0	0.0	3.0	3.6
Bleckley, GA	27	Behavioral Health Fac	1 in 45 miles	0		27	100.0	0	0.0	18.3	23.2
Chattahoochee, GA	30	Behavioral Health Fac	1 in 45 miles	0		30	100.0	0	0.0	20.2	20.4
Crawford, GA	52	Behavioral Health Fac	1 in 45 miles	0		52	100.0	0	0.0	12.3	15.0
Crisp, GA	74	Behavioral Health Fac	1 in 45 miles	0		74	100.0	0	0.0	22.2	30.7
Dodge, GA	58	Behavioral Health Fac	1 in 45 miles	0		58	100.0	0	0.0	22.3	27.9
Dooly, GA	76	Behavioral Health Fac	1 in 45 miles	0		76	100.0	0	0.0	25.3	27.3
Harris, GA	109	Behavioral Health Fac	1 in 45 miles	4	27.3	109	100.0	0	0.0	7.5	9.5
Heard, GA	36	Behavioral Health Fac	1 in 45 miles	1	36.0	36	100.0	0	0.0	5.2	17.6
Johnson, GA	36	Behavioral Health Fac	1 in 45 miles	0		36	100.0	0	0.0	22.2	27.7
Jones, GA	174	Behavioral Health Fac	1 in 45 miles	2	87.0	174	100.0	0	0.0	4.0	5.3
Lamar, GA	108	Behavioral Health Fac	1 in 45 miles	4	27.0	108	100.0	0	0.0	3.4	3.5
Laurens, GA	212	Behavioral Health Fac	1 in 45 miles	1	212.0	212	100.0	0	0.0	8.9	28.8
Macon, GA	44	Behavioral Health Fac	1 in 45 miles	0		44	100.0	0	0.0	18.5	23.0
Marion, GA	21	Behavioral Health Fac	1 in 45 miles	0		21	100.0	0	0.0	25.2	30.6
Meriwether, GA	68	Behavioral Health Fac	1 in 45 miles	2	34.0	68	100.0	0	0.0	10.3	13.8
Monroe, GA	105	Behavioral Health Fac	1 in 45 miles	1	105.0	105	100.0	0	0.0	4.8	12.7
Peach, GA	137	Behavioral Health Fac	1 in 45 miles	1	137.0	137	100.0	0	0.0	8.8	10.5
Pike, GA	71	Behavioral Health Fac	1 in 45 miles	1	71.0	71	100.0	0	0.0	6.7	12.9
Pulaski, GA	44	Behavioral Health Fac	1 in 45 miles	0		44	100.0	0	0.0	25.5	27.4
Talbot, GA	8	Behavioral Health Fac	1 in 45 miles	1	8.0	8	100.0	0	0.0	12.3	17.9
Taylor, GA	44	Behavioral Health Fac	1 in 45 miles	1	44.0	44	100.0	0	0.0	9.9	24.1
Telfair, GA	92	Behavioral Health Fac	1 in 45 miles	1	92.0	92	100.0	0	0.0	2.7	31.2
Treutlen, GA	22	Behavioral Health Fac	1 in 45 miles	0		22	100.0	0	0.0	20.9	29.0
Twiggs, GA	55	Behavioral Health Fac	1 in 45 miles	1	55.0		100.0	0	0.0	6.0	8.5
Upson, GA	131	Behavioral Health Fac	1 in 45 miles	0			100.0	0	0.0	9.6	
Wheeler, GA	11	Behavioral Health Fac	1 in 45 miles	0		11	100.0	0	0.0	17.1	22.0
Wilcox, GA	25	Behavioral Health Fac	1 in 45 miles	0		25	100.0	0	0.0	22.3	27.2
Wilkinson, GA		Behavioral Health Fac	1 in 45 miles	0			100.0	0	0.0	16.0	16.9
Grand Totals	2,081	Behavioral Health Fac	1 in 45 miles	30	69.4	2,081	100.0	0	0.0	10.4	17.0
											l

Community Service Boards - Urban

October 26, 2022

Access Analysis
Community Service Boards- Urban
Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Community Service Boards

			Members With	and With	out Access_						
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	458	Community Service B	1 in 30 miles	10		458	100.0	0	0.0	2.5	
Houston, GA		Community Service B	1 in 30 miles	2	214.5	429	100.0	0			
Muscogee, GA		Community Service B	1 in 30 miles	13			100.0			1.3	
Troup, GA	208	Community Service B	1 in 30 miles	3	69.3	208	100.0	0	0.0	6.0	6.1
Grand Totals	1,855	Community Service B	1 in 30 miles	28	66.3	1,855	100.0	0	0.0	3.2	4.2
© 2022 Quaet Analytics LLC											

Community Service Boards - Rural

October 26, 2022

Access Analysis
Community Service Boards- Rural
Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Community Service Boards

			Members With	and With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA		Community Service B	1 in 45 miles	10	15.1	151	100.0	0	0.0	1.9	2.9
Bleckley, GA	27	Community Service B	1 in 45 miles	0		27	100.0	0	0.0	14.7	17.9
Chattahoochee, GA	30	Community Service B	1 in 45 miles	0		30	100.0	0	0.0	17.7	17.7
Crawford, GA	52	Community Service B	1 in 45 miles	0		52	100.0	0	0.0	14.1	14.8
Crisp, GA	74	Community Service B	1 in 45 miles	0		74	100.0	0	0.0	22.2	22.2
Dodge, GA	58	Community Service B	1 in 45 miles	1	58.0	58	100.0	0	0.0	6.9	21.6
Dooly, GA	76	Community Service B	1 in 45 miles	0		76	100.0	0	0.0	29.2	30.0
Harris, GA	109	Community Service B	1 in 45 miles	3	36.3	109	100.0	0	0.0	9.3	9.5
Heard, GA	36	Community Service B	1 in 45 miles	1	36.0	36	100.0	0	0.0	5.2	18.3
Johnson, GA	36	Community Service B	1 in 45 miles	0		36	100.0	0	0.0	17.5	19.3
Jones, GA	174	Community Service B	1 in 45 miles	0		174	100.0	0	0.0	8.8	11.0
Lamar, GA	108	Community Service B	1 in 45 miles	9	12.0	108	100.0	0	0.0	2.3	3.3
Laurens, GA	212	Community Service B	1 in 45 miles	2	106.0	212	100.0	0	0.0	5.1	5.1
Macon, GA	44	Community Service B	1 in 45 miles	0		44	100.0	0	0.0	24.4	33.3
Marion, GA		Community Service B	1 in 45 miles	0		21	100.0	0	0.0	25.2	25.2
Meriwether, GA	68	Community Service B	1 in 45 miles	1	68.0	68	100.0	0	0.0	3.7	13.8
Monroe, GA	105	Community Service B	1 in 45 miles	2	52.5	105	100.0	0	0.0	5.3	5.4
Peach, GA	137	Community Service B	1 in 45 miles	2	68.5	137	100.0	0	0.0	3.0	11.5
Pike, GA	71	Community Service B	1 in 45 miles	0		71	100.0	0	0.0	10.0	11.8
Pulaski, GA	44	Community Service B	1 in 45 miles	1	44.0	44	100.0	0	0.0	2.5	21.1
Talbot, GA	8	Community Service B	1 in 45 miles	5	1.6	8	100.0	0	0.0	12.0	12.4
Taylor, GA	44	Community Service B	1 in 45 miles	0		44	100.0	0	0.0	20.3	23.7
Telfair, GA		Community Service B	1 in 45 miles	0		92	100.0	0	0.0	23.8	32.9
Treutlen, GA	22	Community Service B	1 in 45 miles	1	22.0	22	100.0	0	0.0	2.6	27.5
Twiggs, GA		Community Service B	1 in 45 miles	2	27.5		100.0	0	0.0	5.0	6.1
Upson, GA		Community Service B	1 in 45 miles	1	131.0		100.0	0	0.0	3.9	18.3
Wheeler, GA		Community Service B	1 in 45 miles	0			100.0	0	0.0	18.5	29.0
Wilcox, GA		Community Service B	1 in 45 miles	0		25		0	0.0	20.5	21.9
Wilkinson, GA		Community Service B	1 in 45 miles	0			100.0	0	0.0	14.2	16.3
Grand Totals	2,081	Community Service B	1 in 45 miles	41	50.8	2,081	100.0	0	0.0	9.7	14.1

Psychiatric Residential Treatment Facilities - Urban

October 26, 2022

Access Analysis
Psychiatric Residential Treatment
Facilities(PRTFs)-Urban

Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Psychiatric Residential Treatment
Facilities(PRTFs)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average I	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Psychiatric Residentia	1 in 30 miles	0		0	0.0	458	100.0	82.0	83.2
Houston, GA		Psychiatric Residentia	1 in 30 miles	0		0	0.0	429	100.0	96.5	97.6
Muscogee, GA		Psychiatric Residentia	1 in 30 miles	0		0	0.0		100.0	88.5	98.6
Troup, GA	208	Psychiatric Residentia	1 in 30 miles	0		0	0.0	208	100.0	49.6	71.7
Grand Totals	1,855	Psychiatric Residentia	1 in 30 miles	0	-	0	0.0	1,855	100.0	84.4	91.6

Psychiatric Residential Treatment Facilities - Rural

October 26, 2022

Access Analysis
Psychiatric Residential Treatment
Facilities(PRTFs)- Rural

Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Psychiatric Residential Treatment
Facilities(PRTFs)

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	Psychiatric Residentia	1 in 45 miles	0		0	0.0	151	100.0	76.3	76.3
Bleckley, GA	27	Psychiatric Residentia	1 in 45 miles	0		0	0.0	27	100.0	111.4	111.5
Chattahoochee, GA	30	Psychiatric Residentia	1 in 45 miles	0		0	0.0	30	100.0	101.4	106.7
Crawford, GA	52	Psychiatric Residentia	1 in 45 miles	0		0	0.0	52	100.0	78.4	79.5
Crisp, GA	74	Psychiatric Residentia	1 in 45 miles	0		0	0.0	74	100.0	132.8	133.8
Dodge, GA	58	Psychiatric Residentia	1 in 45 miles	0		0	0.0	58	100.0	115.3	116.4
Dooly, GA	76	Psychiatric Residentia	1 in 45 miles	0		0	0.0	76	100.0	123.6	124.6
Harris, GA	109	Psychiatric Residentia	1 in 45 miles	0		0	0.0	109	100.0	71.0	84.1
Heard, GA	36	Psychiatric Residentia	1 in 45 miles	0		32	88.9	4	11.1	38.3	64.0
Johnson, GA	36	Psychiatric Residentia	1 in 45 miles	0		0	0.0	36	100.0	73.6	73.6
Jones, GA	174	Psychiatric Residentia	1 in 45 miles	0		0	0.0	174	100.0	82.3	83.6
Lamar, GA	108	Psychiatric Residentia	1 in 45 miles	0		1	0.9	107	99.1	51.8	52.9
Laurens, GA	212	Psychiatric Residentia	1 in 45 miles	0		0	0.0	212	100.0	88.8	88.8
Macon, GA	44	Psychiatric Residentia	1 in 45 miles	0		0	0.0	44	100.0	105.2	106.0
Marion, GA	21	Psychiatric Residentia	1 in 45 miles	0		0	0.0	21	100.0	103.8	104.3
Meriwether, GA	68	Psychiatric Residentia	1 in 45 miles	0		2	2.9	66	97.1	53.9	59.9
Monroe, GA	105	Psychiatric Residentia	1 in 45 miles	0		0	0.0	105	100.0	61.9	63.2
Peach, GA	137	Psychiatric Residentia	1 in 45 miles	0		0	0.0	137	100.0	89.7	90.8
Pike, GA	71	Psychiatric Residentia	1 in 45 miles	0		14	19.7	57	80.3	48.9	49.5
Pulaski, GA	44	Psychiatric Residentia	1 in 45 miles	0		0	0.0	44	100.0	117.3	118.4
Talbot, GA	8	Psychiatric Residentia	1 in 45 miles	0		0	0.0	8	100.0	84.3	85.6
Taylor, GA	44	Psychiatric Residentia	1 in 45 miles	0		0	0.0	44	100.0	86.8	87.5
Telfair, GA	92	Psychiatric Residentia	1 in 45 miles	0		0	0.0	92	100.0	107.2	112.0
Treutlen, GA	22	Psychiatric Residentia	1 in 45 miles	0		0	0.0	22	100.0	85.9	85.9
Twiggs, GA	55	Psychiatric Residentia	1 in 45 miles	0		0	0.0	55	100.0	90.6	91.6
Upson, GA	131	Psychiatric Residentia	1 in 45 miles	0		0	0.0	131	100.0	61.3	62.1
Wheeler, GA	11	Psychiatric Residentia	1 in 45 miles	0		0	0.0	11	100.0	96.2	98.8
Wilcox, GA	25	Psychiatric Residentia	1 in 45 miles	0		0	0.0	25	100.0	131.4	131.9
Wilkinson, GA	60	Psychiatric Residentia	1 in 45 miles	0		0	0.0	60	100.0	86.0	86.0
Grand Totals	2,081	Psychiatric Residentia	1 in 45 miles	0		49	2.4	2,032	97.6	84.0	86.2
	L										

Psychologists - Urban

October 26, 2022

Access Analysis
Psychologists- Urban
Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Psychologists

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	458	Psychologists	1 in 30 miles	19	24.1	458	100.0	0	0.0	2.2	2.7
Houston, GA		Psychologists	1 in 30 miles	5		429	100.0	0	0.0		
Muscogee, GA		Psychologists	1 in 30 miles	18		760	100.0	0			
Troup, GA	208	Psychologists	1 in 30 miles	2	104.0	208	100.0	0	0.0	3.6	5.9
Grand Totals	1,855	Psychologists	1 in 30 miles	44	42.2	1,855	100.0	0	0.0	2.7	3.6
2022 Quest Analytics III C											

Psychologists - Rural

October 26, 2022

Access Analysis
Psychologists- Rural

Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Psychologists

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	Psychologists	1 in 45 miles	2	75.5	151	100.0	0	0.0	3.0	3.0
Bleckley, GA	27	Psychologists	1 in 45 miles	0		27	100.0	0	0.0	25.9	25.9
Chattahoochee, GA	30	Psychologists	1 in 45 miles	0		30	100.0	0	0.0	20.8	21.3
Crawford, GA	52	Psychologists	1 in 45 miles	0		52	100.0	0	0.0	14.8	20.5
Crisp, GA	74	Psychologists	1 in 45 miles	0		74	100.0	0	0.0	29.3	29.5
Dodge, GA	58	Psychologists	1 in 45 miles	0		17	29.3	41	70.7	46.2	49.8
Dooly, GA	76	Psychologists	1 in 45 miles	0		76	100.0	0	0.0	24.8	24.8
Harris, GA	109	Psychologists	1 in 45 miles	1	109.0	109	100.0	0	0.0	14.9	16.7
Heard, GA	36	Psychologists	1 in 45 miles	0		36	100.0	0	0.0	16.9	18.8
Johnson, GA	36	Psychologists	1 in 45 miles	0		18	50.0	18	50.0	45.4	51.3
Jones, GA	174	Psychologists	1 in 45 miles	0		174	100.0	0	0.0	12.0	12.3
Lamar, GA	108	Psychologists	1 in 45 miles	0		108	100.0	0	0.0	12.7	12.9
Laurens, GA	212	Psychologists	1 in 45 miles	0		159	75.0	53	25.0	42.8	43.1
Macon, GA	44	Psychologists	1 in 45 miles	0		44	100.0	0	0.0	21.9	22.1
Marion, GA	21	Psychologists	1 in 45 miles	0		21	100.0	0	0.0	29.5	29.7
Meriwether, GA	68	Psychologists	1 in 45 miles	0		68	100.0	0	0.0	20.5	21.9
Monroe, GA		Psychologists	1 in 45 miles	0			100.0	0	0.0	18.1	18.7
Peach, GA		Psychologists	1 in 45 miles	0		137	100.0	0	0.0	12.5	14.1
Pike, GA		Psychologists	1 in 45 miles	2	35.5	71	100.0	0	0.0	6.4	6.5
Pulaski, GA	44	Psychologists	1 in 45 miles	0		44	100.0	0	0.0	27.1	27.1
Talbot, GA	8	Psychologists	1 in 45 miles	0		8	100.0	0	0.0	23.8	24.4
Taylor, GA	44	Psychologists	1 in 45 miles	0		44	100.0	0	0.0	31.6	32.3
Telfair, GA	92	Psychologists	1 in 45 miles	0		0	0.0	92	100.0	59.0	63.5
Treutlen, GA	22	Psychologists	1 in 45 miles	0		22	100.0	0	0.0	32.6	49.5
Twiggs, GA	55	Psychologists	1 in 45 miles	0		55	100.0	0	0.0	9.3	10.2
Upson, GA		Psychologists	1 in 45 miles	0		131	100.0	0	0.0	14.8	14.9
Wheeler, GA		Psychologists	1 in 45 miles	0		6	54.5	5	45.5	45.2	59.9
Wilcox, GA		Psychologists	1 in 45 miles	0		25	100.0	0	0.0	37.2	48.3
Wilkinson, GA		Psychologists	1 in 45 miles	0		60	100.0	0	0.0	20.9	
Grand Totals	2,081	Psychologists	1 in 45 miles	5	416.2	1,872	90.0	209	10.0	22.5	23.9

Psychiatrists - Urban

October 26, 2022

Access Analysis
Psychiatry- Urban
Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Psychiatry

			Members With	and With	out Access						
	Member		Provider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	458	Psychiatry	1 in 30 miles	52	8.8	458	100.0	0	0.0	1.3	2.3
Houston, GA		Psychiatry	1 in 30 miles	21		429	100.0	0	0.0		
Muscogee, GA		Psychiatry	1 in 30 miles	38		760	100.0	0			
Troup, GA	208	Psychiatry	1 in 30 miles	16	13.0	208	100.0	0	0.0	3.7	4.1
Grand Totals	1,855	Psychiatry	1 in 30 miles	127	14.6	1,855	100.0	0	0.0	2.4	3.0
© 2022 Quest Analytics, LLC.	L										

Psychiatrists - Rural

October 26, 2022

Access Analysis
Psychiatry- Rural

Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Psychiatry

	Members With and Without Access											
	Member Provider			Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	151	Psychiatry	1 in 45 miles	18	8.4	151	100.0	0	0.0	2.2	3.1	
Bleckley, GA	27	Psychiatry	1 in 45 miles	0		27	100.0	0	0.0	24.6	27.4	
Chattahoochee, GA	30	Psychiatry	1 in 45 miles	0		30	100.0	0	0.0	16.0	22.1	
Crawford, GA	52	Psychiatry	1 in 45 miles	0			100.0	0	0.0	16.0	17.4	
Crisp, GA	74	Psychiatry	1 in 45 miles	0		74	100.0	0	0.0	30.2	33.8	
Dodge, GA	58	Psychiatry	1 in 45 miles	0		58	100.0	0	0.0	31.0	34.5	
Dooly, GA	76	Psychiatry	1 in 45 miles	0		76	100.0	0	0.0	25.6	26.3	
Harris, GA	109	Psychiatry	1 in 45 miles	0		109	100.0	0	0.0	13.2	15.8	
Heard, GA	36	Psychiatry	1 in 45 miles	0		36	100.0	0	0.0	17.2	17.4	
Johnson, GA	36	Psychiatry	1 in 45 miles	0		36	100.0	0	0.0	17.8	22.8	
Jones, GA	174	Psychiatry	1 in 45 miles	1	174.0	174	100.0	0	0.0	4.6	12.0	
Lamar, GA	108	Psychiatry	1 in 45 miles	0		108	100.0	0	0.0	15.5	16.1	
Laurens, GA	212	Psychiatry	1 in 45 miles	1	212.0	212	100.0	0	0.0	4.4	32.9	
Macon, GA	44	Psychiatry	1 in 45 miles	7	6.3	44	100.0	0	0.0	5.1	5.2	
Marion, GA		Psychiatry	1 in 45 miles	1	21.0	21	100.0	0	0.0	6.8	26.6	
Meriwether, GA	68	Psychiatry	1 in 45 miles	0		68	100.0	0	0.0	18.2	18.7	
Monroe, GA	105	Psychiatry	1 in 45 miles	0		105	100.0	0	0.0	16.4	16.4	
Peach, GA	137	Psychiatry	1 in 45 miles	0		137	100.0	0	0.0	10.8	11.5	
Pike, GA	71	Psychiatry	1 in 45 miles	0		71	100.0	0	0.0	11.8	12.4	
Pulaski, GA	44	Psychiatry	1 in 45 miles	0		44	100.0	0	0.0	25.9	28.5	
Talbot, GA		Psychiatry	1 in 45 miles	0		8	100.0	0	0.0	15.2	20.1	
Taylor, GA	44	Psychiatry	1 in 45 miles	1	44.0	44	100.0	0	0.0	4.9	23.0	
Telfair, GA	92	Psychiatry	1 in 45 miles	0		92	100.0	0	0.0	27.7	27.8	
Treutlen, GA		Psychiatry	1 in 45 miles	0		22	100.0	0	0.0	21.1	26.3	
Twiggs, GA	55	Psychiatry	1 in 45 miles	0		55	100.0	0	0.0	8.7	9.2	
Upson, GA	131	Psychiatry	1 in 45 miles	3	43.7	131	100.0	0	0.0	3.8	3.8	
Wheeler, GA	11	Psychiatry	1 in 45 miles	0		11	100.0	0	0.0	19.7	25.1	
Wilcox, GA	25	Psychiatry	1 in 45 miles	0		25	100.0	0	0.0	23.7	29.3	
Wilkinson, GA		Psychiatry	1 in 45 miles	0		60	100.0	0	0.0	17.0	19.0	
Grand Totals	2,081	Psychiatry	1 in 45 miles	32	65.0	2,081	100.0	0	0.0	13.1	18.4	

Autism Spectrum Disorder Treatment Provider - Urban

October 26, 2022

Access Analysis

Autism Spectrum Disorder(ASD) Treatment Provider- Urban

Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Autism Spectrum Disorder(ASD)
Treatment Provider

Members With and Without Access											
	Member	ember Provider Counts Ratio Members With Access Without		Without Ac	Without Access Average		Distance				
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	458	Autism Spectrum Diso	1 in 30 miles	32	14.3	458	100.0	0	0.0	2.7	2.9
Houston, GA		Autism Spectrum Diso	1 in 30 miles	32	13.4	429	100.0	0	0.0	4.6	
Muscogee, GA		Autism Spectrum Diso	1 in 30 miles	137	5.5		100.0				
Troup, GA	208	Autism Spectrum Diso	1 in 30 miles	2	104.0	208	100.0	0	0.0	3.8	6.0
Grand Totals	1 855	Autism Spectrum Diso	1 in 30 miles	203	9.1	1 855	100.0	0	0.0	2.9	3.2
Grana Totalo	1,000	Addisin opcodram bloom.	T III OO TIIIIOO	200	0.1	1,000	100.0	Ů	0.0	2.0	0.2
© 2022 Quest Analytics, LLC.											

Autism Spectrum Disorder Treatment Provider -Rural

October 26, 2022

Access Analysis

Autism Spectrum Disorder(ASD)

Treatment Provider- Rural

Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Autism Spectrum Disorder(ASD)
Treatment Provider

			Members With a	nd With	out Access						
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	Autism Spectrum Diso	1 in 45 miles	15	10.1	151	100.0	0	0.0	3.1	3.1
Bleckley, GA	27	Autism Spectrum Diso	1 in 45 miles	0		27	100.0	0	0.0	23.4	23.6
Chattahoochee, GA	30	Autism Spectrum Diso	1 in 45 miles	0		30	100.0	0	0.0	20.4	20.4
Crawford, GA	52	Autism Spectrum Diso	1 in 45 miles	0		52	100.0	0	0.0	20.8	20.8
Crisp, GA	74	Autism Spectrum Diso	1 in 45 miles	0		74	100.0	0	0.0	36.7	36.7
Dodge, GA	58	Autism Spectrum Diso	1 in 45 miles	0		58	100.0	0	0.0	26.5	26.5
Dooly, GA	76	Autism Spectrum Diso	1 in 45 miles	0		76	100.0	0	0.0	37.8	37.8
Harris, GA	109	Autism Spectrum Diso	1 in 45 miles	4	27.3	109	100.0	0	0.0	9.7	10.3
Heard, GA	36	Autism Spectrum Diso	1 in 45 miles	0		36	100.0	0	0.0	18.5	19.0
Johnson, GA	36	Autism Spectrum Diso	1 in 45 miles	0		36	100.0	0	0.0	26.5	26.5
Jones, GA	174	Autism Spectrum Diso	1 in 45 miles	0		174	100.0	0	0.0	12.1	12.2
Lamar, GA	108	Autism Spectrum Diso	1 in 45 miles	0		108	100.0	0	0.0	25.2	25.4
Laurens, GA	212	Autism Spectrum Diso	1 in 45 miles	2	106.0	212	100.0	0	0.0	9.0	9.0
Macon, GA	44	Autism Spectrum Diso	1 in 45 miles	0		44	100.0	0	0.0	37.9	37.9
Marion, GA	21	Autism Spectrum Diso	1 in 45 miles	0		21	100.0	0	0.0	32.9	32.9
Meriwether, GA	68	Autism Spectrum Diso	1 in 45 miles	0		68	100.0	0	0.0	19.3	20.7
Monroe, GA	105	Autism Spectrum Diso	1 in 45 miles	0		105	100.0	0	0.0	18.0	18.0
Peach, GA	137	Autism Spectrum Diso	1 in 45 miles	0		137	100.0	0	0.0	12.2	12.2
Pike, GA	71	Autism Spectrum Diso	1 in 45 miles	0		71	100.0	0	0.0	26.3	27.2
Pulaski, GA	44	Autism Spectrum Diso	1 in 45 miles	0		44	100.0	0	0.0	26.9	27.6
Talbot, GA	8	Autism Spectrum Diso	1 in 45 miles	0		8	100.0	0	0.0	20.9	20.9
Taylor, GA	44	Autism Spectrum Diso	1 in 45 miles	0		44	100.0	0	0.0	32.1	32.1
Telfair, GA	92	Autism Spectrum Diso	1 in 45 miles	0		92	100.0	0	0.0	27.5	27.5
Treutlen, GA	22	Autism Spectrum Diso	1 in 45 miles	0		22	100.0	0	0.0	20.7	20.7
Twiggs, GA	55	Autism Spectrum Diso	1 in 45 miles	0		55	100.0	0	0.0	9.4	9.4
Upson, GA	131	Autism Spectrum Diso	1 in 45 miles	0		131	100.0	0	0.0	34.9	35.2
Wheeler, GA	11	Autism Spectrum Diso	1 in 45 miles	0		11	100.0	0	0.0	19.3	19.3
Wilcox, GA	25	Autism Spectrum Diso	1 in 45 miles	0		25	100.0	0	0.0	23.5	23.5
Wilkinson, GA	60	Autism Spectrum Diso	1 in 45 miles	0		60	100.0	0	0.0	18.3	18.3
Grand Totals	2,081	Autism Spectrum Diso	1 in 45 miles	21	99.1	2,081	100.0	0	0.0	19.8	20.0
© 2022 Quest Analytics III C											

Narcotic Treatment Program- Urban

October 26, 2022

Access Analysis
Narcotic Treatment Program- Urban
Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Narcotic Treatment Program

Members With and Without Access											
	Member	Pr	ovider	Counts	Ratio Members	With Acc	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA	458	Narcotic Treatment Pr	1 in 30 miles	3	152.7	458	100.0		0.0	4.2	5.6
Houston, GA	429	Narcotic Treatment Pr	1 in 30 miles	0		414			3.5		
Muscogee, GA			1 in 30 miles	1	760.0	760	100.0				
Troup, GA	208	Narcotic Treatment Pr	1 in 30 miles	0		1	0.5	207	99.5	37.6	51.6
Grand Totals	1,855	Narcotic Treatment Pr	1 in 30 miles	4	463.8	1,633	88.0	222	12.0	12.3	43.4
© 2022 Quest Analytics LLC											

Narcotic Treatment Program - Rural

October 26, 2022

Access Analysis
Narcotic Treatment Program- Rural
Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Narcotic Treatment Program

Members With and Without Access											
	Member	Pro	ovider	Counts	Ratio Members	With Ac	cess	Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Baldwin, GA	151	Narcotic Treatment Pr	1 in 45 miles	0		151	100.0	0	0.0	34.3	35.5
Bleckley, GA	27	Narcotic Treatment Pr	1 in 45 miles	0		26	96.3	1	3.7	40.3	
Chattahoochee, GA	30	Narcotic Treatment Pr	1 in 45 miles	0		30	100.0	0	0.0	24.0	79.8
Crawford, GA	52	Narcotic Treatment Pr	1 in 45 miles	0		52	100.0	0	0.0	19.6	
Crisp, GA	74	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	74	100.0	64.9	65.1
Dodge, GA	58	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	58	100.0	62.1	64.8
Dooly, GA	76	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	76	100.0	55.8	55.8
Harris, GA	109	Narcotic Treatment Pr	1 in 45 miles	0		109	100.0	0	0.0	20.9	62.5
Heard, GA	36	Narcotic Treatment Pr	1 in 45 miles	0		25	69.4	11	30.6	43.0	51.9
Johnson, GA	36	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	36	100.0	58.7	61.9
Jones, GA	174	Narcotic Treatment Pr	1 in 45 miles	0		174	100.0	0	0.0	12.0	13.7
Lamar, GA	108	Narcotic Treatment Pr	1 in 45 miles	0		108	100.0	0	0.0	15.2	34.7
Laurens, GA	212	Narcotic Treatment Pr	1 in 45 miles	0		6	2.8	206	97.2	53.3	55.9
Macon, GA	44	Narcotic Treatment Pr	1 in 45 miles	0		6	13.6	38	86.4	49.9	50.7
Marion, GA	21	Narcotic Treatment Pr	1 in 45 miles	0		21	100.0	0	0.0	36.4	67.2
Meriwether, GA	68	Narcotic Treatment Pr	1 in 45 miles	0		68	100.0	0	0.0	35.7	42.5
Monroe, GA	105	Narcotic Treatment Pr	1 in 45 miles	1	105.0	105	100.0	0	0.0	5.5	23.6
Peach, GA	137	Narcotic Treatment Pr	1 in 45 miles	0		137	100.0	0	0.0	25.6	26.7
Pike, GA	71	Narcotic Treatment Pr	1 in 45 miles	0		71	100.0	0	0.0	24.1	31.0
Pulaski, GA	44	Narcotic Treatment Pr	1 in 45 miles	0		40	90.9	4	9.1	42.9	45.1
Talbot, GA	8	Narcotic Treatment Pr	1 in 45 miles	0		8	100.0	0	0.0	26.2	56.8
Taylor, GA	44	Narcotic Treatment Pr	1 in 45 miles	0		44	100.0	0	0.0	38.7	44.6
Telfair, GA	92	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	92	100.0	78.9	81.8
Treutlen, GA	22	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	22	100.0	74.5	76.9
Twiggs, GA	55	Narcotic Treatment Pr	1 in 45 miles	0		55	100.0	0	0.0	12.3	15.5
Upson, GA	131	Narcotic Treatment Pr	1 in 45 miles	0		131	100.0	0	0.0	26.6	37.2
Wheeler, GA	11	Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	11	100.0	79.1	81.4
Wilcox, GA		Narcotic Treatment Pr	1 in 45 miles	0		0	0.0	25	100.0	65.6	67.5
Wilkinson, GA	60	Narcotic Treatment Pr	1 in 45 miles	0		60	100.0	0	0.0	24.7	27.4
Grand Totals	2,081	Narcotic Treatment Pr	1 in 45 miles	1	2,081.0	1,427	68.6	654	31.4	35.4	43.4
L											

Licensed Counselors and Social Workers - Urban

October 26, 2022

Access Analysis
Licensed Counsler and Social
Workers- Urban

Member / Provider Groups
Urban Members (CENTRAL_URBAN)
Licensed Counsler and Social
Workers

Members With and Without Access											
	Member Provide		ovider	Counts	Ratio Members	With Access		Without Ac	cess	Average	Distance
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2
Bibb, GA		Licensed Counsler an	1 in 30 miles	24	19.1		100.0	0		1.7	2.2
Houston, GA		Licensed Counsler an	1 in 30 miles	13		429	100.0	0			4.9
Muscogee, GA		Licensed Counsler an	1 in 30 miles	17	44.7	760	100.0	0			2.7
Troup, GA	208	Licensed Counsler an	1 in 30 miles	1	208.0	208	100.0	0	0.0	4.1	26.2
Grand Totals	1,855	Licensed Counsler an	1 in 30 miles	55	33.7	1,855	100.0	0	0.0	2.9	5.7

Licensed Counselors and Social Workers -Rural

October 26, 2022

Access Analysis
Licensed Counsler and Social
Workers- Rural

Member / Provider Groups
Rural Members (CENTRAL_RURAL)
Licensed Counsler and Social
Workers

	Members With and Without Access											
	Member	ember Provider		Counts	Ratio Members	With Access		Without Ac	cess	Average	Distance	
County	#	Group	Standard	#	to Providers	#	%	#	%	1	2	
Baldwin, GA	151	Licensed Counsler an	1 in 45 miles	2	75.5	151	100.0	0	0.0	2.4	3.9	
Bleckley, GA	27	Licensed Counsler an	1 in 45 miles	0		27	100.0	0	0.0	25.9	27.1	
Chattahoochee, GA	30	Licensed Counsler an	1 in 45 miles	0		30	100.0	0	0.0	16.8	16.8	
Crawford, GA	52	Licensed Counsler an	1 in 45 miles	0		52	100.0	0	0.0	13.2	17.7	
Crisp, GA	74	Licensed Counsler an	1 in 45 miles	6	12.3	74	100.0	0	0.0	1.6	1.8	
Dodge, GA	58	Licensed Counsler an	1 in 45 miles	0		58	100.0	0	0.0	30.2	32.0	
Dooly, GA	76	Licensed Counsler an	1 in 45 miles	2	38.0	76	100.0	0	0.0	0.6	8.2	
Harris, GA	109	Licensed Counsler an	1 in 45 miles	1	109.0	109	100.0	0	0.0	12.5	15.2	
Heard, GA	36	Licensed Counsler an	1 in 45 miles	0		36	100.0	0	0.0	17.9	21.7	
Johnson, GA	36	Licensed Counsler an	1 in 45 miles	1	36.0	36	100.0	0	0.0	8.2	17.1	
Jones, GA	174	Licensed Counsler an	1 in 45 miles	4	43.5	174	100.0	0	0.0	4.1	4.9	
Lamar, GA	108	Licensed Counsler an	1 in 45 miles	0		108	100.0	0	0.0	12.7	12.7	
Laurens, GA	212	Licensed Counsler an	1 in 45 miles	5	42.4	212	100.0	0	0.0	3.6	4.3	
Macon, GA	44	Licensed Counsler an	1 in 45 miles	1	44.0	44	100.0	0	0.0	5.7	19.3	
Marion, GA	21	Licensed Counsler an	1 in 45 miles	0		21	100.0	0	0.0	24.2	25.3	
Meriwether, GA	68	Licensed Counsler an	1 in 45 miles	1	68.0	68	100.0	0	0.0	10.4	17.7	
Monroe, GA	105	Licensed Counsler an	1 in 45 miles	0		105	100.0	0	0.0	16.1	16.2	
Peach, GA	137	Licensed Counsler an	1 in 45 miles	0		137	100.0	0	0.0	11.6	12.0	
Pike, GA	71	Licensed Counsler an	1 in 45 miles	4	17.8	71	100.0	0	0.0	6.3	6.4	
Pulaski, GA	44	Licensed Counsler an	1 in 45 miles	0		44	100.0	0	0.0	24.4	28.3	
Talbot, GA	8	Licensed Counsler an	1 in 45 miles	1	8.0	8	100.0	0	0.0	11.9	19.7	
Taylor, GA	44	Licensed Counsler an	1 in 45 miles	0		44	100.0	0	0.0	21.3	25.9	
Telfair, GA	92	Licensed Counsler an	1 in 45 miles	0		92	100.0	0	0.0	28.8	33.4	
Treutlen, GA	22	Licensed Counsler an	1 in 45 miles	0		22	100.0	0	0.0	21.7	26.6	
Twiggs, GA	55	Licensed Counsler an	1 in 45 miles	0		55	100.0	0	0.0	9.1	9.9	
Upson, GA	131	Licensed Counsler an	1 in 45 miles	0				0	0.0	14.7	14.9	
Wheeler, GA	11	Licensed Counsler an	1 in 45 miles	0		11	100.0	0	0.0	25.8	30.2	
Wilcox, GA	25	Licensed Counsler an	1 in 45 miles	0		25	100.0	0	0.0	21.7	22.4	
Wilkinson, GA	60	Licensed Counsler an	1 in 45 miles	2	30.0	60	100.0	0	0.0	2.3	13.1	
Grand Totals	2,081	Licensed Counsler an	1 in 45 miles	30	69.4	2,081	100.0	0	0.0	11.1	13.6	
© 2022 Ouget Analytics LLC	L											